
Total No. of Questions—5] [Total No. of Printed Pages—7

Seat
No. [4201]-301

T.Y. B.A. EXAMINATION, 2012

COMPULSORY ENGLISH

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Text Book :—Reflections III

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in about 80 words each (any

two) : [16]

(i) How does Schatz’s father handle the conflict in the boy’s

mind ?

(ii) ‘‘What you wear in this world can make you or break you

in many situations.’’ Do you agree with this view ? Give

reasons.

(iii) Trace the journey from ‘‘guru’’ to ‘‘father’’ in the relationship

between Pandit Ravi Shankar and George Harrison.

2. Answer the following questions in about 80 words each (any

two) : [16]

(i) Who do you sympathise with the husband or the wife in the

story Unicorn in the Garden ? Why ?

P.T.O.
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(ii) What is the purpose of the speaker’s journey in the poem,

Meeting At Night ?

(iii) How is bio-diversity important in the everyday lives of

people ? Answer with reference to the lesson The Many and

the None.

3. Attempt any two of the following in about 100 words each : [16]

(i) Write a paragraph describing the various activities of N.S.S.

in your college during the last academic year.

(ii) Write a letter to the Principal of your college requesting him/

her to arrange for clean drinking water, dirt free toilet and

soundproof reading hall facilities.

(iii) Write an essay on any one of the following :

(a) The Image of India in London 2012 Olympics.

(b) English as a Global Language.

4. Attempt any eight of the following : [16]

(i) Form one word each using the following affixes (any two) :

(a) dis..........

(b) ..........ly

(c) anti..........

(d) ..........ful
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(ii) Make adjective forms of the following (any two) :

(a) beauty

(b) construct

(c) art

(iii) Find out the odd word in the following (any two) :

(a) look, see, fly, gaze

(b) butterfly, football, cricket, hockey

(c) syllables, vowels, stress, noun.

(iv) Give synonyms of the following words (any two) :

(a) sorrow

(b) quarrel

(c) clock

(v) Say whether the following are instances of British English or

American English :

(a) baggage

(b) pavement

(c) movie

(d) torch.

(vi) Fill in the blanks with appropriate phrasal verbs given in the

brackets :

(a) I was told that you were ............... Germany. (leaving

for, leaving in)

(b) We are in the final year of our course and we need

to ............. a lot of hard work. (put in, put up)



[4201]-301 4

(vii) Write down the right combinations of the collocations of the

following alternative :

(a) Commit a crime/do a crime

(b) Golden opportunity/silver opportunity

(viii) Fill in the blanks choosing the correct alternative given in

the brackets :

(a) The novel ‘Train to Pakistan’ is a ........... novel.

(historic/historical)

(b) The .................. situation of India is far better than

before. (economical, economic)

(ix) Give the full forms of the following :

(a) BBC

(b) RBI

(x) Complete the following sentences choosing an appropriate

alternative :

(a) .............. is the study of human social life, groups and

societies.

(Psychology, Sociology)

(b) A .............. person is able to speak many languages equally

well.

(bilingual, multilingual)
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5. Attempt any eight of the following : [16]

(i) Punctuate and rewrite the following sentence :

i will stay with you one night longer said the swallow

but i cannot pluck out your eye

(ii) Use the verbs in the brackets in the correct tense

forms :

(a) Sunil ................. in this college for the last five years.

(teach)

(b) When the door bell rang, Mr. Patil ................ a news-

paper. (read)

(iii) Make your own sentences using the following phrases :

(a) instead of

(b) apart from

(iv) Change the following into passive voice :

(a) Virat was playing cricket very well.

(b) Shut down the computer.

(v) Change the following sentences into impersonal, formal public

notice :

(a) You are not allowed to spit here.

(b) You are not allowed to use cell phones in the

class.
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(vi) Fill in the blanks with appropriate articles :

(a) The monkey was eating ............ apple.

(b) Dr. Shaikh is ............... university professor.

(vii) Complete the following sentences with ‘will’ or ‘going to’

appropriately :

(a) If you (write) to Kapil, I (give) you his address.

(b) The Vice President (meet) the clients for lunch at 1 p.m.

He wants to know if you would like to join him.

(viii) Underline the subordinate clause in the sentences given

below :

(a) If you do not obey the traffic rules, you will be

fined.

(b) A friend greeted her while she was going to

college.

(ix) Fill in the gap with appropriate discourse marker given in

the brackets :

Linda : Willy ! Why did you come back early ?

Willy : I came back early because I am tired to the death.

I couldn’t drive my car but now I am .............. (then,

all right, so).
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(x) Match the words given in the column ‘A’ with their meanings

given in the column ‘B’ :

   Column ‘A’              Column ‘B’

(a) look for (i) point out

(b) look at (ii) search

(c) look after (iii) despise

(d) look down up on (iv) take care
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Seat

No. [4201]-302

T.Y. B.A. EXAMINATION, 2012

MARATHI (ejkBh)

lkekU;Lrj vH;klif=dk ÿ-&3 (G-3)

(vk/kqfud ejkBh lkfgR; vkf.k mi;ksftr ejkBh)

(2008 PATTERN)

vH;klÿe :— (i) xzaFk ijh{k.k

(ii) izkFkZusph ?kaVk («f«r «s[klaxzg)&vðkksd dksrok«-

(iii) fpuh ekrhrh« fnol (izoklo.kZu)µy{e.k xk;dokM-

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mRrj f«gk % [16]

(v) xazFk ijh{k.kkps egŸo lksnkgj.k Li"V djk-

fdaok

xzaFk ijh{k.k djrkuk dks.kdks.kR;k ?kVdkapk fopkj djkok «kxrks rs

f«gk-

(c) rqEgh okp«sY;k dks.kR;kgh ,dk lkfgR;œrhps ijh{k.k djk-

P.T.O.
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2. [kk«h«iSdh izR;sd xVkrh« rhu izðukaph mRrjs ohl ðkCnkai;±r f«gk % [12]

(v) (1) ^«f«r* ;k ðkCnkpk vFkZ lkaxk-

(2) ^«f«r x|* ;k ok≥~e;izdkjkr dks.kdks.kR;k «s[kuizdkjkpk lekosðk

gksrks \

(3) ejkBhrh« dks.kR;kgh pkj «f«r «s[kdkaph ukos f«gk-

(4) «f«r x|ke/;s dks.kkP;k vkfo"dkjk«k foðks"k izk/kkU; vlrs \

(5) «f«r x|kps rhu xq.kfoðks"k f«gk-

(c) (1) izoklo.kZukph O;k[;k f«gk-

(2) izoklo.kZuke/;s «f«r lkfgR;kps dks.kdks.krs xq.kfoðks"k fnlrkr rs

f«gk-

(3) ejkBhrh« ifg«s izoklo.kZu dks.krs o dks.kh f«fg«s \

(4) izoklo.kZukps gsrw f«gk-

(5) ejkBhrh« dks.kR;kgh nksu izoklo.kZukaph ukos f«gk-

3. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mRrj iUukl ðkCnkai;±r f«gk % [12]

(v) «f«r x|krh« ^eh*P;k vkRekfo"dkjkps Lo:i f«gk-

fdaok

«f«r x| ;k ok≥~e; izdkjkps osxˇsi.k f«gk-
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(c) izoklo.kZu Eg.kts dk; \ FkksMD;kr f«gk-

fdaok

izoklo.kZuij «s[kukrh« vMp.kh f«gk-

4. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mRrj nksuðððððks ðkCnkai;±r f«gk % [20]

(v) ^izkFkZusph ?kaVk* ;k «f«r x|kr «s[kdkP;k O;fDreŸokps dks.krs iS«w fnlwu

;srkr \ Li"V djk-

fdaok

^frUghlkatk* ;k «s[kkrh« ^rqdMkcks;* ;k O;fDrjs[kspk ifjp; d:u |k-

(c) ^fpuh ekrhrh« fnol* ;k izoklo.kZukr fpuh ek.klkaP;k O;fDreRokps nðkZu

dls ?kMrs rs f«gk-

fdaok

^fpuh ekrhrh« fnol* ;k izoklo.kZukr fpue/kh« dks.kdks.kR;k LFkˇkapk «s[kdkus

ifjp; d:u fn«k vkgs] rs f«gk-

5. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mRrj rhuðððððks ðkCnkai;±r

f«gk % [20]

(v) ^^,dk vkxˇÓk&osxˇÓk O;fDreŸokps nðkZu ^izkFkZusph ?kaVk* e/kh« «s[kkae/kwu

fnlwu ;srs-** ;k fo/kkukpk ijkeðkZ ?;k-

fdaok

^izkFkZusph ?kaVk* ;k «f«r«s[klaxzgkrh« «s[kkaP;k Hkk"kkðkS«hps osxˇsi.k

f«gk-
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(c) ^fpuh ekrhrh« fnol* ;k izoklo.kZukrwu fpuh lektkps nðkZu «s[kdkus dls

?kMfo«s vkgs] rs lksnkgj.k f«gk-

fdaok

^^fpuP;k izxrhe/;s ekvks&Rls&rqax ;kaps ;ksxnku Qkj eksBs vkgs-** «{e.k xk;dokM

;kaP;k ;k fo/kkukph ppkZ djk-



[4201]-302 5 P.T.O.

[4201]-302

(O;kogkfjd o mi;ksftr ejkBh)

(i;kZ;h vH;klÿe)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh ngk izðukaph mRrjs izR;sdh 20 ðkCnkai;±r f«gk % [20]

(1) vk/kqfud dkˇkrh« dks.kR;kgh pkj izlkjek/;ekaph ukos f«gk-

(2) vkdkðkok.khojh« dks.kR;kgh pkj dk;Zÿekaph ukos f«gk-

(3) o`Rri=krh« ckreh vkf.k vkdkðkok.khojh« ckreh ;ke/kh« Qjd f«gk-

(4) izflº o`Rri=klkBh ,d vkd"kZd eFkˇk f«gk-

(5) MkWD;qesaVjh«k ejkBhe/;s dk; Eg.krkr \

(6) :id Eg.kts dk; \

(7) tkfgjkrhph izeq[k mfÌ"VÓs f«gk-

(8) vkdkðkok.kh gs izlkjek/;e dks.kR;k izdkjkr eksMrs \

(9) o`Rri= gÓk izlkjek/;ekps osxˇsi.k f«gk-

(10) nwjnðkZu o o`Rri= ;k izlkjek/;ekaps izeq[k mÌsðk f«gk-

(11) o`Rri=] vkdkðkok.kh o nwjnðk Zu ;kO;frfjDr brj izlkjek/;ekaph ukos

f«gk-
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(12) jsfMvks ;k JkO; ek/;ekpk ðkks/k dks.kh «ko«k \

(13) uHkksok.kho:u ðksrdÚ;kalkBh izlkfjr gks.kkÚ;k dks.kR;kgh nksu dk;Zÿekaph ukos

f«gk-

2. [kk«h«iSdh izR;sd xVkrhy dks.kR;kgh ,dk izðukps mRrj iUukl ðkCnkai;±r f«gk % [10]

(v) o`Rri= ;k izlkjek/;ekps egŸo lkaxk-

fdaok

vkdkðkok.khoj lknj dsY;k tk.kkÚ;k ckrE;kaps Lo:i lkaxk-

(c) vkdkðkok.khlkBh L=h&Hkwz.k gR;k ;kfo"k;koj nksu fefuVkaps fparuij fopkj

f«gk-

fdaok

eq«k[kr ?ksrkuk eq«k[krdkjkus dks.krh iwoZr;kjh djkoh \

3. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mRrj nksuðððððks ðkCnkai;±r f«gk % [20]

(v) l|dk«hu izlkjek/;ekaps egŸo o e;kZnk f«gk-

fdaok

^ok<rs /ouh iznw"k.k* ;kfo"k;h tutkx`rh dj.kkjs i= okpdkapk i=O;ogkj ;k

lnjklkBh r;kj djk-

(c) nwjnðkZulkBh ^ok<rk ngðkrokn* ;k fo"k;koj ikp fefuVkps fparuij Hkk"k.k r;kj

djk-

fdaok

vkdkðkok.khojh« dk;Zÿekps Lo:i dls vlkosr ;kfo"k;h rqeps fopkj

f«gk-
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4. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mRrj rhuðððððks ðkCnkai;±r f«gk % [30]

(v) o`Rri=kaps tuek.klkrh« LFkku Li"V djk-

fdaok

nwjnðkZu ;k izlkjek/;ekps egŸo lksnkgj.k Li"V djk-

(c) ^tu«ksdik« fo/ks;d* ;k fo"k;koj vkdkðkok.khlkBh Hkk"k.k r;kj djk-

fdaok

^xWlph cpr* ;k fo"k;koj o`Rri=klkBh tkfgjkrhpk uequk r;kj djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4201]-303

T.Y. B.A. EXAMINATION, 2012

MARATHI (ejkBh)

foðððððks"kLrj & izðððððuif=dk ÿ- 3

(S-3 : lkfgR;fopkj)

(2008 PATTERN)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. iq<h«iSdh dks.kR;kgh ngk izðukaph mRrjs izR;sdh ohl ðkCnki;±r f«gk % [20]

(1) txUukFkkus lkafxr«s«h lkfgR;kph O;k[;k f«gk-

(2) ðkCnkph nksu :is dks.krh \

(3) eEeVkus lkafxr«s«h lkfgR;kph iz;kstus f«gk-

(4) vfHkuoxqIr ;kauh ds«s«h izfrHksph O;k[;k lkaxk-

(5) lkfgR;kLoknkr ;s.kkjk ^laðk;;ksx* vMFkˇk Eg.kts dk; \

(6) O;atusps nksu izdkj dks.krs \

(7) lkfgR;kP;k vkLokndkdMs dks.krs xq.k vlkosr \

(8) lkfgR;kP;k lkekftdrsfo"k;h ^rsu* us ekaM«s«k flºkUr f«gk-

P.T.O.



[4201]-303 2

(9) ^ckaf/k«dh* ,soth ^lkeh«dh* ðkCn dks.kR;k lkfgR; leh{kdkus ;kst«k

vkgs \

(10) ok≥~e;hu vfHk#ph Eg.kts dk; \

(11) vfHk#phfHkUursph pkj dkj.ks f«gk-

(12) lkfgR;kP;k oxhZdj.kkps nksu flºkUr f«gk-

(13) ^dkO;* ;k lkfgR;izdkjkph nksu oSfðk"VÓs f«gk-

2. iq<h«iSdh izR;sd xVkrh« izðukaph mRrjs iUukl ðkCnkai;±r f«gk %

(v) lkfgR;krh« foðokRedrk Eg.kts dk; \ [5]

fdaok

lkfgR;fufeZrh izfÿ;sr izfrHkkðkDrhps egRo FkksMD;kr f«gk-

(c) ^izrhR;qik;oSdY;* lkfgR;kLoknkrh« ,d vMFkˇk- [5]

fdaok

«s[kdkph lkekftdrk Li"V djk-

3. iq<h«iSdh izR;sd xVkrh« izðukaph mRrjs nksuðks ðkCnkai;±r f«gk %

(v) lkfgR;kph LoIujatu] fojspu] mn~cks/ku] ftKklkiwrhZ gh pkj iz;kstus foðkn

djk- [10]

fdaok

ðkkL=h; lkfgR; o «f«r lkfgR; ;krh« Qjd Li"V djk-

(c) jfldkP;k fBdk.kh dks.krh xq.koSfðk"VÓs vlkohr \ [10]

fdaok

lkfgR;kP;k oxhZdj.kkpk ^ukeek=oknh* flºkUr foðkn djk-
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4. iq<h«iSdh izR;sd xVkrh« izðukaph mRrjs rhuðks ðkCnkai;±r f«gk %

(v) lkfgR;fufeZrhP;k ðkDrhapk lfoLrj ijkeðkZ ?;k- [15]

fdaok

lkfgR;krwu O;Dr gks.kkÚ;k vuqHkokps foðks"k Li"V djk-

(c) lkfgR;kps Bˇd izdkj lkaxwu ^ukVd* ;k izdkjkps Lo:i Li"V djk-  [15]

fdaok

vfHk#ph fu;r dj.kkjs ?kVd lksnkgj.k foðkn djk-
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Seat

No. [4201]-304

T.Y. B.A. EXAMINATION, 2012

MARATHI (ejkBh)

foðððððks"kLrj & vH;klif=dk ÿ-&4

(,sfrgkfld Hkk"kkfoKku o o.kZukRed Hkk"kkfoKku)

(2008 PATTERN)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh ngk izðukaph mRrjs izR;sdh ohl ðkCnki;±r f«gk % [20]

(1) ,sfrgkfld Hkk"kkfoKkukpk tud dks.k vkgs \

(2) Hkk"kkaps oxhZdj.k dks.kR;k rŸokaP;k vk/kkjs ds«s tkrs \

(3) varoZrqZˇ&cfgoZrqZˇ fln~/kkar dks.kh ekaM«k \

(4) rsjkO;k ðkrdkrh« nksu xzaFkdkjkaph ukos f«gk-

(5) vjch&QklhZ Hkk"ksrwu ejkBhr vk«s«s ikp ðkCn f«gk-

(6) fðkodk«hu ejkBh Hkk"ksoj dks.kR;k Hkk"kspk izHkko gksrk \

(7) Lou Eg.kts dk; \

(8) Lofue fufðprhph nksu rŸos f«gk-

P.T.O.
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(9) :fie Eg.kts dk; \

(10) :fiekaps dks.krsgh nksu izdkj f«gk-

(11) okD;kps fdeku ?kVd f«gk-

(12) ejkBhrh« narew«h; O;atus f«gk-

(13) ejkBhrh« la;qDr Loj f«gk-

2. [kk«h«iSdh izR;sd xVkrh« ,dk izðukaps mRrj iUukl ðkCnkai;±r f«gk % [10]

(v) Hkk"ksps HkkSxksf«d o.kZu f«gk-

fdaok

baMks&;qjksfi;u Hkk"kkdq«kpk laf{kIr ifjp; d:u |k-

(c) Lofue fofu;ksx ladYiuspk LFkw« ifjp; d:u |k-

fdaok

okD; vkf.k okD;kaðk ;krh« ijLijlaca/k Li"V djk-

3. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mRrj nksuðððððks ðkCnkai;±r f«gk % [20]

(v) oS|&xq.ks oknkpk ijkeðkZ ?;k-

fdaok

vjch&QklhZ Hkk"kspk ejkBhojh« izHkko lksnkgj.k Li"V djk-

(c) Lou&Lofue&Loukarj ;krh« ijLijlaca/k Li"V djk-

fdaok

:fidk&:fie&:fidkarj ;krh« ijLijlaca/k foðkn djk-
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4. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mRrj rhuðððððks ðkCnkai;±r f«gk % [30]

(v) gksU«sZ ;kaP;k varoZrqZˇ&cfgoZrqZˇ fln~/kkarkps foospu djk-

fdaok

;knodk«hu ejkBh Hkk"ksps Lo:i lfoLrj foðkn djk-

(c) ejkBhrh« okD;foU;kl O;oLFksps Lo:i lksnkgj.k Li"V djk-

fdaok

ejkBhrh« iqujZfpr LojLofue O;oLFkk o O;atuLofue O;oLFkk Li"V djk-



Total No. of Questions—5] [Total No. of Printed Pages—2

[4201]-313
T.Y. B.A. EXAMINATION, 2012

URDU
General Paper  III

(History of Novel, Drama and Afsana)
(2008 PATTERN)

Time : Three Hours   Maximum Marks : 80
N.B. :—(1) Attempt  All questions.

(2) All questions carry equal marks.

  




  




  




  

P.T.O.

 Seat
  No.






    

 

 

 

 
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[4201]-314
T.Y. B.A. EXAMINATION, 2012

URDU

Special Paper  III

(2008  PATTERN)

Time : Three Hours   Maximum Marks : 80

N.B. :—Figures to the left indicate full marks.

  




 

  




  




    

P.T.O.

 Seat
  No.




 

  



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Total No. of Questions—5] [Total No. of Printed Pages—3

[4201]-315

T.Y. B.A. EXAMINATION, 2012

URDU

Special Paper IV
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Time : Three Hours   Maximum Marks : 80

N.B. :—(i) All questions are compulsory.

(ii) Figures to the left indicate full marks.

     

 

 

 

     

 

 

 

P.T.O.

 Seat
  No.



    

 

 

 

 


 

  

    

 



 



 



  




2 [4201]-315



  




    

 

 

 

3 [4201]-315



Total No. of Questions—4+4] [Total No. of Printed Pages—8+4

Seat

No. [4201]-316

T.Y. B.A. EXAMINATION, 2012

HINDI (G-3)

fganh (lkekU;&3)

(iz;kstuewyd fganh)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk,° :—(i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'uksa ds iw.kk±d gSaA

1. (v) fuEufyf[kr v°xszth okD;ksa esa ls fdUgha vkB okD;ksa dk fganh esa vuqokn

dhft, % [8]

(1) Certified that the purchases have been made at the

lowest market rate ?

(2) Draft approved as amended.

(3) Enquiry may be completed and it reports submitted at

an early date.

(4) He may be advised to get his name registered in the

nearest Employment Exchange if not already done.

(5) Pay can be fixed under FR 22.

(6) Fresh proposals is this regard are invited.

P.T.O.
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(7) We are not concern with this.

(8) The bill is returned as a joining report is not attached

with it.

(9) The final bill is not on the prescribed form.

(10) The matter has been referred to the Administration

Ministry.

(11) The receipt of the letter has been acknowledged.

(12) This amount has become irrecoverable. May be written

off.

(vk) fuEufyf[kr v°xzsth laf{kfIr;ksa esa ls fdUgha vkB laf{kfIr;ksa dk fganh esa vuqokn

dhft, % [8]

(1) B.B.C.

(2) C.B.

(3) C.B.I.

(4) D.I.R.

(5) D.Litt.

(6) F.E.R.A.

(7) I.A.S.

(8) M.I.D.C.

(9) M.L.A.

(10) N.A.M.

(11) N.D.A.

(12) R.R.B.
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2. (v) fuEufyf[kr esa ls fdUgha nks fo"k;ksa ij fjiksVZ ys[ku dhft, % [8]

(1) gokbZ nq?kZVuk

(2) egkfon~;ky; esa euk;k x;k Lusg&lEesyu

(3) jk"V™h; lsok ;kstuk n~okjk euk;k x;k izkS<+ lk{kjrk&fnu

(4) fctyh cpko tutkx`frA

(vk) fuEufyf[kr ifjPNsn dk lkjys[ku dhft, vFkok ifjPNsn ds voyksdukRed

iz'uksa ds mŸkj fyf[k, % [8]

fczfV'k f'k{kk us Hkkjrh; cqfºthfo;ksa ds lkeus lkekftd vkSj jktuhfrd Lokra´;

ds u, f{kfrt mn~?kkfVr fd,A f'kf{kr Hkkjrh;ksa us ,d vksj rks nwljs ns'kksa

ds izxfr'khy fopkjksa vkSj mudh oSKkfud miyfC/k;ksa dh ljkguk djuk lh[kk

vkSj nwljh vksj u, Kku dh dlkSVh ij Lo;a viuh ijaijkvksa] /keZn'kZu]

jhfr&fjoktksa vkSj #fp;ksa dks dluk lh[kkA eSdkys us lkspk Fkk fd mudh

f'k{kk&iz.kkyh Hkkjrh;ksa dh jk"V™h; psruk dks daqfBr dj nsxh vkSj mUgsa oQknkj

xqyke cukus esa lQy gksxhA fdarq] mlus njvly thou ds izfr ,d u,

oSKkfud n`f"Vdks.k dk vk/kkj rS;kj fd;k vkSj u, jk"V™h; tkxj.k eas Hkh

lgk;rk igq°pk;hA nwljs 'kCnksa esa] vaxzsth dh f'k{kk uhfr us Hkkjrh; cqfºthfo;ksa

dk ,d ,slk u;k oxZ iSnk fd;k] tks if'peh foKku ds ewy rRoksa rFkk

if'pe ds vf/kd mUur lkaLœfrd ekunaMksa dks le>rs vkSj vkRelkr djrs
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Fks] vkSj lkFk gh] Lo;a viuh ekr`Hkwfe dh mUufr ds fy, mudk mi;ksx

djrs FksA

vFkok

(1) v°xzsth f'k{kk&iz.kkyh dh egRoiw.kZ nsu D;k gS \

(2) v°xzsth&f'k{kk iz.kkyh dk mÌs'; D;k Fkk \

(3) eSdkys us D;k lkspk Fkk \

(4) mi;qZDr x|ka'k dk mfpr 'kh"kZd nhft,A

3. (v) fuEufyf[kr esa ls fdlh ,d ij vkdk'kok.kh vFkok nwnj'kZu ds fy, foKkiu

dk uewuk rS;kj dhft, % [6]

(1) cktkj esa vk;k u;k ›ht

(2) jkT;Lrjh; dfork izfr;ksfxrk

(3) iqLrd esyk

(4) ;k=h lwVdslA

(vk) fuEufyf[kr esa ls fdlh ,d ifjPNsn dk fganh esa vuqokn dhft, %  [6]

The wisemen of all nations have got together to see if they

can find a way of getting rid of war altogether. The first

thing that is wanted is co-operation among all the nations.

Co-operation is a big word, but it simply means working together.

If nations can learn together as friends, they will soon find
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a way of setting their disputes in a friendly way. Instead of

being jealous of each other and suspicious and proud of their

rights they must learn to be friendly and reasonable and anxious

to help each other.

vFkok

;qºkiklwu iw.kZi.ks eqDrh feˇfo.;klkBh dkgh ekxZ fu?krks dk gs loZ jk"V™karY;k

ðkgk.;k ek.klkauh ,d= ;s≈u ikfg«s ikfgts- ifg«s vkoð;d xks"V Eg.kts

jk"V™kae/;s ijLij lgdk;Z vl«s ifgts] lgdk;Z gk Qkj eksBk ðkCn >k«k]

i.k R;kpk ,d= feˇwu dj.ks gk vxnh lk/kk vFkZ vkgs- tj jk"V™s fe=kaizek.ks

,d= dke djk;«k fðkd«s] rj vkiki«h HkkaM.ks [kš heš hus lksMo.;kpk ekxZ

«xsp lkiMs«- ,desdkacÌ« eRlj ckˇx.;k,soth] laðk;xzLr jgk.;k,soth

vkf.k Lor%P;k vf/kdkjkcÌ« vfHkeku /kj.;k,soth R;kauh ,desdkaðkh fe= Hkkokus

jgk;«k] fopkjkus okxk;«k vkf.k ,desdkaP;k enrhlkBh rRij jgk;«k ikfgts-

4. (v) fuEufyf[kr esa ls fdUgha pkj y?kwŸkjh; iz'uksa ds mŸkj fyf[k, % [20]

(1) tulapkj ek/;eksa esa fganh dh mi;ksfxrk crkb,A

(2) foKku rduhd vkSj lwpuk izkS|ksfxdh dk euq"; thou ij iM+s izHkko

dk laf{kIr o.kZu dhft,A

(3) nwjn'kZu ds fy, iz;qDr Hkk"kk dh fo'ks"krk,° le>kb,A

(4) vuqokn ds egRo ij izdk'k Mkfy,A
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(5) ljdkjh dk;kZy;ksa }kjk tkjh fganh izpkj&izlkj ds dk;Z ds ckjs esa

vius 'kCnksa esa fyf[k,A

(6) jktHkk"kk fganh ds laoS/kkfud izko/kkuksa ij izdk'k Mkfy,A

(vk) fuEufyf[kr fo"k;ksa esa ls fdUgha pkj ij fVIif.k;k° fyf[k, % [16]

(1) vkdk'kok.kh dh Hkk"kk

(2) {ks= dk;Z dk vFkZ ,oa egRo

(3) lk{kkRdkj iz'ukoyh

(4) izfrosnu fjiksVZ dk izk:i

(5) {ks= dk;Z ds fy, lkexzh ladyu

(6) vuqokn ds izdkjA
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[4201]-316

(fuca/k] dkO;&ukVd rFkk ys[ku)

le; % rhu ?kaVs iw.kk±d % 80

ikB~;iqLrdsa :— (i) fuca/k lkSjHkµlaik- lkS- mek tk/koA

(ii) xkFkk dq#{ks= dhµlaik- euksgj ';ke tks'khA

lwpuk,° :—(i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'uksa ds iw.kk±d gSaA

1. (v) fuEufyf[kr v°xszth ikfjHkkf"kd 'kCnksa esa ls fdUgha N% ds fganh i;kZ;okph

'kCn fyf[k, % [6]

(1) Agriculture Officer

(2) Area Supervisor

(3) Ballast Inspector

(4) Census Officer

(5) District Judge

(6) Income Tax Officer

(7) News Reporter

(8) Protocol Officer.
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(vk) fuEufyf[kr v°xzsth laf{kfIr;ksa esa ls fdUgha pkj ds iw.kZ fganh i;kZ;

fyf[k, % [8]

(1) A.C.P.

(2) B.O.I.

(3) C.P.

(4) D.F.I.

(5) F.C.I.

(6) H.R.A.

(7) I.B.A.

(b) fuEufyf[kr esa ls fdlh ,d fo"k; ij lekpkj ys[ku dhft, % [6]

(1) N=ifr f'kokth egkfo|ky;] lkrkjk dk 64ok° o/kkZiu fnu

(2) egkfo|ky; esa laiUu ^fganh fnu* lekjksgA

2. fuEufyf[kr vorj.kksa esa ls fdUgha nks dh llanHkZ O;k[;k dhft, % [10]

(1) gs ;qf/kf"Bj

nq;ksZ/ku ;fn djs v/keZ

rks rqe er djuk

/keZ&iq= gks

'kksHkk dHkh u nsxk rqedks

viuksa dk gh [kwu cgkdj

I;kl cq>kuk jkt&ikV dhA
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(2) vkg fonqj !

fu;fr Vkys ugha Vyrh

HkkX;lw= ls c°/ks ukprs gSa ge

dBiqrfy;ksa tSlsA

(3) rw] eSa] vkSj ;s jktkx.k lHkh

lnk Fks] vkSj jgsaxs lnk ghA

nsg u'oj gS] vej gS vkRek

u dksbZ ekjrk gS] vkSj u ejrk gS dksbZA

(4) /keZ gh gS fuR;

lq[k&nq%[k rks vfuR; gSaA

gekjh thokRek gS fuR;

vfuR; gS nsg

vfuR; ca/ku lkalkfjd gSaA

3. (v) fuEufyf[kr iz'uksa eas ls fdUgha nks ds mŸkj fyf[k, % [10]

(1) ia- izrkiukjk;.k feJth us fo'okl dh egŸkk fdu 'kCnksa esa of.kZr

dh gS \

(2) ^etnwjh vkSj izse* fuca/k esa fufgr ys[kd ds fopkjksa dks Li"V dhft,A

(3) ^esjh tUeHkwfe* fuca/k }kjk vk- gtkjhizlkn f}osnh D;k lans'k nsrs

gSa \



[4201]-316 10

(vk) fuEufyf[kr iz'uksa esa ls fdUgha nks ds mŸkj fyf[k, % [10]

(1) ^xkFkk dq#{ks= dh* dkO;&ukVd ds ek/;e ls ys[kd e'tks D;k lans'k

nsuk pkgrs gSa \

(2) ^xkFkk dq#{ks= dh* dkO;&ukVd ds 'kh"kZd dh lkFkZdrk Li"V dhft,A

(3) jk/ks; d.kZ dh e`R;q dk o.kZu vius 'kCnksa esa dhft,A

4. (v) fuEufyf[kr iz'uksa esa ls fdlh ,d dk mŸkj fyf[k, % [10]

(1) ^fgEer vkSj ftanxh* fuca/k esa O;Dr ^fnudj* jke/kkjh flagth ds

fopkjksa dks Li"V dhft,A

(2) ^^ ^'kfu % lcls lqUnj xzg* fuca/k oSKkfud n`f"Vdks.k ls ifjiw.kZ gSA**

Li"V dhft,A

(vk) fuEufyf[kr iz'uksa esa ls fdlh ,d dk mŸkj fyf[k, % [10]

(1) ^^ ^xkFkk dq#{ks= dh* 'kh"kZd dkO;&ukVd esa iSjkf.kdrk vkSj vk/kqfudrk

dk laqnjre lkeatL; izLrqr gSA** bl dFku dh leh{kk dhft,A

(2) ^xkFkk dq#{ks= dh* dkO;&ukVd ds izeq[k ukjh ik=ksa dk ifjp; nhft,A

(b) fuEufyf[kr esa ls fdlh ,d i= dk uewuk rS;kj dhft, % [5]

(1) cSad] Mkd] chek rFkk jsy dk;kZy;ksa esa iz;qDr fganh dk dk;kZUo;u

lQy cukus ds laca/k esa lwpuk ek°xrs gq, fganh funs'kky; dk dk;kZy;hu

Kkiu dk uewuk rS;kj dhft,A
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(2) iq.ks fo'ofo|ky; ds dqylfpo] lHkh layXu egkfo|ky;ksa dks Nk=ksa

dh fu;fer mifLFkfr ds lanHkZ esa ,d ifji= Hkstrs gSaA bl ifji=

dk uewuk rS;kj dhft,A

(bZ) fuEufyf[kr esa ls fdlh ,d ifjPNsn dk fganh esa vuqokn dhft, %  [5]

The wisemen of all nations have got together to see if they

can find a way of getting rid of war altogether. The first

thing that is wanted is co-operation among all the nations.

Co-operation is a big word, but it simply means working together.

If nations can learn to work together as friends; they will

soon find a way of setting their disputes in a friendly way.

Instead of being jealous of each other and suspicious and proud

of their rights they must learn to be friendly and reasonable

and anxious to help each other.

vFkok

;qºkiklwu iw.kZi.ks eqfDr feˇfo.;klkBh dkgh ekxZ fu?krks dk \ gs loZ jk"V™krY;k

ðkgk.;k ek.klkauh ,d= ;s≈u ikfg«s ikfgts- ifg«h vkoð;d xks"V Eg.kts

jk"V™kae/;s ijLij lgdk;Z vl«s ikfgts] lgdk;Z gk Qkj eksBk ðkCn >k«k-
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i.k R;kpk ,d= feˇwu dj.ks gk vxnh lk/kk vFkZ vkgs- tj jk"V™s fe=kizek.ks

,d= dke djk;«k fðkd«h_ rj vkiki«h HkkaM.ks [kš heš hus lksMo.;kpk ekxZ

R;kauk «xsp lkiMs«- ,desdkacÌ« eRlj ckˇx.;k,soth laðk;xzLr jkg.;k,soth

vkf.k Lor%P;k vf/kdkjkcÌ« vfHkeku /kj.;k,soth R;kauh ,desdkaðkh fe=

Hkkokus jkgk;«k] fopkjkus okxk;«k vkf.k ,desdkaP;k enrhlkBh rRij jgk;«k

ikfgts-



P.T.O.
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No. [4201]-317

T.Y. B.A. EXAMINATION, 2012

fganh fo'ks"k&3

fganh lkfgR; dk bfrgkl

(vkfndky ls vk/kqfud dky rd)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk :— (i) lHkh iz'u vfuok;Z gSa A

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSa A

1- fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(d) vkfndkyhu jklks lkfgR; dh izo`fŸk;ksa dk lksnkgj.k ifjp; nhft, A

([k) jhfrdkyhu lkekftd] jktuhfrd ,oa /kkfeZd i`"BHkwfe Li"V dhft, A

2- fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(x) HkfDrdkyhu lar lkfgR; dk ifjp; nsrs gq, dchj dkO; dh fo'ks"krk,°

fyf[k, A

(?k) œ".k&HkfDr dkO;/kkjk dk ifjp; nsrs gq, mlesa lwjnkl dk ;ksxnku Li"V

dhft, A

3- fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(p) iz;ksxoknh dkO;/kkjk dh fo'ks"krk,° Li"V dhft, A

(N) Nk;koknh dkO;/kkjk dh izo`fŸk;ksa dk foospu dhft, A
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4- fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(t) fganh miU;kl fo/kk dk fodkl Li"V djrs gq, mlesa izsepan dk LFkku

fu/kkZfjr dhft, A

(>) fganh fuca/k fo/kk ds fodklÿe ij izdk'k Mkfy, A

5- (v) fuEufyf[kr esa ls fdUgha pkj iz'uksa ds mŸkj la{ksi esa fyf[k, % [8]

(1) jk"V™h; dkO;/kkjk dh fdUgha nks fo'ks"krkvksa dks fyf[k, A

(2) eSfFkyh'kj.k xqIr th dh nks dkO; jpukvksa ds uke fyf[k, A

(3) izxfrokn dh izeq[k nks izo`fŸk;k° fyf[k, A

(4) ^xksnku* ds izeq[k ik=kas ds uke fyf[k, A

(5) eksgu jkds'k ds ukVdksa ds uke fyf[k, A

(6) fganh ds vk/kqfud fuca/kdkjksa esa ls fdUgha nks ds uke fyf[k, A

(vk) fuEufyf[kr esa ls fdUgha vkB iz'uksa ds mŸkj ,d&,d okD; esa fyf[k, % [8]

(1) ubZ dkO;/kkjk ds nks dfo;ksa ds uke fyf[k, A

(2) ^dq#{ks=* ds dfo dkSu gSa \

(3) jk"V™h; dkO;/kkjk ds izeq[k nks dfo;ksa ds uke fyf[k, A

(4) Nk;kokn dh c`g=;h esa lekfo"V dfo;ksa ds uke fyf[k, A

(5) ^rkjlIrd* ds nks dfo;ksa ds uke fyf[k, A

(6) ^R;kxi=* miU;kl dh nks fo'ks"krk,° fyf[k, A

(7) fganh ds fdUgha nks ,sfrgkfld ukVdksa ds uke fyf[k, A

(8) fganh ds fdUgha nks vk°pfyd miU;klksa ds uke fyf[k, A

(9) 'kqDyth ds fuca/k laxzgksa ds uke fyf[k, A

(10) egkohj izlkn f}osnh fdl if=dk ds laiknd Fks \
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Seat

No. [4201]-318

T.Y. B.A. EXAMINATION, 2012

HINDI (fganh) (fo'ks"k&4)

Hkk"kkfoKku

(Hkk"kkfoKku vkSj fganh Hkk"kk)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk :— (i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'uksa ds iw.kk±d gSaA

1. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(d) Hkk"kk dh ifjHkk"kk nsdj Hkk"kk dh izeq[k fo'ks"krkvksa dk foospu dhft,A

([k) fganh dh fdUgha rhu cksfy;ksa dk ifjp; nhft,A

2. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(x) okD; dh ifjHkk"kk nsrs gq, okD; dh vk/kkjHkwr vko';drkvksa dks Li"V

dhft,A

(?k) vFkZifjorZu dh n'kkvksa dk lksnkgj.k foospu dhft,A

P.T.O.
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3. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(p) /ofuxq.k dh foLrkj ls ppkZ dhft,A

(N) nsoukxjh fyfi dh fo'ks"krkvksa dks Li"V dhft,A

4. fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, % [16]

(i) lkaLœfrd fofHkUurkokn

(ii) fganh esa rn~Hko 'kCn

(iii) laca/krRo ds izdkj

(iv) ^^Hkk"kkfoKku O;kdj.k dk Hkh O;kdj.k gSA**

5. (v) fuEufyf[kr esa ls fdUgha pkj iz'uksa ds mŸkj la{ksi esa fyf[k, % [8]

(i) czt cksyh ds uke dk vk/kkj D;k gS \

(ii) iz;Ru yk?ko ls D;k rkRi;Z gS \

(iii) iwuk esa dk;Zjr jk"V™Hkk"kk fganh dk izpkj&izlkj djus okyh laLFkk dk

uke fyf[k,A

(iv) Hkk"kkfoKku fdls dgrs gSa \

(v) vFkZifjorZu ds fdUgha nks dkj.kksa dk mYys[k dhft,A

(vi) ek=k fdls dgrs gSa \
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(vk) fuEufyf[kr esa ls fdUgha vkB iz'uksa ds mŸkj ,d&,d okD; esa fyf[k, % [8]

(i) cksyh dh ifjHkk"kk fyf[k,A

(ii) ifjfuf"Br Hkk"kk fdls dgrs gSa \

(iii) czt ds nks dfo;ksa ds uke fyf[k,A

(iv) Hkk"kk fodkl ds oknksa ds uke fyf[k,A

(v) fons'kh 'kCn fdls dgrs gSa \

(vi) Hkk"kkfoKku ds izeq[k vax dkSuls gSa \

(vii) O;atu fdls dgrs gSa \

(viii) foHkfDr fdls dgrs gSa \

(ix) nf{k.k Hkkjr fganh izlkj lHkk dh LFkkiuk ds ihNs fdudh izsj.kk gS \

(x) inÿe fdls dgrs gSa \



Total No. of Questions—5] [Total No. of Printed Pages—4

[4201]-319

T.Y. B.A. EXAMINATION, 2012

PERSIAN

General  Paper  III

(2008  PATTERN)

Time : Three Hours   Maximum Marks : 80
Text :— (1) Miras-e-Zban-e-Farsi.

(2) Chahar Maquala.
N.B. :—(1) All questions are compulsory.

(2) Figures to the right indicate full marks.
1. Discuss the popularity of ‘‘Shaikh Saadi’’ as a well known Persian

prose writer. [16]
OR

Comment on the poetic art of ‘‘Anwari’’.
OR

Draw the life sketch and literary works of ‘‘Sayed Ashraf Zushti’’.

2. Explain in Persian or translate and explain in Marathi, English or  
Urdu any four of the following : [16]

  

 

 


 



P.T.O.

 Seat
  No.



 


 
 


 



3. Analyse the critical importance of ‘‘Chahar Maquala’’. [16]

Or

Explain   .

4. (A) Reproduce in your own Persian on any one  o f  the

following : [8]

  

 

 

(B) Write central idea of any one of the following : [8]

 

 

 
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5. Translate into Marathi, English or Urdu any two passages of the

following : [16]

 






 








 

 



   



 
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 





 

 

 




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Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [4201]-320

T.Y. B.A. EXAMINATION, 2012

SANSKRIT (G-III)

General Paper III

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts :— (i) izfrekukVde~

(ii) Hkkfeuhfo«kl-

1. Translate into English or Marathi any two from Section ‘A’ and

Section ‘B’ each from the following :

iq<h« ifjPNsnkaiSdh ^v* o ^c* foHkkxkrh« dks.kR;kgh nksgksaps baxzthr fdaok ejkBhr

Hkk"kkarj djk %

Section A [10]

(foHkkx ^v*)

(i) Hkjr% µ vFk Do xrk% bfr Jqrk%A

lqeU=% µ vfLr fd« fdf"dU/kk uke oukSdlka fuokl%A r= xrk bfr Jqrk%A

Hkjr% µ gUr vfoKkriq#"kfoðks"kk% [k«q okujk%A nq%f[krk% izfrolfUrA

lqeU=% µ dqekj fr;ZX;ksu;ks∑I;qiœreoxPNfUrA

Hkjr% µ rkr dFkfeoA

lqeU=% µ lqxzhoks Hkzafðkrks jkT;kn~ Hkzk=k T;s"Bsu okf«ukA

‚rnkjks ol¥NS«s rqY;nq%[ksu eksf{kr%˚

P.T.O.
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(ii) jke% µ dFka dFka JkºdYifefrA

jko.k% µ lokZ% JqrhjfrÿE; JkºdYis Li`gk nfðkZrkA fdesrr~A

jke% µ Hkxou~ Hkz"Vk;ka fir`eŸkk;kekxe bnkuhes"k%A

jko.k% µ v«a ifj‚R;A i`PNrq Hkoku~A

jke% µ Hkxou~ fuoiufÿ;kdk«s dsu fira`LriZ;kfeA

jko.k% µ lo± Jº;k nŸka Jkºe~A

jke% µ Hkxou~ vuknjr% ifjR;Dra HkofrA foðks"kkFk± i`PNkfeA

(iii) HkV% µ t;rq dqekj%A

Hkjr% µ HkÊ fda ðk=q?uks ekefHkxr%A

HkV% µ vfHkxr% [k«q orZrs dqekj%A mik/;k;kLrq HkoUrekgq%A

Hkjr% µ fdfefr fdfefrA

HkV% µ ,dukfMdkoðks"k% œfŸkdkfo"k;%A rLekr~ izfriUuk;keso jksfg.;ke;ksË;ka

izos{;fr dqekj%A

Hkjr% µ ck<esoe~A u e;k xq:opuefrÿkUriwoZe~A xPN Roe~A

HkV%µ ;nkKki;fr dqekj%A (fu"ÿkUr%)

Section B [10]

(foHkkx ^c*)

(i) ikS«ksehifrdkuus fo«lrka xhokZ.kHkweh#gka

;suk?kzkrleqfT>rkfu dqlqekU;tf?kzjs futZjS%

rfLeUu| e/kqozrs fof/koðkkUek/ohdekdk¿frA

Roa psn¥pfl «ksHkeEcqt rnk fda Roka izfr czwegs˚

(ii) leqikxrofr nSoknogs«ka dqVt e/kqdjs ek xk%A

edjUnrqfUn«kukejfoUnkuke;a egkekU;%˚

furjka uhpks∑Lehfr Roa [ksna dwi ek dnkfi œFkk%A

vR;Urljl‚n;ks ;r% ijs"kka xq.kxzghrkfl˚
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(iii) fda fu%ðk¡a ðks"ks ðks"ks o;lLRoekxrks e`R;q%A

vFkok lq[ka ðk;h;k fudVs tkxfrZ tk�oh tuuh˚

nqoZ̀Ÿkk tkjtUekuks gfj";Urhfr ðk¡;kA

enh;i|jRukuka e¥tw"kS"kk œrk e;k˚

2. Explain with reference to the context any two from Section ‘A’ and

‘B’ each :

^v* vkf.k ^c* foHkkxkrh« izR;sdh nksu okD;kaps llanHkZ Li"Vhdj.k djk %

Section A [10]

(foHkkx ^v*)

(i) vYia rqY;ðkh«kfu }a}kfu l`T;UrsA

(ii) okpkuqo`fŸk% [kYofrfFklRdkj%A

(iii) cgqnks"kk.;j.;kfu lukFkS"kk Hkfo";frA

(iv) d"Va oua L=htulkSdqek;± lea «rkfHk% dfBuhdjksfrA

Section B [10]

(foHkkx ^c*)

(i) u fg rqEchQ«fod«ks oh.kkn.M% iz;kfr efgekue~A

(ii) ðkq";UR;k vfi ;qDra fda [k«q jF;ksndknkue~A

(iii) enh;efrpqfEcuh Hkorq dkfi dknfEcuhA

(iv) lo± izkekfndfeg HkoHkzkfUrHkktka ujk.kke~A

3. Write descriptive notes on any one from Section ‘A’ and Section

‘B’ each :

^v* vkf.k ^c* foHkkxkrh« izR;sdh ,dkoj foospd Vhi f«gk %

Section A [8]

(foHkkx ^v*)

(i) fo"dEHkd% in izfrekukVde~-

izfrekukVdkrh« fo"dEHkd-



[4201]-320 4

(ii) The character of dSds;h in izfrekukVde~-

izfrekukVdkrh« dSds;hph O;fDrjs[kk-

Section B [8]

(foHkkx ^c*)

(i) Description of œ".k in ðkkarfo«kl-

ðkkarfo«klkrh« œ".ko.kZu-

(ii) Sagaranyokt i

lkxjkU;ksDrh-

4. Appreciate critically Act 1st of izfrekukVde~- [12]

izfrekukVdkP;k ifgY;k vadkps fpfdRld jlxzg.k djk-

Or

(fdaok)

Elaborate the statement ^Hkkl % A dramatist’ with reference to izfrekukVde~-

^Hkkl % ,d ukVddkj* gs fo/kku izfrekukVdkP;k vk/kkjs lfoLrj Li"V djk-

5. Explain with detail ‘Simhanyokt i& ’ in Prastavikavilasa . [12]

izkLrkfodfo«klkrh« ^flagkU;ksDrh* lfoLrj Li"V djk-

Or

(fdaok)

Discuss the statement ‘

Bhamin ivilasa : A  Muktakakavya

’

^Hkkfeuhfo«kl % ,d eqDrddkO;* ;k fo/kkukph ppkZ djk-
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Seat

No. [4201]-321

T.Y. B.A. EXAMINATION, 2012

SANSKRIT

(S-III)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts :— (i) y?kqflºkUrdkSeqnh

(laKk] dkjd] lfU/k)

(ii) History of Vedic Literature.

oSfnd ok≥~e;kpk bfrgkl-

(iii) Sanskrit Composition.

laLœr fucU/kys[ku-

1. Explain any three of the following : [15]

iq<h«iSdh dks.kR;kgh frghaps Li"Vhdj.k djk %

(i) eq[kukfldkopuks∑uqukfld% A

(ii) ,pks∑;ok;ko% A

(iii) >yka t'kks∑Urs A

(iv) gf'k p A

(v) dr`Zdj.k;ksLr`rh;k A
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2. (A) Write notes on any three of the following : [6]

iq<h«iSdh dks.kR;kgh frghaoj Vhik f«gk %

(i) ine~ A

(ii) izkfrifndkFkZ% A

(iii) izx`gÓ% A

(iv) fuikr% A

(v) ;.k~&lfU/k% A

(B) Split any two conjuncts of the following quoting relevant

rules : [4]

iq<hyiSdh dks.kR;kgh nksgksapk lacaf/kr lw=s lkaxwu laf/k&foxzg djk %

(i) Hkkuwn;% A

(ii) ds∑fi A

(iii) izkS<% A

(iv) 'kdU/kq% A

(C) Give any five Vibhaktis of the underlined words from the following

sentences giving relevant rules : [5]

[kk«h« okD;krh« dks.kR;kgh ikp v/kksjsf[kr 'kCnkaP;k foHkDrh lacaf/kr lw=kP;k

vk/kkjs lkaxk %

(i) ek"ks"kq v‹oa c/ukfr A

(ii) gfj% lsO;rs A

(iii) xka nksfX/k i;% A
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(iv) nsonRr% ipfr A

(v) o`{kkr~ i.k± irfr A

(vi) nSR;sH;ks gfj% vye~ A

(vii) LFkkY;ke~ vksnua ipfr A

(viii) ouL; vfUrds A

3. (A) The internal nature of the Atharvaveda. [12]

vFkoZosnkps vUrxZr Lo:i Li"V djk-

Or

(fdaok)

Write an essay on subjects of Rgveda.

ΩXosnkrh« fo"k; ;koj fuca/k f«gk-

(B) Write an essay on ,srjs;&vkj.;d- [12]

,srjs;&vkj.;d ;koj fuca/k f«gk-

Or

(fdaok)

Explain the nature of the czk„.k&xzaFk-

czk„.kxzaFkkaps Lo:i Li"V djk-

4. Write critical paragraphs on any two of the following : [16]

iq<h«iSdh dks.kR;kgh nksgksaoj foospd ifjPNsn f«gk %

(i) fu#Dre~ A
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(ii) bZ'kkokL;ksifu"kn~ A

(iii) baÊ as deity in the Rgveda.

ΩXosnkrh« baÊ nsork-

(iv) x`gÓlw=kf.k A

5. Write a short essay in Sanskrit on any one of the following : [10]

[kkyhyiSdh dks.kR;kgh ,dkoj laLœrkr fucU/k f«gk %

(i) dfoJs"B% Hkr`Zgfj% A

(ii) fo|k/kua loZ/kuiz/kkue~ A

(iii) ns'kkVuL; egRRoe~ A



P.T.O.
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Seat

No. [4201]-322

T.Y. B.A. EXAMINATION, 2012

SANSKRIT

Special Paper IV

(2008 PATTERN)

      Texts :— vkRekukRefoosd (Atmanatmaviveka)

rdZlaxzg (Tarkasamgraha)

Time : Three Hours Maximum Marks : 80

1. (A) Explain with reference to the context any three of the

following : [15]

[kk«h«iSdh dks.kR;kgh frUghaps llanHkZ Li"Vhdj.k djk %

(i) vrks KkusuSo vKkufuo`fRr% A

(ii) viwoZrk rq izdj.kizfriknÓL;kf}rh;oLrqu% izek.kkUrjk fo"k;hdj.ke~ A

(iii) fotkrh;&nsgkfn&izR;;&jfgrkn~ fotkrh;&oLrq&ltkrh;&izR;;&izokgks

fufn/;klue~ A

(iv) voLFkk=;a uke tkxzr~&LoIu&lq"kqIr;% A

(v) fuR;foKkuekuUna cz„ jkfr nkrq% ijk;.kfefr ‹kzqrs% A

(B) Explain with reference to the context any three of the

following : [15]

[kk«h«iSdh dks.kR;kgh frUghaps Li"Vhdj.k djk %

(i) m".kLi'kZoRrst% A
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(ii) lq[kknÓqiyfC/klk/kufefUÊ;a eu% A

(iii) ‹kzks=xzkgÓks xq.kks 'kCn% A

(iv) fy≥~xa f=fo/ke~ A

(v) ekuO;ogkjklk/kkj.ka dkj.ka ifjek.ke~ A

2. Write an essay on the topic ‘Pancakosa’. [15]

^i¥pdks"k* ;k fo"k;koj lfoLrj fuca/k f«gk-

Or

(fdaok)

Explain fully the concept of ‘Sariratraya’.

^'kjhj=;* ladYiusps laiw.kZ Li"Vhdj.k djk-

3. Write an essay on the topic ‘Hetvabhasa’. [15]

^gsRokHkkl* ;k fo"k;koj lfoLrj fuca/k f«gk-

Or

(fdaok)

Write the benedictory verse of Tarkasangraha and explain it fully.

rdZlaxzgkps eax«kpj.k f«gwu rs lfoLrj Li"V djk-

4. Write critical notes on any two of the following : [10]

[kk«h«iSdh dks.kR;kgh nksgksaoj fpfdRld Vhik f«gk %

(i) Jo.ke~ A

(ii) lef"V and O;f"V A

lef"V vkf.k O;f"V-

(iii) i¥phdj.ke~ A
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5. Write critical notes on any two of the following : [10]

[kk«h«iSdh dks.kR;kgh nksgksaoj fpfdRld Vhik f«gk %

(i) ijRoa and vijRoe~ A

ijRoa vkf.k vijRoe~-

(ii) v;FkkFkkZuqHko% A

(iii) vHkko‹prqfoZ/k% A



Total No. of Questions—8] [Total No. of Printed Pages—4

Seat

No. [4201]-323

T.Y. B.A. EXAMINATION, 2012

ARDHAMAGADHI (Prakrit)

Paper G-II
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Texts :— (i)  Nalakaha—u«dgk-

    (ii)  Anjana Pavananjay Vuttantu—vatukiouat;oqŸkaŸkq-

Time : Three Hours Maximum Marks : 80

1. Translate any two of the following into English or Marathi :

[8]

[kk«h«iSdh dks.kR;kgh nksgksaps baxzthr fdaok ejkBhr Hkk"kkarj djk %

(i) rRFk #ºks dj/kfj;/k.kqck.kflY«sfga fHkY«sfgaA jga eqŸk.k <qDdks rk.k laeqgks djs.k

djok«a uPpko;arks u«ksA lhgLl o fl;k«kslq dks rqg beslq vD[ksoks \ Hkjgºfot;«PNh&

fo«klHko.ka rs fdok.kks fda u «Tt, beslq ilqik,lq igjarks \ fŸk Hk.karh,

Hkq;k, /kfjvks jga eqŸkw.k n;earh, u«ksA eqDdk ne;arh, lh«ekgIinqLlgk gqadkjkA

gfj.k Oo gjhfga xqatarsfga i.kÎk fnlksfnla fHkY«kA fHkY«fiÎvks u«s.k lea x;k

ne;arh nwjaA

(ii) HkwfelqŸka nV~Bw.k ne;afra fpafr;a rs.kµgk ! ne;arh ,xoRFkk ,xkfx.kh lqob lqUukjUusA

vgks ! u«Ll varsmja vlwfj;aiLlaA ee dEenksls.k bea voRFkk x;k ,lk

de««ks;.kk rk fda djsfe g;klks ∑ga \ v.kkga fio fi;;ea efgoh<«qf<;a

fiPNarks fo ta u fuY«Ttks fo«Ttkfe rk uw.ka oTt?kfMvksfEgA ,lk vjUus

e, eqDdk ifMcqºk lek.kh ee ikfMflfº, thfo,.kkfo eqfPpLlbA rk ibOo;a

,;a eqŸkw.k vUuRFk xarqa u mPNgb es e.kaA

P.T.O.
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(iii) rk.k /k.kqDdaBk.ka fpjkvks fef«;k.k u;.kuhjs.kA

fuoMars.k leark egh;«s dÌea tk;a˚

tm.k Oo t.gqdUua t.kf.ka vkf«afx≈.k ne;arhA

«Xxw.k t.kf.kdaBs foeqDddaBa fpja #;b˚

rks o;.kiad;kba t«s.k iD[kkf«≈.k foe«s.kA

vf[k«a fi lqD[knqD[ka ijksIija tafi;a rsfga˚

vg Hk.kb iqIQnarh vada vkjksfo≈.k ne;afraA

fnÎkfl ta ft;arh ra lqd;a tXx, vEg˚

2. Explain with reference to the context any two of the

following : [8]

[kk«h«iSdh dks.kR;kgh nksgksaps llanHkZ Li"Vhdj.k |k %

(i) lOoaxjD[k.kdj do;a lh«a fp; lbZ.kaA

(ii) ej.ka fo.kk nqgk.ka t«at«h tk;, dŸkksA

(iii) vfRFk gfRFkflD[kkfo;D[k.ka fdeUua fi foUuk.ka rs \

(iv) ufg vdfg;jksxLl jksfx.kks fpfxPNk dhjbA

3. Give the character sketch of the king Nala. [16]

u«jktkps O;fDrfp=.k djk-

Or

(fdaok)

Write about the ^u«dgkrhy vokarj dFkk*-

u«dgkrh« vokarj dFkkafo"k;h ekfgrh |k-

4. Give notes on any two of the following : [8]

[kk«h«iSdh dks.kR;kgh nksuoj Vhik f«gk %

(i) ne;arh Lo;aoj o`Ÿkkar

(ii) u«dFksrh« vn~Hkqr jl

Supernatural elements in u«dgk-

(iii) iapijesf"Bea=-
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5. Translate any one into English or Marathi : [8]

dks.kR;kgh ,dkps ejkBh fdaok baxzthe/;s Hkk"kkarj djk %

(i) isD[ksfIi.kq fxfj&dap.k&lqHkn~nqA ft.k&oan.k&nw:PNf«;&lÌq˚

lqjoj&l;&lso&djko.ks.kA ekfjfPp iiqfPNm jko.ks.k˚

^HkM&Hk¥t.k Hkqo.kqPNf«;&.kkeA mgq d«;«q lqEeb dkb° eke*˚

ra f.klq.ks° fo iHk.kb lej&/kh#A ^,gq tb .kkes.k v.kUroh:˚

nljg&Hkk;# v.kj..k&tkmA lgl;j&l.ksgsa rofl tkm˚

mIi..km ,;gks° ,RFkq .kk.kqA mgq nhlb nsokxeq l&tk.kq*˚

ra o;.kq lq.ksfIi.kq f.kfl;fjUnqA xm tsŸkgs° tsŸkgs° eqf.kofjUnq˚

ifj;¥pS°fo .kos°fo Fkq.ks°fo f.kfoÎA l;«q fo t.kq o;b° «;Urq fnÎq˚

 NŸkk&egko;b° dks fo dks fo v.kqo;b° dks fo flD[kko;b° xq.kOo;b°A

dks fo fn<q lEeŸkq «,fo fFkm ij jko.kq ,Ddq .k molfem˚

(ii) okjokj lksvkmj jksob vat.kkA ^dk fo .kkfg° eb° tsgh nqD[kg° Hkk;.kk˚

lklqv,° g;kl,° ifjgfo;A gk ek,° ib° fo .km laFkfo;˚

gk Hkkb&t.ksjgks° f.kÎqjgks°A .khlkfj; dg #;fUr iqjgks°˚

dq«gj&ibgjfg fe nb;gq feA iwjUrq e.kksjg lOogq fe*˚

xCHkslfj tm tm lapjbA rm rm #fgjgks° fNY«# Hkjb˚

frl&HkqD[k&fd«kfe; pŸk&lqgA x; rsRFkq tsRFkq if«;¡&xqg˚

rfg° fnÎq egkfjfl lqºebA .kkes.k HkMkjm ve;xb˚

vUrko.k&rkosa rkfo;mA NqMq ts° NqMq tksXxq [kEekfo;m˚

rfg° voljs° os fo i<qfDd;mA .ka nqD[k&fd«slfg° eqfDd;m˚

 NŸkk&p«.k .kosfIi.kq eqf.kojgks° v¥t.k fo..kob «qgfUr eqgqA

^v..k&HkoUrjs° dkb° eb° fdm nqfDdm ts° v.kqgofe nqgq*˚
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6. Explain with reference to the context any two : [8]

dks.kR;kgh nksgksaps llanHkZ Li"Vhdj.k djk %

(i) iq.kq olarek«k,° oqŸkq ^.km rsjmA ,m lOoq Q«q ,;gks° xCHkgks° dsjm˚

(ii) bgq vÎkom gksUrq .k fo rk oÍb vkfl ek,° fxf«;˚

(iii) iHkf.km igfl,W.k f.k,fo eqgq ^fda nqOof« gq;m dqekj rqgq*˚

(iv) fda o;.ksfg° ogq,fg° okfgjsfg° fjm jD[km fofg fe] «sfe fljb°˚

7. Write in detail about the subject matter and form of imepfjm.

[16]

imepfjmpk lkfgR;izdkj vkf.k fo"k;oLrw ;koj lfoLrj Vhi f«gk-

Or

(fdaok)

Character sketch of Anjana.

vatukps O;fDrfp=.k-

8. Give notes on any two : [8]

dks.kR;kgh nksgksaoj Vhik |k %

(i) izgflr

(ii) olarek«k

(iii) jko.k-
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1. Translate into English or Urdu or Marathi any two of the following

passages : [16]

 













P.T.O.
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  No.



  















 








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





2. (A) Explain with reference to the context any  four of the following

couplets : [8]

 



 



 



 



 


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 



 



(B) Write the short notes on any two of the following poets : [8]

 

 

 

 

3. (A) Explain with reference any one of the following Surahs : [8]

 

 

 

 
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(B) Summarise any two of the following lessons : [8]

 

 

 

 

4. Define with examples any two of the following topics : [16]

 

 

 

 

5. (A) Translate into English of the following passage : [8]








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(B) Translate into Arabic of the following passage : [8]

‘‘India is my country. It is a rich region. Her land is fertile and

good for agriculture. Her climate is moderate. Her sky is clear

and her resources are abundant. India is an industrial

country. Different industries are (found) in it in abundance. It

is considered to be one of the important industrial centres in

Asia. Its people are noble. They love the guest and treat the

poor generously. Our country is the biggest democracy in the

world.’’
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]-326

T.Y. B.A. EXAMINATION, 2012

ECONOMICS

(G-3 : Indian Public Finance)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Explain the difference between Private and Public Finance.

(ii) Explain the defects of Indian Tax System.

(iii) Explain the methods of repayment of public debt.

(iv) Explain the concept of Gender Budget.

2. Write notes on 100 words each (any four) : [20]

(i) Classification of Public Expenditure.

(ii) Taxable Capacity.

P.T.O.
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(iii) Revenue and Capital Budget.

(iv) Objectives of Deficit Financing.

(v) Centre-State Conflict.

(vi) Objectives of Fiscal Policy.

3. Answer the following questions in 200-250 words each

(any three) : [30]

(i) What is Public Finance ? Explain the scope of Public Finance.

(ii) Explain the sources of internal and external public debt.

(iii) Explain the preparation of Indian Central Budget.

(iv) What is Deficit Financing ? Explain the causes of Deficit

Financing.

(v) What is Fiscal Policy ? Explain the instruments of Fiscal

Policy.

4. Answer any one of the following questions in 500 words : [20]

(i) What is Public Expenditure ? Explain the causes of growth

of Public Expenditure in India.

(ii) Explain in detail the recommendations of 13th Finance

Commission.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.kR;kgh nksu) % [10]

(i) [kklxh o lkoZtfud vk;O;;krh« Qjd Li"V djk-

(ii) Hkkjrh; djO;oLFksps nks"k Li"V djk-

(iii) lkoZtfud dtZ ijrQsMhP;k iºrh Li"V djk-

(iv) f«axHkko (f«axk/kkfjr) vFkZladYikph ladYiuk Li"V djk-

2. izR;sdh 100 ðkCnkr Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) lkoZtfud [kpkZps oxhZdj.k-

(ii) djns; {kerk-

(iii) eglw«h o HkkaMo«h vFkZladYi-

(iv) rqVhP;k vFkZHkj.;kph mfÌ"Vs-

(v) dsaÊ&jkT; la?k"kZ-

(vi) jktdks"kh; /kksj.kkph mfÌ"Vs-
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3. [kk«h« izðukaph izR;sdh 200&250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) lkoZtfud vk;O;; Eg.kts dk; \ lkoZtfud vk;O;;kph O;kIrh Li"V

djk-

(ii) varxZr o ckgÓ lkoZtfud dtkZps lzksr Li"V djk-

(iii) Hkkjrh; dsafÊ; vFkZladYikph vk[k.kh (r;kjh) Li"V djk-

(iv) rqVhpk vFkZHkj.kk Eg.kts dk; \ rqVhP;k vFkZHkj.;kph dkj.ks Li"V djk-

(v) jktdks"kh; /kksj.k Eg.kts dk; \ jktdks"kh; /kksj.kkph lk/kus Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) lkoZtfud [kpZ Eg.kts dk; \ Hkkjrkrh« lkoZtfud [kpZ ok<hph dkj.ks Li"V

djk-

(ii) rsjkO;k foŸk vk;ksxkP;k fðkQkjlh lfoLrj Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]-327

T.Y. B.A. EXAMINATION, 2012

ECONOMICS

Special Paper III

(S-3 : International Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Explain the scope of International Trade.

(ii) Explain the concept of Intra-Industry trade.

(iii) Explain the concept of balance of trade.

(iv) State the merits of devaluation.

2. Write short notes on 100 words each (any four) : [20]

(i) Types of Quotas.

P.T.O.
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(ii) Importance of International Trade.

(iii) Objectives of World Bank.

(iv) Terms of Trade.

(v) Dynamic gains from International Trade.

(vi) Inter-regional Trade.

3. Answer the following questions in 200 to 250 words each

(any three) : [30]

(i) Explain briefly the theory of comparative cost.

(ii) Explain the arguments in favour of free trade policy.

(iii) Discuss the achievements of IMF.

(iv) Explain the role of Multinational Corporation in India.

(v) Explain the Foreign Trade Policy of 2009.

4. Answer any one of the following questions in 500 words : [20]

(i) Explain in detail Heckscher-Ohlin theory of International

Trade.

(ii) Explain the arguments in favour and against of Protected Trade

Policy.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) vkarjjk"V™h; O;kikjkph O;kIrh Li"V djk-

(ii) vkarj&m|ksx O;kikjkph ladYiuk Li"V djk-

(iii) O;kikjrks«kph ladYiuk Li"V djk-

(iv) voeqY;ukps xq.k lkaxk-

2. izR;sdh 100 ðkCnkar Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) dksVk fdaok okVÓkps izdkj-

(ii) vkarjjk"V™h; O;kikjkps egRo-

(iii) tkxfrd c°dsph mfÌ"VÓs-

(iv) O;kikjðkrhZ-

(v) vkarjjk"V™h; O;kikjkps xrhðkh« «kHk-

(vi) vkarj&izknsfðkd O;kikj-
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3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) rq«ukRed [kpZ «kHkkpk flºkar lfoLrj Li"V djk-

(ii) eqDr O;kikj /kksj.kkP;k cktqps ;qDrhokn Li"V djk-

(iii) vkarjjk"V™h; uk.ksfu/kh (IMF) P;k ;ðkkoj ppkZ djk-

(iv) Hkkjrkrh« cgqjk"V™h; daiU;kaph Hkwfedk Li"V djk-

(v) 2009 ps ijdh; O;kikj /kksj.k Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukaps mŸkj 500 ðkCnkar f«gk % [20]

(i) vkarjjk"V™h; O;kikjkpk gsDðkpj&vksgf«u flºkar lfoLrj foðkn djk-

(ii) lajf{kr O;kikj /kksj.kkP;k cktqps vkf.k fo#º ;qDrhokn Li"V djk-
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(iv) Use of calculator is allowed.

1. Answer the following (any two) : [10]

(i) What is hypothesis ?

(ii) What are the different types of data ?

P.T.O.
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(iii) Solve :

6x + 30 = 90 – 4x = ................. ?

(iv) Find simple interest on Rs. 1,000 for 4 yrs at 12% p.a. interest

rate.

2. Answer the following (any two) : [10]

(i) State the merits of Mode.

(ii) What are the different types of research ?

(iii) Solve :

330 y = 132000, y = ................. ?

(iv) The profit of a firm is divided between two partners, A and

B in the ratio 5 : 3. The total profit is Rs. 8,80,000. Calculate

the share of A and B.

3. Answer the following (any two) : [16]

(i) What are the merits and demerits of Arithmetic Mean ?

(ii) State and explain the sources of data collection.

(iii) Find compound interest on Rs. 5,000 for 3 yrs at 8% p.a.

interest rate.
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(iv) Monthly income (Rs.) of 10 families in a village is as

follows :

1200, 1100, 1000, 1250, 950, 1300, 1350, 1150, 1200, 1050

Find median and mode of this income distribution.

4. Answer the following (any one) : [14]

(i) Explain the objectives and steps involved in report writing.

What are the features of a good report ?

(ii) The following data refers to the age distribution of a group

of people :

Age Frequency

20—30 03

30—40 07

40—50 14

50—60 16

60—70 08

70—80 02

Find mean, median and mode for the above frequency distribution.
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(ejkBh :ikarj)

osˇ % nksu rkl ,dw .k xq.k % 50

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mŸkjs leiZd o eqÌslwn vlkohr-

(iii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iv) dWYD;q«sVj okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs f«gk (dks.krhgh nksu) % [10]

(i) x`ghrd Eg.kts dk; \

(ii) ekfgrhps fofo/k izdkj dks.krs \

(iii) lksMok %

6x + 30 = 90 – 4x = ................. ?

(iv) 1,000 #- jdesps 4 o"kkZlkBh n- lk- n- ðks- 12% njkus ljˇ O;kt

dk<k-

2. [kk«h« izðukaph mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) cgq«dkps xq.k f«gk-
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(ii) laðkks/kukps fofo/k izdkj dks.krs \

(iii) lksMok %

330 y = 132000, y = ................. ?

(iv) ,dk O;olk; laLFkspk uQk rhps Hkkxhnkj v o c ;kaP;ke/;s 5 : 3 ;k

izek.kkr okV«k tk.kkj vkgs- ,sdw.k uQk 8,80,000 #- vlY;kl] v o c

pk fgLlk fdrh \

3. [kk«h« izðukaph mŸkjs f«gk (dks.krhgh nksu) % [16]

(i) vadxf.krh; ljkljhps xq.k o nks"k f«gk-

(ii) ekfgrh lad«ukps fofo/k lzksr f«gk o Li"V djk-

(iii) 5,000 #- jdesps 3 o"kkZlkBh n- lk- n- ðks- 8% njkus pÿok< O;kt

dk<k-

(iv) ,dk xkokrh« 10 dqVwackps ekfld mRiUu (#-) [kk«h« izek.ks vkgs %

1200, 1100, 1000, 1250, 950, 1300, 1350, 1150, 1200, 1050

ojh« mRiUu forj.kkP;k e/;xk o cgq«d dk<k-

4. [kk«h« izðukaps mŸkj f«gk (dks.krkgh ,d) % [14]

(i) vgok« «s[kukph mfÌ"Vs o R;krh« ik;Ú;k f«gk- pkaxY;k vgok«kph oSfðk"VÓs

dks.krh \



[4201]-328 6

(ii) [kk«h« ekfgrh ,dk xVkP;k o;kph ekfgrh nðkZfors %

o; okjaokjrk

20—30 03

30—40 07

40—50 14

50—60 16

60—70 08

70—80 02

ojh« ekfgrho:u vadxf.krh; ljkljh] e/;xk o cgq«d dk<k-
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1. Solve any two of the following : [10]

(i) Simplify :

5 2

3/2 4

9

27

a b a

a b
.

(ii) Solve :

5
6

2
x - = .

P.T.O.
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(iii) Evaluate :

2/53125 .

(iv) In a given distribution, A.M. = 35, Median = 36. What is

Mode ?

2. Solve any four of the following : [20]

(i) Define standard normal deviate and state its importance.

(ii) Find the equation of the straight line passing through the points

(2, 7) and (3, –4).

(iii) Draw cumulative frequency curve (ogives) from the following

given data :

X F

10—20 17

20—30 73

30—40 91

40—50 122

50—60 204

60—70 204

70—80 25
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(iv) A college management wanted to give scholarships to B.A. students,

securing 60% and above in the following manner :

Percentage Marks Monthly Scholarship

(In Rs.)

60—65 25

65—70 30

70—75 35

75—80 40

80—85 45

The marks of 25 students, who are eligible for the scholarships

are given below :

75  62  84  72  61  83  72  81  64  71

63  61  60  67  74  66  64  79  73  75

76  69  68  78  67

Find the amount spent on scholarship per month.

(v) Evaluate the following limits :

3

2

8
lim

2x

x

x®

-

-
.
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(vi) Solve :

y = 0.07x

    y = 80 + 0.05x.

3. Solve any three of the following : [30]

(i) Draw the graph of the following functions :

y = 2x + 5.

(ii) Find the elasticity of demand of the function :

x = 50 – 2P at P = 10.

(iii) For a firm under perfect competition, it is given that :

P = 3 and 
215

C 100
1000

x
= +

Find the number of items to be produced to attain maximum

profit, also find the maximum profit.

(iv) Find the total revenue (TR) and deduce the demand function

if the marginal revenue (MR) is given as :

2

20
2

( 2)x
-

+
.
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(v) Calculate the range and coefficient of range of A’s monthly

earnings for a year (Earnings are in hundreds) :

Month Earnings

1 139

2 150

3 151

4 151

5 157

6 158

7 160

8 161

9 162

10 162

11 173

12 175

4. Solve any one of the following : [20]

(i) From the prices of shares of X and Y below, find out which

is more stable in value ?

X Y

34 108

54 107
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52 105

53 105

56 106

58 107

52 104

50 103

51 104

49 101

(ii) From the following data obtain the two regression equations :

Sales Purchase

91 71

97 75

408 69

121 97

67 70

124 91

51 39

73 61

111 80

57 47
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs leiZd o fcupwd vlkohr-

(iv) lk/ks x.ku;a= okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh nksu izðu lksMok % [10]

(i) ljˇ :i |k %

5 2

3/2 4

9

27

a b a

a b
.

(ii) lksMok %

5
6

2
x - = .

(iii) ewY; dk<k (laf{kIr :i |k) %

2/53125 .

(iv) fn«sY;k ekfgrhizek.ks ljkljh 35, e/;dk 36 vkgs] rj cgq«d dk<k-

2. [kk«h«iSdh dks.krsgh pkj lksMok % [20]

(i) ^izekf.kr ljˇ fop«u* O;k[;k djk o R;kps egŸo lkaxk-

(ii) (2, 7) vkf.k (3, –4) ;k fcnwae/kwu tk.kkÚ;k ljˇ js"ksps lehdj.k f«gk-
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(iii) fn«sY;k vkdMsokjho:u ladf«r okjaokfjrk dk<k (nksUgh) %

X F

10—20 17

20—30 73

30—40 91

40—50 122

50—60 204

60—70 204

70—80 25

(iv) ,dk egkfo|k«;kP;k O;oLFkkiukus 60% o R;kis{kk tkLr xq.k feˇfo.kkÚ;k

B.A. P;k fo|kF;kZuk fðk";o`Ÿkh ns.;kps [kk«h«izek.ks Bjfo«s %

xq.kkaph VDdsokjh efguk fðððððk";o`Ÿkh jDde

(#-)

60—65 25

65—70 30

70—75 35

75—80 40

80—85 45

25 fo|kF;kZuh [kk«h«izek.ks fðk";òŸkh fe w̌ ðkds« vls xq.k feˇfo«s vkgsr-

R;ko:u njegk fðk";o`Ÿkhoj gks.kkjk [kpZ dk<k %

75  62  84  72  61  83  72  81  64  71

63  61  60  67  74  66  64  79  73  75

76  69  68  78  67
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(v) [kk«h« inko«hph e;kZnk dk<k %

3

2

8
lim

2x

x

x®

-

-
.

(vi) lksMok %

y = 0.07x

    y = 80 + 0.05x.

3. [kk«h«iSdh dks.krsgh rhu lksMok % [30]

(i) [kk«h« Q«uko:u vk«s[k dk<k %

y = 2x + 5.

(ii) P = 10 vlrkuk x = 50 – 2P gs ekx.kh Q«u vkgs] R;ko:u «ofpdrk

dk<k-

(iii) iw.kZ Li/kkZ vl«sY;k cktkjkrh« O;olk; laLFksps lehdj.k P = 3 vlrkuk

215
C 100

1000

x
= +  vls vkgs- tkLrhr tkLr uQk gks.;klkBh fdrh uxla[;k

mRikfnr djkoh «kxs« \ rlsp tkLrhr tkLr uQk dk<k-

(iv) ,dw.k izkIrh (TR) vkf.k ekx.kh Qyukph deh dk<k tj lhekar izkIrh (MR)

fnysY;k vkgs %

2

20
2

( 2)x
-

+
.
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(v) ‘A’ P;k njegk feˇdrhpk rDrk [kk«h fn«k vkgs- R;ko:u feˇdrhpk vkokˇk

o vkokD;kpk lgxq.kd dk<k] (feˇdr ðkaHkjke/;s vkgs) %

efguk feˇdr

1 139

2 150

3 151

4 151

5 157

6 158

7 160

8 161

9 162

10 162

11 173

12 175

4. [kk«h«iSdh dks.krkgh ,d lksMok % [20]

(i) X vkf.k Y P;k ðksvlZP;k fdaerh [kk«h fnY;k vkgsr- R;kiSdh dks.krk ðksvj

fLFkj vkgs rs dk<k %

X Y

34 108

54 107

52 105
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53 105

56 106

58 107

52 104

50 103

51 104

49 101

(ii) [kk«h fn«sY;k vkdMsokjh o:u nksUgh izfrixeu lehdj.ks dk<k %

foÿh [kjsnh

91 71

97 75

408 69

121 97

67 70

124 91

51 39

73 61

111 80

57 47
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[4201]-329

(S-4 : Development and Environmental Economics)

(For External Students Only)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Explain the concept of Economic Development.

(ii) What are the problems of Population Explosion ?

(iii) State the importance of Land Reforms.

(iv) Explain the causes of Water Pollution.

2. Write short notes in 100 words each (any four) : [20]

(i) Critical Minimum Effort Theory.

(ii) Big Push.

(iii) Role of Industrialisation in Economic Development.
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(iv) Role of Monetary Policy in Developing Countries.

(v) Importance of Environment.

(vi) Types of Pollution.

3. Answer the following questions in 200 to 250 words each

(any three) : [30]

(i) Explain Schumpeter’s theory of Economic Development.

(ii) State and explain the Indicators of Economic Development.

(iii) Explain the causes of Low Productivity in Agriculture.

(iv) Discuss the role of Multinational Companies in Economic

Development.

(v) Explain the characteristics of Less Developed Countries.

4. Answer any one of the following questions in 500 words : [20]

(i) What is Economic Planning ? Explain the need and types of

Economic Planning.

(ii) State and explain the various obstacles to development and

growth.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) vkfFkZd fodklkph ladYiuk Li"V djk-

(ii) «ksdla[;k foLQksVkeqˇs dks.kR;k leL;k fuekZ.k >k«sY;k vkgsr \

(iii) tehu lq/kkj.kkps egRo lkaxk-

(iv) t« iznq"k.kkph dkj.ks Li"V djk-

2. izR;sdh 100 ðkCnkar laf{kIr Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) fu.kkZ;d fdeku iz;Ru flºkar-

(ii) izcˇ pk«uk fdaok tksjkpk /kDdk flºkar-

(iii) vkfFkZd fodklke/kh« vkS|ksxhdj.kkph Hkwfedk-

(iv) fodluðkh« nsðkke/kh« p«ufo"k;d /kksj.kkph Hkwfedk-

(v) i;kZoj.kkps egRo-

(vi) iznq"k.kkps izdkj-
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3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) vkfFkZd fodklkckcr ðkqEihVjpk flºkar Li"V djk-

(ii) vkfFkZd fodklkps funsZðkd lkaxk o Li"V djk-

(iii) ðksrhph vYi mRikndrsph dkj.ks Li"V djk-

(iv) vkfFkZd fodklkrh« cgqjk"V™h; daiU;kaph Hkwfedk ;koj ppkZ djk-

(v) vYifodflr nsðkkaph oSfðk"VÓs Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) vkfFkZd fu;kstu Eg.kts dk; \ vkfFkZd fu;kstukph vkoð;drk vkf.k izdkj

Li"V djk-

(ii) vkfFkZd fodkl vkf.k o`ºhrh« fofo/k vMFkˇs lkaxk vkf.k Li"V djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4201]-330

T.Y. B.A. EXAMINATION, 2012

POLITICS (G-3)

General Paper III

(India and The World)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) : [10]

(i) Objective of Non-alignment Movement (NAM)

(ii) N.P.T.

(iii) “Peaceful Co-existence”

(iv) Kashmir Issues.

2. Attempt any four questions (in 100 words each) : [20]

(i) Function of Security Council

P.T.O.
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(ii) “Shimla Treaty”

(iii) National Security

(iv) Terrorism

(v) India-USSR Friendship Treaty

(vi) W.T.O.

3. Attempt any three questions (in 200 to 250 words each) : [30]

(i) Explain the features of Non-Alignment Movement.

(ii) Explain composition, functions and powers of General Assembly

of the U.N.O.

(iii) Explain India-China relations.

(iv) Critically examine “India’s Nuclear Policy”.

(v) Explain the impacts of Globalization on India.

4. Attempt any one question (in 500 words) : [20]

(i) Discuss Pandit Nehru’s contribution to India’s Foreign

Policy.

(ii) Discuss India-US relations.



[4201]-330 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk % [10]

(i) vf«Irrkoknh pˇoˇhps mfÌ"VÓs

(ii) v.oL= pkp.kh canh djkj (N.P.T.)

(iii) ðkkarrke; lgftou

(iv) dkfðej izðu-

2. [kk«h«iSdh dks.kR;kgh pkj izðukaph mŸkjs izR;sdh 100 ðkCnkr f«gk % [20]

(i) lqj{kk eaMˇkps dk;sZ

(ii) fðke«k djkj

(iii) jk"V™h; lqj{kk

(iv) ngðkrokn

(v) Hkkjr&jfðk;k eS=h djkj

(vi) tkxfrd O;kikj la?kVuk-
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3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkr f«gk % [30]

(i) vf«Irrkoknh pˇoˇhph oSfðk"VÓs Li"V djk-

(ii) la;qDr jk"V™ la?kVusP;k vkelHksph jpuk] vf/kdkj o dk;sZ Li"V djk-

(iii) Hkkjr&phu laca/k Li"V djk-

(iv) HkkjrkP;k vkf.od /kksj.kkps ifj{k.k djk-

(v) tkxfrdhdj.kkps Hkkjrkoj >k«s«s ifj.kke Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) ia- usg:auh Hkkjrh; ijjk"V™ /kksj.kkl ds«sY;k ;ksxnkukph ppkZ djk-

(ii) Hkkjr&vesfjdk laca/k Li"V djk-



[4201]-330 5 P.T.O.

[4201]-330

Optional Paper

(International Organisations)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) : [10]

(i) Meaning of International Organisations

(ii) Objectives of W.T.O.

(iii) Objectives of SAARC

(iv) World Bank.

2. Attempt any four questions (in 100 words each) : [20]

(i) European Union

(ii) IAEA—International Atomic Energy Agency

(iii) G.A.T.T.

(iv) ASEAN

(v) Collective Security

(vi) UNESCO.
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3. Attempt any three questions (in 250 words each) : [30]

(i) State the aims of CTBT.

(ii) Explain Non-Governmental Organisations and Human Rights.

(iii) On what grounds expansion of permanent membership of UN

Security Council may be justified ?

(iv) Explain the functions of IMF.

(v) Discuss India’s role in ‘SAARC’.

4. Attempt any one question (in 500 words) : [20]

(i) Explain the role of U.N.O. regarding collective security.

(ii) Discuss the challenges before International Organisations.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-
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1. [kk«h«iSdh dks.krsgh nksu izðu lksMok (izR;sdh 50 ðkCnkar) % [10]

(i) vkarjjk"V™h; la?kVuspk vFkZ

(ii) vkarjjk"V™h; O;kikj la?kVusph mfÌ"Vs

(iii) lkdZ la?kVusph mfÌ"Vs

(iv) tkxfrd c°d-

2. [kk«h«iSdh dks.krsgh pkj izðu lksMok (izR;sdh 100 ðkCnkar) % [20]

(i) ;qjksfi;u la?k

(ii) vkarjjk"V™h; v.kq mtkZ ,talh

(iii) xWV djkj

(iv) nf{k.k&iwoZ vkfðk;k jk"V™kaph la?kVuk

(v) lkeqfgd lqjf{krrk

(vi) ;qusLdks-

3. [kk«h«iSdh dks.krsgh rhu izðu lksMok (izR;sdh 250 ðkCnkar) % [30]

(i) lh- Vh- ch- Vh djkjkph mfÌ"Vs lkaxk-

(ii) fcxj ðkkldh; la?kVuk vkf.k ekuoh gDd Li"V djk-

(iii) la;qDr jk"V™kP;k lqj{kk ifj"knspk foLrkj dj.;kps leFkZu dks.kR;k eqn~nÓkaoj

djrk ;sb«-
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(iv) vkarjjk"V™h; uk.ksfuf/kph dk;sZ Li"V djk-

(v) HkkjrkP;k ^lkdZ* ef/k« Hkwfedsph ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj f«gk (500 ðkCnkar) % [20]

(i) la;qDr jk"V™ la?kVusph lkewfgd lqjf{krrk lanHkkZrh« Hkwfedk Li"V djk-

(ii) vkarjjk"V™h; la?kVukiq<h« vkOgkukaph ppkZ djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]-331

T.Y. B.A. EXAMINATION, 2012

POLITICS

Special Paper III

(Introduction to Public Administration)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Nature of Public Administration

(ii) Hierarchy

(iii) Unity of command

(iv) Span of control.

2. Write short notes in 100 words each (any four) : [20]

(i) Lokpal (Ombudsman)

P.T.O.
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(ii) Meaning of Management

(iii) Co-ordination

(iv) Public Relations

(v) Similarities between Private administration and Public

administration

(vi) Meaning of Public Policy.

3. Answer the following questions in 200 to 250 words each (any three) : [30]

(i) State Traditional Approach of Public Administration.

(ii) Explain types of Line Agencies.

(iii) Explain concept of Recruitment and state types of Recruitment.

(iv) State the causes of to increase the Delegated Legislation.

(v) Discuss Governmental agencies of Public Policy.

4. Answer any one question in 500 words : [20]

(i) Explain Budgetary Process in India.

(ii) What is meant by Management ? Explain features of

Management.



[4201]-331 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(i) «ksdizðkklukps Lo:i

(ii) vf/kdkj inijaijk

(iii) vkKSD;

(iv) fu;a=.k d{kk-

2. dks.kR;kgh pkjoj FkksMD;kr fVik f«gk (izR;sdh 100 ðkCnkar) % [20]

(i) «ksdik«

(ii) O;oLFkkiukpk vFkZ

(iii) leUo;

(iv) «ksdlaidZ

(v) [kktxh izðkklu o «ksdizðkklu lkE;

(vi) lkoZtfud /kksj.kkpk vFkZ-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkai;±r f«gk % [30]

(i) «ksdizðkklukpk ikjaikfjd n`f"Vdksu lkaxk-
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(ii) js"kk la?kVusps izdkj Li"V djk-

(iii) Hkjrh ladYiuk Li"V d:u Hkjrhps izdkj lkaxk-

(iv) iznŸk fo/khfu;e ok<hph dkj.ks lkaxk-

(v) lkoZtfud /kksj.kkP;k ðkkldh; ek/;ekaph ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) Hkkjrkrh« vankti=dh; izfÿ;k Li"V djk-

(ii) O;oLFkkiu Eg.kts dk; \ O;oLFkkiukph oSfðk"Vs Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]-332

T.Y. B.A. EXAMINATION, 2012

POLITICS

Special Paper IV

(Political Concepts and Ideologies)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer  the following questions in 50 words each (any two) : [10]

(i) Political Obligation

(ii) Meaning of Liberty

(iii) Concept of Gram Swarajya

(iv) Nature of Feminism.

2. Write short notes in 100 words each (any four) : [20]

(i) Types of Equality

P.T.O.
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(ii) Neo-Liberal Concepts of State

(iii) Authority

(iv) Bhudan

(v) Democratic Socialism

(vi) Marxian Perspective of Feminism.

3. Answer the following questions in 200 to 250 words each (any three) : [30]

(i) Critically examine Marxian concept of State.

(ii) State power and authority and discuss relation between power

and authority.

(iii) Discuss the types of Democratic Socialism.

(iv) Explain the meaning, nature and elements of Nationalism.

(v) Define the meaning and features of Sarvodaya.

4. Answer any one question in 500 words : [20]

(i) Define the term of Liberty and Equality. Explain relationship

between Liberty and Equality.

(ii) State concept of Gram Swarajya and explain features of Gandhi’s

Gram Swarajya.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(i) jktdh; vkca/ku

(ii) Lokra´;kpk vFkZ

(iii) xzkeLojkT; ladYiuk

(iv) L=hoknkps Lo:i-

2. dks.kR;kgh pkjoj FkksMD;kr fVik f«gk (izR;sdh 100 ðkCnkar) % [20]

(i) lersps izdkj

(ii) uomnkjeroknh jkT;kph ladYiuk

(iii) vf/klŸkk

(iv) Hkwnku

(v) «ksdðkkgh lektokn

(vi) fL=oknkpk ekDlZoknh n`"Vhdksu-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkai;±r f«gk % [30]

(i) ekDlZoknh jkT;kP;k ladYiusps fpfdRld ijh{k.k djk-
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(ii) lŸkk o vf/klŸkk ladYiuk lkaxwu R;kaP;k ijLij laca/kkaph ppkZ djk-

(iii) «ksdðkkgh lektoknkP;k izdkjkaph ppkZ djk-

(iv) jk"V™oknkpk vFkZ] Lo:i vkf.k ?kVd Li"V djk-

(v) loksZn; ladYiuspk vFkZ lkaxwu oSfðk"Vs f«gk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukaps mŸkj 500 ðkCnkar f«gk % [20]

(i) Lokra´; o lerk ;k ladYiukP;k O;k[;k f«gk vkf.k Lokra´; o lerk ;krh«

ijLij laca/k Li"V djk-

(ii) xzkejkT; ladYiuk lkaxwu xka/khthaP;k xzkejkT;kph oSfðk"Vs Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]-333

T.Y. B.A. EXAMINATION, 2012

HISTORY

General Paper III

[History of the Maratha (1630 to 1818)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Explain the concept of ‘Warkari’.

(ii) State the meaning of ‘Shivmudra’.

(iii) Explain the concept of ‘Mirasdar’.

(iv) Explain the concept of ‘Brahmasabha’.

2. Write short notes in about 100 words each (any four) : [20]

(i) ‘Bakhar’ as Historical Sources.

(ii) Relation between Chh. Sambhaji and Akbar.

P.T.O.
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(iii) Council of Eight Ministers.

(iv) Fort administration under Royal period.

(v) Gota Sabha.

(vi) Carnival and Festival under the Peshwa.

3. Answer the following questions in 250 words each (any three) : [30]

(i) Explain the background of the rise of Maratha Power.

(ii) Explain the significance of coronation of Chh. Shivaji Maharaj.

(iii) Bring out the achievement of Maharani Tarabai in the Maratha

War of Independence.

(iv) To what extent was Bajirao II responsible for the downfall

of the Maratha Power ?

(v) Analyse the women’s life under the Peshva.

4. Answer the following question in 500 words (any one) : [20]

(i) Explain the causes and consequences of sack of Surat.

(ii) Bring out the achievement of Balaji Vishwanath in Maratha

History.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkr mŸkjs f«gk (QDr nksu) % [10]

(i) ^okjdjh* ladYiuk Li"V djk-

(ii) ^fðkoeqÊspk* vFkZ lkaxk-

(iii) ^fejklnkj* gh ladYiuk Li"V djk-

(iv) ^cz„lHkk* gh ladYiuk Li"V djk-

2. izR;sdh 100 ðkCnkr fVik f«gk (QDr pkj) % [20]

(i) ^c[kj* ,d ,sfrgkfld lk/ku-

(ii) N=irh laHkkth&vdcj laca/k-

(iii) v"Viz/kku eaMˇ-

(iv) fðkodk«hu fdY«s izðkklu-

(v) xksrlHkk-

(vi) isðkosdk«hu l.k vkf.k mRlo-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkr mŸkjs f«gk (QDr rhu) % [30]

(i) ejkBh lŸksP;k mn;kph ikðoZHkweh Li"V djk-
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(ii) fðkojkT;kfHk"ksdkps egRo foðkn djk-

(iii) ejkBÓkaP;k Lokra´;;qºkrh« egkjk.kh rkjkckbZP;k dkefxjhpk vk<kok ?;k-

(iv) ejkBh lŸksP;k irukl nqljk ckthjko fdrir tckcnkj gksrk \

(v) isðkosdk«hu L=h thoukps foð«s"k.k djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkr mŸkjs f«gk % [20]

(i) lqjr «qVhph dkj.ks o ijh.kke Li"V djk-

(ii) ejkBÓkaP;k bfrgklkrh« ckˇkth foðoukFkkaP;k dkefxjhpk vk<kok ?;k-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4201]-334

T.Y. B.A. EXAMINATION, 2012

HISTORY

Special Paper III

[History of Medieval India (1206-1707 A.D.)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Write a note on Razia Sultan.

(2) Explain the social structure of Sultanate period.

(3) What was the Mughal Emperor Akbar’s theory of Kingship ?

(4) Discuss the literature of the Mughal period.

2. Write short notes in 100 words each (any four) : [20]

(1) Written sources of Sultanate period.

(2) Sultan Iltutmish.

(3) Economic life during Sultanate period.

(4) Write a note on ‘Krishna Deva Raya’.

(5) Write a note on Life of women during Mughal period.

(6) Architecture of Mughal period.
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3. Answer the following questions in 250 words each (any three) : [30]

(1) Explain your views on the experiments done by Mohammad-

bin-Tughlak.

(2) Write broadly about ‘Bhakti Movement’.

(3) Evaluate the role played by Babur as the founder of Mughal

Empire.

(4) Explain the Religious Policy of Aurangzeb.

(5) Discuss the Trade and Industry during Mughal period.

4. Answer the following question in 500 words (any one) : [20]

(1) Evaluate Military Administration and Economic Reforms of Ala-

ud-din Khalji.

(2) Write about Central and Provincial Administration during

Mughal period.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) fVi f«gk % jf>;k lq«rku-

(2) lq«rkuðkkgh dk«hu lekt jpuk Li"V djk-

(3) eq?k« lezkV vdcjpk jktinkpk flºkar dk; gksrk \

(4) eq?k«dk«hu lkfgR;kph ppkZ djk-
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2- [kk«h« izðukaph izR;sdh 100 ðkCnkar Vhik f«gk (dks.krsgh pkj) % [20]

(1) lqyrkuðkkgh dk«hu f«f[kr lk/kus

(2) lqyrku vYreðk

(3) lqyrkuðkkgh dk«hu vkfFkZd thou

(4) œ".k nso jk; ;koj fVi f«gk

(5) eq?k«dk«hu L=h thou ;koj fVi f«gk

(6) eq?k«dk«hu LFkkiR;d«k-

3- [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) egaen&chu&rq?k«dkus vaeˇkr vk.k«sY;k iz;ksxkckcr rqeph ers ekaMk-

(2) HkDrh pˇoˇ ;k fo"k;h lfoLrj ekfgrh foðkn djk-

(3) eq?k« lkezkT;kpk laLFkkid ;k ukR;kus ckcjP;k dkefxjhps eqY;ekiu djk-

(4) vkSjaxtsckps /kkfeZd /kksj.k Li"V djk-

(5) eq?k«dk«hu O;kikj o m|ksxkaph ppkZ djk-

4- [kk«h« izðukaps 500 ðkCnkar mŸkjs f«gk (dks.kRkkgh ,d) % [20]

(1) lq«rku vY«kmÌhu f[k«thps «"djh izðkklu vkf.k vkfFkZd lq/kkj.kkps ijh{k.k

djk-

(2) eq?k«dk«hu dsaÊh; o izkafrd izðkklu O;oLFksfo"k;h ekfgrh f«gk-



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—4+2

Seat

No. [4201]-335

T.Y. B.A. EXAMINATION, 2012

HISTORY

Special Paper IV

History of Transformation in Modern

Maharashtra (1818-1960)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) State the nature of Saint movement.

(2) Give information about Nashik Conspiracy.

(3) Give work of Pandita Ramabai.

(4) What was Pune Pact ?

2. Write short notes in 100 words each (any four) : [20]

(1) Elphinston’s Code

(2) Rise of Ramoshi

(3) Indira Gandhi and Samyukta Maharashtra movement

(4) Wood’s Dispatch

(5) Depressed classes Mission

(6) Literature of Mahatma Phule.
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3. Answer the following questions in 250 words each (any three) : [30]

(1) Write V.K. Rajwade’s opinion about ‘Maharashtra dharma’.

(2) Write Drain Theory of Dadabhai Naoroji.

(3) Explain the contribution of Maharashtra to Civil Disobedience

Movement.

(4) Explain the principles and work of Prarthana Samaj.

(5) Write about Peasant Movement led by Communist Party.

4. Answer the following question in 500 words (any one) : [20]

(1) Explain the contribution of the Non-Brahmin Movement to the

reformism pertaining to caste.

(2) Discuss the various organs of Co-operative Movement.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) lar pˇoˇhps Lo:i lkaxk-

(2) ukfðkd dVkph ekfgrh |k-

(3) iafMrk jekckbZ ;kaps dk;Z lkaxk-

(4) iq.ks djkj dk; gksrk \
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2- izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) ,«fQULVuph dk;nslafgrk

(2) jkeks'kkapk mBko

(3) bafnjk xka/kh o la;qDr egkjk"V™ pˇoˇ

(4) oqMpk [k«hrk

(5) fujkfJr lk·dkjh laLFkk

(6) e- Qq«saps lkfgR;-

3- [kk«h« izðukapah izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) fo-dk- jktokMs ;kaps ^egkjk"V™ /keZ* ;kckcr er lkaxk-

(2) nknkHkkbZ ukSjksth ;kapk fu%lkj.kkapk flºkar f«gk-

(3) egkjk"V™kr lfou; dk;nsHkax pˇoˇhpk lgHkkx Li"V djk-

(4) izkFkZuk lektkph rRos o dk;Z Li"V djk-

(5) lkE;oknh i{kkP;k usr`Rok[kk«h« ðksrdjh pˇoˇh cÌ« f«gk-

4- [kk«h« izðukps 500 ðkCnkar mŸkj f«gk (dks.kRkkgh ,d) % [20]

(1) tkrhfo"k;d lq/kkj.kkoknkP;k ckcr czk„.ksŸkj pˇoˇhps ;ksxnku Li"V djk-

(2) lgdkj pˇoˇhP;k fofo/k ?kVd laLFkkaph ppkZ djk-
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[4201]-335

History of Modern China and Japan

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) What is meant by ‘Open Door Policy’ ?

(2) Write the objectives of the first five year plan in China.

(3) Discuss the social reforms in Japan during the period of Meiji

Restoration.

(4) Evaluate the Washington Conference.

2. Write short notes in 100 words each (any four) : [20]

(1) Boxer Rebellion

(2) Political Philosophy of Dr. Sun-Yat-Sen

(3) Yuhan-Shih-Kai

(4) Comodor Peri

(5) Anglo-Japanese Alliance (1902)

(6) Rome-Berlin-Tokyo Axis.

3. Answer the following questions in 250 words each (any three) : [30]

(1) Write the causes and consequences of first opium war in

China.
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(2) Review the conflict between Chiang Kai-shek and Mao-Tse-

Tung.

(3) Explain the role played by ‘Zaibatsu’ in the modernisation of

Japan.

(4) Describe the role played by Japan in the World War I.

(5) State the causes of the rise of Militarism in Japan.

4. Answer the following question in 500 words (any one) : [20]

(1) Describe the role played by Gen. Mac Arthur in the reconstruction

of Japan.

(2) Explain the causes and consequences of the Revolution of

China in 1911.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iz'ukaps iw.kZ xq.k nðkZforkr-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) ^eqDr }kj /kksj.k* Eg.kts dk; \

(2) fpuP;k ifgY;k iapokf"kZd ;kstusph mfÌ"VÓs f«gk-

(3) esbZth iquLFkkZiuk dkˇkrh« tikue/kh« lkekftd lq/kkj.kkaph ppkZ djk-

(4) okfðkaXVu ifj"knsps eqY;ekiu djk-
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2- izR;sdh 100 ðkCnkar Vhik f«gk (dks.krsgh pkj) % [20]

(1) ckWDlj caM

(2) MkW- lu&;r&lsu ;kaps jktdh; rRoKku

(3) ;qoku&fðk&dkbZ

(4) deksMksj isjh

(5) bX«aM&tiku djkj (1902)

(6) jkse&cf«Zu&Vksdh;ks v{k-

3- [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) fpue/kh« ifgY;k vQq ;qºkph dkj.ks o ifj.kke f«gk-

(2) p°x&dkbZ&ðksd o ekvks&Rls&rqax ;kaP;krh« la?k"kkZpk vk<kok ?;k-

(3) tikuP;k vk/kqfudhdj.kkr >k;&cRlqauh ctko«s«h Hkwfedk Li"V djk-

(4) tikuus ifgY;k egk;qºkr ctko«sY;k Hkwfedsps o.kZu djk-

(5) tikue/kh« «"djoknkP;k mn;kph dkj.ks lkaxk-

4- [kk«h« izðukps mŸkj 500 ðkCnkar fygk (dks.kRkkgh ,d) % [20]

(1) tikuP;k iqujZpuslkBh t- eWd vkWFkZjus ctko«sY;k Hkwfedsps o.kZu djk-

(2) 1911 P;k fpue/kh« ÿkarhph dkj.ks o ifj.kke Li"V djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4201]-336

T.Y. B.A. EXAMINATION, 2012

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY

(General Paper III)

(Outline of Religion and Philosophy)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Gods and Goddesses in Atharvaveda.

(2) Concept—‘Upanishadas’

(3) ‘Jina’-‘Jaina’ meaning of the terms

(4) Four Noble Truths (Chattari Ariyasacchani).

2. Write notes on the following in 100 words each (any four) : [20]

(1) Aranyakas

(2) Composition of Ramayana

(3) Chaturyama Cult

(4) Buddhist ‘Shikshapadas’

(5) Virashaiva Cult

(6) The Ajivakas.
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3. Answer of the following questions in 200 to 250 words each (any

three) : [30]

(1) Discuss the types of Yajna (sacrifice) in Brahmana works.

(2) Explain the ‘Karmayoga’ in Bhagvadgita.

(3) State the main teachings of Bhagwan Mahavira.

(4) Explain the difference between the Hinayana (Sthaviravadin)

and Mahayana Cults.

(5) What do you know about the philosopher ‘Sanjay Belattiputra’ ?

4. Answer the following question in 500 words (any one) : [20]

(1) Describe the classification of Rigvedic gods by Mores Bloomfield

with examples.

(2) Discuss the main philosophy of the ‘Lokayatikas’.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iz'ukps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) vFkoZosnkrh« nsonsork-

(2) ^mifu"kns* gh ladYiuk-

(3) ^ftu*&^tSu* ;k laKkapk vFkZ-

(4) pkj vk;ZlR;s (pRrkfj vfj;lPpkfu)-
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2- izR;sdh 100 ðkCnkar Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) vkj.;ds

(2) jkek;.kkph jpuk

(3) pkrq;kZe laiznk;

(4) ckSn~/k fðk{kkins

(5) ohjðkSo laiznk;

(6) vkthod-

3- [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) czk„.k xzaFkkrh« ;KkP;k izdkjkaph ppkZ djk-

(2) Hkxon~xhrsrh« ^deZ;ksx* Li"V djk-

(3) Hkxoku egkohjkaph izeq[k fðkdo.k lkaxk-

(4) ghu;ku (LFkfojoknh) vkf.k egk;ku ;k laiznk;kae/kh« Qjd Li"V djk-

(5) ^lat; cs«VB~hiq=* ;k rRoKkfo"k;h rqEgkal dk; ekfgrh vkgs \

4- [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) ekWjsl~ C«wefQYM ;kus ds«s«s ΩXosnh; nsorkaps oxhZdj.k mnkgj.kkalg o.kZu

djk-

(2) ^«ksdk;frdkaP;k* izeq[k rRoKkukph ppkZ djk-
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4201]-337

T.Y. B.A. EXAMINATION, 2012

ANTHROPOLOGY

(G-3 : Maharashtra : A Cultural Region)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in 50 words each : [10]

(1) Write the meaning of Maharashtra Dharma.

(2) What is cottage industry ?

(3) State the meaning of Balutedari.

(4) Give the importance of Nanded Gurudwara.

2. Write short notes on any four of the following in 100 words

each : [20]

(1) The Warkari Cult.

(2) Kokan : A cultural region.

(3) Marathi Language : Dialectical Variation.

(4) Traditional folk dance : Lavani.

(5) Ek Gaon : Ek Panvatha.

(6) Contribution of Vir Savarkar.
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3. Answer any three of the following in 250 words each : [30]

(1) Explain the contribution of Mahatma Jyotiba Phule in Social

Reform Movement.

(2) Describe the work of Dhondo Keshav Karve about women’s

education.

(3) Elaborate the political contribution of Lokmanya Tilak.

(4) Review the Dalit Panther Movement in short.

(5) Explain the nature of Industrialization in Maharashtra.

4. Answer any one of the following in 500 words : [20]

(1) Explain the contribution of Dr. B.R. Ambedkar in Social Reform

Movement.

(2) Discuss the brief history of Maharashtra.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iz'ukps laiw.kZ xq.k nðkZforkr-

1- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkai;±r fygk % [10]

(1) egkjk"V™ /kekZpk vFkZ f«gk-

(2) dqVhj mnÓksx Eg.kts dk; \

(3) c«qrsnkjhpk vFkZ lkaxk-

(4) ukansM xq#}kjkps egRo lkaxk-
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2- [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkai;±r Vhik f«gk % [20]

(1) okjdjh lkaiznk;-

(2) dksd.k % ,d lkaLœrhd iznsðk-

(3) ejkBh cks«hHkk"ksrh« fooh/krk-

(4) ikjaikfjd «ksdu`R; % «ko.kh-

(5) ,d xko % ,d ik.koBk-

(6) ohj lkojdjkaps ;ksxnku-

3- [kk«h«iSdh dks.kR;kgh rhu iz'ukaph izR;sdh 250 ðkCnkai;±r mŸkjs f«gk % [30]

(1) lkekftd lq/kkj.kk pˇoˇhrh« egkRek T;ksrhck Qq«s ;kaps ;ksxnku Li"V djk-

(2) L=h&fðk{k.kklaca/kh /kksaMks dsðko doZs ;kaps dk;Z foðkn djk-

(3) «ksdekU; fVˇdkaP;k jktfd; ;ksxnkukps o.kZu djk-

(4) nf«r i°Fkj pˇoˇhpk laf{kIr vk<kok ?;k-

(5) egkjk"V™krh« vkSnÓksxhdj.kkps Lo:i Li"V djk-

4- [kk«h«iSdh dks.kR;kgh ,dk iz'ukps 500 ðkCnkar mŸkj f«gk % [20]

(1) MkW- ch-vkj- vkacsMdjkps lkekftd lq/kkj.kk pˇoˇhrh« ;ksxnku Li"V djk-

(2) egkjk"V™kP;k bfrgklkph FkksMD;kr ppkZ djk-
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Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4201]-338

T.Y. B.A. EXAMINATION, 2012

GEOGRAPHY (G-3)

Gg-310 : Geography of Tropical Agriculture

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map-stencils is allowed.

1. Answer the following questions in about 20 words each (any ten) : [20]

(1) State the latitudinal extension of Tropical region.

(2) Define irrigation.

(3) What is Agricultural Marketing ?

(4) Give two objectives of Watershed Management.

(5) What is recent approach ?

(6) What is drought ?

(7) Define dryland farming.

(8) Name any two states of Tissue culture practices.

(9) What is meant by Agro-Tourism ?

(10) Name the four crops of mixed agriculture.

(11) Name any two vegetable pesticides.

(12) Give the long form of GIS and GPS.

(13) Name any two perishable crops.
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2. Write notes on the following in about 50 words each (any two) : [10]

(1) Drip irrigation.

(2) Intensive subsistence farming.

(3) Tissue culture.

(4) Food security.

3. Answer the following questions in about 150 words each (any two) : [20]

(1) Explain the importance of agriculture in Indian economy.

(2) Describe various physical determinants influencing Tropical

Agriculture.

(3) Discuss various methods of watershed management.

(4) “Dairy farming is supporting factor in agricultural development.”

Discuss.

4. Answer the following questions in about 300 words each (any two) : [30]

(1) Describe the nature, scope and significance of Agricultural

Geography.

(2) Explain the importance of irrigation in Tropical Agriculture.

(3) Explain the importance of polyhouse and food-processing in

the agricultural development.

(4) Discuss the role of organic farming and crop rotation in the

sustainable agricultural development.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) udkðkk LVsfUly okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph izR;sdh lqekjs 20 ðkCnkar mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) m".kdfVca/kkpk v{ko`Rrh; foLrkj lkaxk-

(2) t«flapukph O;k[;k |k-

(3) œ"kh foi.ku Eg.kts dk; \

(4) t« la/kkj.kkps nksu mfÌ"VÓs lkaxk-

(5) vk/kqfud vH;kl iºr Eg.kts dk; \

(6) vo"kZ.k Eg.kts dk; \

(7) dksjMokgq ðksrhph O;k[;k |k-

(8) mrh lao/kZu dj.kkjh nksu jkT; lkaxk-

(9) œ"kh i;ZVu Eg.kts dk; \

(10) feJ ðksrhrh« pkj fidkaph ukos lkaxk-

(11) ouLirhtU; fdMukðkdkaph nksu ukos lkaxk-

(12) th-vk;~-,l~- o th-ih-,l- ps foLrkjhr :i lkaxk-

(13) uk'koar ihdkaph dks.krsgh nksu ukos lkaxk-

2- izR;sdh lqekjs 50 ðkCnkar Vhik f«gk (dks.krsgh nksu) % [10]

(1) fBcd flapu-
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(2) l?ku fuokZgh 'ksrh-

(3) mrh lao/kZu-

(4) vUu lqj{kk-

3- [kk«h« izðukaph izR;sdh lqekjs 150 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) Hkkjrh; vFkZO;oLFksrh« ðksrhps egRo Li"V djk-

(2) m".kdfVca/kh; ðksrhoj ijh.kke dj.kkÚ;k fofo/k izkœfrd ?kVdkaps o.kZu

djk-

(3) ik.k«ksV {ks= O;oLFkkiukP;k fofo/k iºrhaph ppkZ djk-

(4) flœ"kh fodklke/ks nqX/kO;olk; iqjd ?kVd vkgs-fi ppkZ djk-

4- [kk«h« izðukaph izR;sdh lqekjs 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) œ"kh Hkwxks«kps Lo:i] O;kIrh o egRo ;kps o.kZu djk-

(2) m".kdfVca/kh; ðksrh e/kh« t« flapukps egRo Li"V djk-

(3) œ"kh fodklke/ks ikW«hgkml o vUu&izfÿ;k ;kaps egRo Li"V djk-

(4) ðkkðor ðksrh fodklke/ks lsafÊ; ðksrh vkf.k ihd Qsjik«V ;kaP;k Hkwfedsph

ppkZ djk-
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[4201]-338

Gg-310 : Geography of Travel and Tourism

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map-stencils is allowed.

1. Answer the following questions in about 20 words each (any ten) : [20]

(1) What is Tourism ?

(2) Give any two criteria on which the tourists are divided into

different types.

(3) What do you mean by the relative location of the tourist

place ?

(4) What is adventure tourism ?

(5) Name any two historical factors that attract the tourist.

(6) Name any two sanctuaries of Maharashtra.

(7) Name any two factors that influence the choice of the mode

of transport.

(8) Give the full form of I.T.D.C.

(9) Mention any two cultural impacts of tourism.

(10) In which states Mahabaleshwar and Agra are located ?
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(11) What are the main attractions of the tourist place

Dive-Agar ?

(12) What do you mean by national level tourism planning ?

(13) Why is tourism called an invisible export ?

2. Write notes in about 50 words each (any two) : [10]

(1) Agro-tourism.

(2) Advantages of Rail transport.

(3) Tourism and Language.

(4) Tourism and Coastal Pollution.

3. Answer the following questions in about 150 words each (any two) : [20]

(1) Explain beginning and growth of tourism.

(2) Explain various types of accommodation.

(3) Explain an economic importance of tourism.

(4) Give an account of the Health Tourism.

4. Answer the following questions in about 300 words each (any two) : [30]

(1) Explain the various physical factors affecting on tourism

development.

(2) Explain the various types of tourists.

(3) Explain the cultural and environmental impacts of tourism.

(4) Describe Shirdi and Taj Mahal as a tourist place.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) udkðkk LVsfUl« okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph mŸkjs izR;sdh 20 ðkCnkr f«gk (dks.krsgh ngk) % [20]

(1) i;ZVu Eg.kts dk; \

(2) i;ZVdkaph foHkkx.kh dj.kkjs dks.krsgh nksu fud"k lkaxk-

(3) i;ZVu LFkˇkaps lkis{k LFkku Eg.kts dk; \

(4) lkglh i;ZVu Eg.kts dk; \

(5) i;ZVdkauk vkdf"kZr dj.kkjs dks.krsgh nksu ,sfrgkfld ?kVd lkaxk-

(6) egkjk"V™krh« nksu vHk;kj.;s lkaxk-

(7) okgrwd ek/;ekaP;k fuoMhoj izHkko Vkd.kkjs nksu ?kVd f«gk-

(8) I.T.D.C. ps iw.kZ :i f«gk-

(9) i;ZVukps dks.krsgh nksu lkaLœfrd ifj.kke lkaxk-

(10) egkcˇsðoj o vkxzk dks.kR;k jkT;kr vkgsr \

(11) fnos&vkxkj ;k i;ZVu LFkˇkph eq[; vkd"kZ.ks dks.krh \

(12) jk"V™h; Lrjkojh« i;ZVu fu;kstu Eg.kts dk; \

(13) i;ZVuk«k vn`"; fu;kZr vls dk Eg.krkr \

2- izR;sdh lqekjs 50 ðkCnkar Vhik f«gk (dks.krsgh nksu) % [10]

(1) œ"kh i;ZVu
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(2) jsYos okgrqdhps Qk;ns

(3) i;ZVu o Hkk"kk

(4) i;ZVu vkf.k lkxjfdukjh; iznw"k.k-

3- [kk«h« izðukaph mŸkjs izR;sdh 150 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(1) i;ZVukph lq#okr vkf.k ok< Li"V djk-

(2) fuokl O;oLFksps fofo/k izdkj Li"V djk-

(3) i;ZVukps vkfFkZd egRo Li"V djk-

(4) vkjksX; i;ZVukpk o`Ÿkkar f«gk-

4- [kk«h« izðukaph mŸkjs izR;sdh 300 ðkCnkar f«gk (dks.krsgh nksu) % [30]

(1) i;ZVu fodklkoj ifj.kke dj.kkjs izkœfrd ?kVd Li"V djk-

(2) i;ZVdkaps fofo/k izdkj Li"V djk-

(3) i;ZVukps lkaLœfrd o i;kZoj.kh; ifj.kke Li"V djk-

(4) i;ZVu LFkˇ Eg.kwu fðkMhZ o rktegk« ps o.kZu djk-



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4201]-339

T.Y. B.A. EXAMINATION, 2012

GEOGRAPHY (S-3)

Gg-320 : Contemporary Issues and Geography

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer the following questions in about 20 words each (any ten) : [20]

(1) What is Greenhouse effect ?

(2) What is water politics ?

(3) Define the study of contemporary issues.

(4) What is the concept of unemployment ?

(5) What is weathering ?

(6) Write the types of earthquake waves.

(7) Write any two examples of exhaustible resources.

(8) Give any two symptoms of AIDS.

(9) What is ‘Tsunami’ ?

(10) Write the definition of ‘Migration’.

(11) Write any two main causes of marine pollution.

(12) Name any two Naxalite districts in Maharashtra.

(13) Write any two names of Indian Missiles.
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2. Answer the following questions in about 50 words each (any two) : [10]

(1) Types of Landslide.

(2) Write the causes of epidemics.

(3) Indian Poverty.

(4) Causes of religious conflicts.

3. Answer the following questions in about 150 words each (any two) : [20]

(1) Discuss the causes and effects of ‘Global Warming’.

(2) Write an adverse effect of ‘Nuclear Weapons’.

(3) Explain the effects of ‘Liberalization’.

(4) What is meant by El-Nino ? Explain the relation between

‘El-Nino’ with reference to Indian climate.

4. Answer the following questions in about 300 words each (any two) : [30]

(1) Explain in detail of river water dispute of Indus and Ganga.

(2) Explain the causes and effects of overpopulation.

(3) Define the conflicts of race. Discuss the causes and effects

of conflicts due to race.

(4) Explain the types of migration with reference to time and

distance.



[4201]-339 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) udkðkk LVsfUlYl okij.;kl ijokuxh vkgs-

1- [kk«h« izðukaph izR;sdh lqekjs 20 ðkCnkr mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) gfjrx`g ifj.kke Eg.kts dk; \

(2) ik.;kps jktdkj.k Eg.kts dk; \

(3) l|%dk«hu ?kMkeksMhpk vH;kl Eg.kts dk; \

(4) csdkjhph ladYiuk lkaxk-

(5) fonkj.k Eg.kts dk; \

(6) Hkwdai«gjhps izdkj dks.krs \

(7) foukðkh lk/kulaiŸkhps nksu mnkgj.ks lkaxk-

(8) ,Ml~ vktkjkph dks.krhgh nksu «{k.ks lkaxk-

(9) ^Rlqukeh* Eg.kts dk; \

(10) LFk«karjkph O;k[;k f«gk-

(11) lkxjt« iznw"k.kkph dks.krhgh nksu dkj.ks f«gk-

(12) egkjk"V™krh« nksu u{k«xzLr ftYgÓkph ukos lkaxk-

(13) Hkkjrh; {ksi.kkL=kph nksu ukos f«gk-
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2- [kkyhy iz'ukaph izR;sdh lqekjs 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) Hkwfeikrkps izdkj-

(2) lkFkhP;k jksxkph dkj.ks-

(3) Hkkjrkrhy nkfjÊÓ-

(4) /kkfeZd la?k"kkZph dkj.ks-

3- [kk«h« izðukaph izR;sdh lqekjs 150 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) rkieku ok<hph dkj.ks o ifj.kke f«gk-

(2) v.oL= fufeZrhps nq"ifj.kke lkaxk-

(3) mnkjhdj.kkps ifj.kke Li"V djk-

(4) ^,«&fuuks* Eg.kts dk; \ ,y&fuukspk Hkkjrh; gokekukðkh vl«s«k

laca/k Li"V djk-

4- [kk«h« izðukaph izR;sdh lqekjs 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) fla/kw vkf.k xaxk t«okn lfoLrj o.kZu djk-

(2) vfrfjDr «ksdla[;sph dkj.ks o ifj.kke Li"V djk-

(3) okafðkd la?k"kZ Eg.kts dk; \ okaf'kd la?k"kkZps dkj.ks o ifj.kke Li"V djk-

(4) LFk«karjkps dk«ko/kh o varjkuqlkj izdkj Li"V djk-



[4201]-339 5 P.T.O.

[4201]-339

Gg-320 : Fundamental Concepts in Geography

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer the following questions in about 20 words each (any ten) : [20]

(1) Who has introduced the concept of Die Erdkunde ?

(2) Concept of cycle of erosion is introduced by.................. .

(3) Name any two factors of climate change.

(4) Name any two techniques of weather forecasting.

(5) Who is known as father of Population Geography ?

(6) Define the concept of state.

(7) Who has explained the Heartland theory ?

(8) Define the concept of determinism.

(9) What is satellite town ?

(10) Name any two measures of economic development.

(11) Define the concept of Existentialism.

(12) What do you mean by Sustainable Development ?

(13) Define the term ‘Nation’.
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2. Write notes on the following in about 50 words each (any two) : [10]

(1) Contribution of Al Masudi.

(2) Explain various stages of cycle of erosion.

(3) Discuss the concept of CBD.

(4) Stages of demographic transition theory.

3. Answer the following questions in about 150 words each (any two) : [20]

(1) Discuss the concept of unity in diversity.

(2) Explain the factors of climate change.

(3) Define the term ‘Geopolitics’. Explain the rimland theory.

(4) Discuss the factors affecting location of Industries.

4. Answer the following questions in about 300 words each (any two) : [30]

(1) Compare the Physical and Human Geography.

(2) Define Weather Forecasting. Explain the techniques used for

weather forecasting.

(3) Give an account of contribution of Immanual Kant and Friedrich

Ratzel.

(4) Discuss the theory of Demographic transition.



[4201]-339 7 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) udkðkk LVsfUlYl okij.;kl ijokuxh vkgs-

1- [kk«h« izðukaph izR;sdh lqekjs 20 ðkCnkar mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) Mk; ,MZdqUM ladYiuk dks.kh ekaM«h \

(2) ^vi{kj.k pÿ* gh ladYiuk dks.kh ekaM«h \

(3) gokeku cn«kps dks.krsgh nksu ?kVd lkaxk-

(4) gokeku vankt orZfo.;kps nksu ra=kph ukos lkaxk-

(5) «ksdla[;k Hkwxks«kps tud dks.k gksrk \

(6) jkT; ladYiusph O;k[;k |k-

(7) ^‚n;LFk«* flºkar dks.kh ekaM«k \

(8) fulxZokn ladYiusph O;k[;k |k-

(9) mixzg ðkgj (lWVs«kbZV) Eg.kts dk; \

(10) vkfFkZd fodklkph nksu ijhekus lkaxk-

(11) vfLrRooknkph ladYiusph O;k[;k |k-

(12) ðkkðor fodkl Eg.kts dk; \

(13) ^jk"V™* ;k ladYiusph O;k[;k |k-
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2- [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) v«~ elqnhaps ;ksxnku-

(2) vi{kj.k pÿkph fofo/k VIis Li"V djk-

(3) lh-ch-Mh- ladYiusoj ppkZ djk-

(4) «ksdla[;k laÿe.k flºkarkP;k ik;Ú;k-

3- [kk«h« izðukaph izR;sdh 150 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) ^fofo/krsr ,drk* ;k ladYiusoj lfoLrj ppkZ djk-

(2) gokeku cn«kps ?kVd Li"V djk-

(3) ^Hkwjktfurh* ph O;k[;k lkaxwu ifj?kh; flºkar Li"V djk-

(4) m|ksx/kanÓkaP;k LFkkfudhdj.kkoj ifj.kke dj.kkÚ;k ?kVdkaph ppkZ djk-

4- [kk«h« izðukaph izR;sdh 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) izkœfrd vkf.k ekuoh Hkwxks«kph rq«uk djk-

(2) gokeku vankt Eg.kts dk; rs lkaxwu gokeku vankt orZfo.;klkBh okij«h

tk.kkjh ra=s Li"V djk-

(3) bekU;qv« dkaV o ›sMfjd jWVR>s« ;kaps Hkwxks«krh« ;ksxnku-

(4) ^«ksdla[;k laÿe.k* flºkarkoj lfoLrj ppkZ djk-



Total No. of Questions—7+5+5] [Total No. of Printed Pages—4

Seat

No. [4201]-340

T.Y. B.A. EXAMINATION, 2012

MUSIC (laxhr)
(lkekU; th&3)

(2008 PATTERN)

fo'ks"k lwpuk :—;k lapkrh« ^jkxlaxhr xk;u] lrkj vkf.k rc«k* ;kiSdh dks.krhgh ,d
izðuif=dk lksMok-

lwpuk :— (i) ifg«k izðu vfuok;Z vkgs-
(ii) ifgY;k vfuok;Z izðuklg moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj

izðu lksMok-
jkxlaxhr xk;u

oš  % 1 rkl 30 fefuVs ,dw .k xq.k % 20

1. jkxlaxhr xk;u ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph fo«afcr cafnðk (cMk
[;k«) Lojf«ihcº djk-  [5]

2. ðkadjk vkf.k iqfj;k/kukJh ;kiSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh vkjksg&
vojksg&idM vkf.k oSfðk"VÓkalg f«gk-  [5]

3. >qejk] vkMk pkSrk« vkf.k /kekj ;kiSdh dks.kR;kgh ,dk rk«kph ekfgrh f«gwu rk««s[ku
djk- [5]

4. [kk«h«iSdh dks.kR;kgh nksuoj fVik f«gk %  [5]

(1) ðkqº jkx
(2) feJ jkx
(3) tksM jkx
(4) Jqrh&Loj foHkktu-

5. [kk«h«iSdh dks.kR;kgh nksuoj FkksMD;kr f«gk %  [5]

(1) izca/k
(2) fucº xku
(3) ijes« izosðkd jkx
(4) vfoHkkZo&frjksHkko-

P.T.O.
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6. [kk«h«iSdh dks.kR;kgh ,dk laxhrKkps thou dk;Z foðkn djk %  [5]

(1) ia- ftrsaÊ vfHk"ksdh

(2) iafMrk dsljckbZ dsjdj

(3) fdðkksjh vkeks.kdj-

7. [kk«h«iSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus f«gk %  [5]

(1) laxhr vkf.k vk/kqfud oSKkfud midj.ks

(2) ikðoZxk;u

(3) laxhrkP;k bfrgklkps dk«foHkktu-



[4201]-340 3 P.T.O.

[4201]-340

lrkj

lwpuk :— (i) ifg«k izðu vfuok;Z vkgs-

(ii) ifg«k vfuok;Z izðuklg moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj

izðu lksMok-

oš  % 1 rkl 30 fefuVs ,dw .k xq.k % 20

1. lrkj ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph fo«afcr cafnðk (eflr[kkuh xr)

Lojf«ihcº djk- [5]

2. eq«rkuh vkf.k t;t;oarh ;kiSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh

vkjksg&vojksg&idM vkf.k oSfðk"VÓkalg f«gk-  [5]

3. ,drk« vkf.k pkSrk« ;kiSdh dks.kR;kgh ,dk rk«kph ekfgrh f«gwu ,diV vkf.k

nqIiV f«gk-  [5]

4. [kk«h«iSdh dks.kR;kgh ,dk laxhrKkps thou dk;Z foðkn djk %  [5]

(1) iafMrk eksxqckbZ dqMhZdj

(2) m- fcfLeY«k [kk°-

5. [kk«h«iSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus f«gk %  [5]

(1) laxhr vkf.k tu#fp

(2) ikðoZlaxhr-
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[4201]-340

rc«k

lwpuk :— (i) ifg«k izðu vfuok;Z vkgs-

(ii) ifgY;k vfuok;Z izðuklg moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj

izðu lksMok-

oš  % 1 rkl 30 fefuVs ,dw .k xq.k % 20

1. rhurk« vkf.k :id ;kiSdh dks.kR;kgh ,dk rk«kph ,diV] nqIiV o frIiV rk«f«ihcº

djk-  [5]

2. ok| ofxZdj.k ;k fo"k;h foLr`r foospu djk-  [5]

3. ?ku ok|s vkf.k vouº ok|s ;kapk ijLij laca/k Li"V djk-  [5]

4. fnY«h] vtjkMk vkf.k «[kukS ;kiSdh dks.kR;kgh nksu cktkaph oSfðk"VÓs FkksMD;kr foðkn

djk-  [5]

5. rqeP;k vkoMR;k rc«koknd d«kdkjkps thou pfj= f«gk-  [5]



P.T.O.

Total No. of Questions—7+5+5] [Total No. of Printed Pages—4

Seat

No. [4201]-341

T.Y. B.A. EXAMINATION, 2012

MUSIC (laxhr) (S-3)

Special Paper 3

(2008 PATTERN)

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

foðððððks"k lwpuk :— ;k lapkrh« ^jkxlaxhr xk;u] lrkj fdaok rc«k* ;kiSdh dks.krhgh ,d

izðuif=dk lksMok-

jkxlaxhr xk;u

lwpuk :— (i) ifg«k izðu vfuok;Z vkgs-

(ii) ifgY;k vfuok;Z izðuklg moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj

izðu lksMok-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph fo«afcr cafnðk (cMk [;k«) Lojf«ihcº

djk- [5]

2. eYgkj (fe;ka eYgkj) vkf.k iqfj;k ;kiSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh

vkjksg&vojksg&idM vkf.k oSfðk"VÓkalg f«gk- [5]

3. ^lw«rk«&>irk«* vkf.k ^>qejk&vkMkpkSrk«* ;kiSdh dks.kR;kgh ,dk rk« tksMhph rw«uk

djk- [5]
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4. [kk«h«iSdh dks.kR;kgh nksuoj fVik f«gk % [5]

(1) gkeZuh

(2) es«Mh

(3) oknh&laoknh&vuqoknh&fooknh vkf.k oT;Z Loj

(4) vfucº xku-

5. [kk«h«iSdh dks.kR;kgh nksuoj FkksMD;kr f«gk % [5]

(1) [;k« xk;dh

(2) izca/k

(3) /k`in xk;dh

(4) tkrh xk;u-

6. [kk«h«iSdh dks.kR;kgh ,dk laxhrKkps thou&dk;Z foðkn djk % [5]

(1) ia- txÈkkFkcqok iqjksfgr

(2) «rk eaxsðkdj

(3) MkW- xaxwckbZ gaxˇ-

7. [kk«h«iSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus f«gk % [5]

(1) izkphu laxhrK

(2) daB laLdkj

(3) xq#dq« laxhr fðk{k.k iºrhph oSfðk"VÓs-



[4201]-341 3 P.T.O.

[4201]-341

lrkj

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— (i) ifg«k izðu vfuok;Z vkgs-

(ii) ifgY;k vfuok;Z izðuklg moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj

izðu lksMok-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph fo«afcr cafnðk (eflr[kkuh xr) Lojf«ficº

djk- [5]

2. eYgkj (fe;k° eYgkj) vkf.k iqfj;k ;kiSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh

vkjksg&vojksg&idM vkf.k oSfðk"VÓkalg f«gk- [5]

3. leku ek=kaP;k rk«kaph oSfðk"VÓs o egŸo lksnkgj.k foðkn djk- [5]

4. rqeP;k vkoMR;k laxhrK d«kdkjkps thou&dk;Z foðkn djk- [5]

5. [kk«h«iSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus f«gk % [5]

(1) laxhr fðk{k.kkph l| fLFkrh

(2) laxhrfo"k;d xzaFk-



[4201]-341 4

[4201]-341

rc«k

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— (i) ifg«k izðu vfuok;Z vkgs-

(ii) ifgY;k vfuok;Z izðuklg moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj

izðu lksMok-

1. #Ê vkf.k eŸk ;kiSdh dks.kR;kgh ,dk rk«kph ,diV] nqIiV o frIiV rk«f«ihcº

djk- [5]

2. rqEgh vH;kl«sY;k dks.kR;kgh ,dk rk«kP;k osxosxˇÓk ek=k la[;sP;k nksu frgk;k

f«gk- [5]

3. Lora= rc«koknukps ra= foðkn djk- [5]

4. o`an&oknukr rcY;kps LFkku ;kfo"k;h foLrkjkus f«gk- [5]

5. [kk«h«iSdh dks.kR;kgh ,dk rc«koknd d«kdkjkps thou&pfj= f«gk % [5]

(1) ia- daBs egkjkt

(2) gkth fo«k;r [kk°

(3) ia- fdðku egkjkt-



P.T.O.

Total No. of Questions—7+5+5] [Total No. of Printed Pages—4

Seat

No. [4201]-342

T.Y. B.A. EXAMINATION, 2012

MUSIC (laxhr) (S-4)

Special Paper 4

(2008 PATTERN)

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

foðððððks"k lwpuk :— ;k lapkrh« ^jkxlaxhr xk;u] lrkj vkf.k rc«k* ;kiSdh dks.krhgh ,d

izðuif=dk lksMok-

jkxlaxhr xk;u

lwpuk :— (i) ifg«k izðu vfuok;Z vkgs-

(ii) ifgY;k vfuok;Z izðuklg moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj

izðu lksMok-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph fo«afcr cafnðk (cMk [;k«) Lojf«ihcº

djk- [5]

2. ek#fcgkx vkf.k ð;kedY;k.k ;kiSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh

vkjksg&vojksg&idM vkf.k oSfðk"VÓkalg f«gk- [5]

3. ,drk« vkf.k >qejk ;kiSdh dks.kR;kgh ,dk rk«kps e/; vkf.k fo«afcr Lo:i Vkˇh

dk« iºrhus Lojf«ihcº djk- [5]
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4. [kk«h«iSdh dks.kR;kgh nksuoj fVik f«gk % [5]

(1) ik‹oZxk;u

(2) /ofueqÊ.k

(3) ukVÓlaxhr-

5. [kk«h«iSdh dks.kR;kgh nksuoj FkksMD;kr f«gk % [5]

(1) laxhrklkBh xzaFkk«;s

(2) laxhr Li/kk±ps egŸo

(3) laxhr lHksps vk;kstu-

6. [kk«h«iSdh dks.kR;kgh ,dk laxhrKkps thou dk;Z foðkn djk % [5]

(1) ia- jkekJ; >k

(2) vkðkk Hkksl«s

(3) ia- gfjizlkn pkSjfl;k-

7. [kk«h«iSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus f«gk % [5]

(1) e«k visf{kr laxhr fðk{k.k

(2) vk/kqfud oSKkfud ;qxkrh« laxhr

(3) Loj«s[ku iºrhph O;kIrh vkf.k e;kZnk-



[4201]-342 3 P.T.O.

[4201]-342

lrkj

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— (i) ifg«k izðu vfuok;Z vkgs-

(ii) ifgY;k vfuok;Z izðuklg moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj

izðu lksMok-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph fo«afcr cafnðk (eflr[kkuh xr) Lojf«ihcº

djk- [5]

2. vfgjHkSjo vkf.k e/kqoafr ;kiSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh

vkjksg&vojksg&idM vkf.k oSfðk"VÓkalg f«gk- [5]

3. ckjk ek=kaP;k dks.kR;kgh nksu rk«kaph rkS«fud oSfðk"VÓs o egŸo foðkn djk- [5]

4. [kk«h«iSdh dks.kR;kgh ,dk laxhrKkps thou&dk;Z foðkn djk % [5]

(1) ≈- g«he tkQj [kk°

(2) ia- fðkodqekj ðkekZ-

5. [kk«h«iSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus f«gk % [5]

(1) eSfQ« lknjhdj.kkps ra=

(2) laxhr Li/kk±ps egŸo-
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[4201]-342

rc«k

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— (i) ifg«k izðu vfuok;Z vkgs-

(ii) ifgY;k vfuok;Z izðuklg moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj

izðu lksMok-

1. rqEgh vH;kl«sY;k dks.kR;kgh ,dk rk«kP;k nksu osxosxˇÓk «;dkjh f«gk- [5]

2. leku ek=kaP;k vusd rk«kaP;k fufeZrhph dkj.kfeekalk djk- [5]

3. rcY;krh« ?kjk.kh ;kfo"k;h foLr`r foospu djk- [5]

4. dukZVd laxhr o fganqLrkuh laxhrkrh« rk« ok|kaph rkS«fud ekfgrh f«gk- [5]

5. [kk«h«iSdh dks.kR;kgh ,dk rc«koknd d«kdkjkps thou&pfj= f«gk % [5]

(1) ia- ukuk ikuls

(2) ≈- vkfcn gqlsu

(3) ≈- vY«kj [kk°-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4201]-343

T.Y. B.A. EXAMINATION, 2012

PSYCHOLOGY

General Paper III

(Industrial and Organizational Psychology)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) What is industrial and Organizational Psychology ?

(2) Why is the need of training ?

(3) State the scope of engineering psychology.

(4) What is job satisfaction ?

2. Write notes in 100 words each (any four) : [20]

(1) Development of Industrial Psychology.

(2) Training programme evaluation.

(3) Performance evaluation.

(4) Leadership.

(5) Person-Machine system.

(6) Relationship of Job-satisfaction of productivity.

P.T.O.
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3. Answer in 200 to 250 words each (any three) : [30]

(1) Describe in detail the methods of evaluating job performance.

(2) Describe the personal factors of job satisfaction.

(3) Describe leadership through power and vision.

(4) Describe time and motion study.

(5) State the methods of training.

4. Answer in 500 words each (any one) : [20]

(1) Describe in detail the selection methods of employee.

(2) What is work motivation ? Describe in detail Maslow’s theory

of motivation.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [10]

(1) vkS|ksfxd o la?kVu ekulðkkL= Eg.kts dk; \

(2) izfðk{k.kkph xjt dk vkgs \

(3) vfHk;kaf=dh ekulðkkL=kph O;kIrh Li"V djk-

(4) dk;Z&lek/kku Eg.kts dk; \

2. izR;sdh 100 ðkCnkar Vhik f«gk (dks.kR;kgh pkj) %  [20]

(1) vkS|ksfxd ekulðkkL=kpk fodkl-

(2) izfðk{k.k dk;Zÿekps ewY;ekiu-

(3) dk;Z&fuoZrZu ewY;ekiu-

(4) usr`Ro-

(5) ekuo&;a= iz.kk«h-

(6) dk;Z&lek/kkukpk mRikndrsðkh vl.kkjk laca/k-



[4201]-343 3 P.T.O.

3. [kk«h«iSdh izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) %

[30]

(1) dk;Z&ewY;ekiukP;k iºrhaps lfoLrj o.kZu djk-

(2) dk;Z&lek/kkukP;k O;Drhxr ?kVdkaps o.kZu djk-

(3) vf/kdkj vkf.k nwjn`"Vhi.kk ;krwu usr`Ro dls mn;kl ;srs \

(4) dkˇ vkf.k xrh vH;klkps lfoLrj o.kZu djk-

(5) izfðk{k.k iºrh foðkn djk-

4. [kk«h« izðukiSdh dks.krkgh ,d izðukph mŸkj 500 ðkCnkar f«gk % [20]

(1) dkexkj fuoMhP;k iºrhaps lfoLrj o.kZu djk-

(2) dk;Z&izsj.kk Eg.kts dk; \ izsj.ksP;k ekL«ks ;kaP;k flºkarkps lfoLrj o.kZu

djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]-344

T.Y. B.A. EXAMINATION, 2012

PSYCHOLOGY

Special Paper III

(Experimental Psychology and Scientific Research)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain ‘Sensitivity’ as a basic concept in Psychophysics.

(2) Explain the importance of langugae as a tool of thinking.

(3) State the uses of psychological tests.

(4) What is Sampling ?

2. Write short notes in 100 words each (any four) : [20]

(1) Threshold

(2) Central Theory of Thinking

P.T.O.
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(3) Types of validity

(4) Types of norms

(5) Qualitative Vs. Quantitative Scientific Research

(6) Survey method.

3. Answer the following questions in 200-250 words each (any

three) : [30]

(1) Describe the method of limit for the computation

of DL.

(2) What is creative thinking ? Explain the stages of creative

thinking.

(3) Discuss approaches in scientific research.

(4) Illustrate questionnaire and interview as a techniques of data

collection.

(5) Explain the types of probability sampling.

4. Answer any one of the following questions in 500 words : [20]

(1) What is perception ? Explain the nature and characteristics

of perception.

(2) Define variable ? Explain the types of variables.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth iz'uif=dk igkoh-

1. [kk«h« iz'ukaph mŸkjs izR;sdh 50 ðkCnkar fygk (dks.krsgh nksu) %  [10]

(1) euksHkkSfrdhrhy ewyHkwr ladYiuk Eg.kwu ^osnu{kerk* Li"V djk-

(2) fopkjkaps lk/ku Eg.kwu Hkk"ksps egRo fo'kn djk-

(3) ekul'kkL=h; pkp.;kaps mi;ksx fygk-

(4) uequkp;u Eg.kts dk; \

2. izR;sdh 100 'kCnkar FkksMD;kr fVik fygk (dks.krsgh pkj) %  [20]

(1) flekewY;

(2) fopkjkph e/;orhZ miiŸkh

(3) ;FkkFkZrsps (oS/krsps) izdkj

(4) ekunaMkaps izdkj

(5) xq.kkRed fo#º la[;kRed 'kkL=h; la'kks/ku

(6) losZ{k.k iºrh-

3. [kk«h«iSdh iz'ukaps mŸkjs izR;sdh 200-250 ðkCnkar fygk (dks.krsgh rhu) %  [30]

(1) e;kZnk iºrhP;k lgk∏;kus Hksnfud flekewY;kaP;k ekiukps o.kZu djk-

(2) ltZu'khy fopkj izfÿ;k Eg.kts dk; \ ltZu'khy fopkj izfÿ;sP;k voLFkk

fo'kn djk-
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(3) 'kkL=h; la'kks/kukrhy n`"Vhdksukaph ppkZ djk-

(4) iz'ukoyh o eqyk[kr gh ekfgrh lad«ukph ra=s Eg.kwu lksnkgj.k Li"V

djk-

(5) laHkkO;rk uequkp;ukps izdkj Li"V djk-

4. [kk«h«iSdh dks.krkgh ,dk iz'ukps mŸkj 500 ðkCnkar f«gk % [20]

(1) laosnu Eg.kts dk; \ laosnukps Lo:i o oSf'k"VÓs Li"V djk-

(2) ifjorZdkph O;k[;k fygk- ifjorZdkps izdkj Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]-345

T.Y. B.A. EXAMINATION, 2012

GANDHIAN THOUGHT

(General Paper III)

(Relevance of Gandhian Thought)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words

each : [10]

(1) Explain the basic components of Sarvodaya.

(2) Explain Vinoba’s idea of Sthitapradnya Darshan.

(3) Explain Dada Dharmadhikari’s views of Role of Women in

Society.

(4) Bring out the nature and importance of ‘Ganga Bachao

Andolan’.

2. Write short notes on any four of the following in 100 words

each : [20]

(1) Total Revolution—Jayaprakash Narayan

(2) Satyagrahi Samajwada—Acharya Javadekar

P.T.O.
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(3) Green Party Movement in Germany

(4) Vinoba’s conception of Nari Shakti

(5) Chipko Andolan—Sundarlal Bahuguna

(6) Work of Nelson Mandela in Anti-racist Movement.

3. Answer any three of the following in 200-250 words each : [30]

(1) Explain the significance of Gandhian Model of

Development.

(2) Explain the contribution of Martin Luther King in Anti-imperialist

movements.

(3) Introduce fully the work of An Syu Ki in Myanmar.

(4) Explain S.D. Javadekar’s views on synthesis of Gandhi and

Marx.

(5) State the contribution of Dada Dharmadhikari in Socio-Economic

thoughts of Gandhi.

4. Answer any one of the following questions in 500 words : [20]

(1) Explain in detail and critically evaluate ‘Narmada Bachao Andolan’

by Medha Patkar.

(2) Explain Vinoba’s Bhoodan Movement and comment on the success

and limitations of this movement.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk %  [10]

(1) loksZn;kps eq[; ?kVd Li"V djk-

(2) ^fLFkrizK nðkZu* gh fouksckaph ladYiuk Li"V djk-

(3) fL=;kaps lektkrh« LFkku vkf.k Hkwfedk ;kcÌ« nknk /kekZf/kdkjh ;kaph ers

Li"V djk-

(4) xaxk cpkvks vkanks«ukps Lo:i vkf.k egRo foðkn djk-

2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar Vhik f«gk %  [20]

(1) ^lexz ÿkarh*µt;izdkðk ukjk;.k

(2) lR;kxzgh lektoknµvkpk;Z tkoMsdj

(3) xzhu ikVhZ pˇoˇµteZuh

(4) fouksckaph ^ukjh ðkDrh* ladYiuk

(5) fpidks vkanks«uµlqanj«k« cgqxq.kk

(6) usYlu eaMs«k ;kaps oaðkfojks/kh pˇoˇhrh« ;ksxnku-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk % [30]

(1) xka/khthaP;k fodkl vkjk[kMÓkph izeq[k rRos Li"V djk-

(2) lkezkT;ðkkgh fojks/kh pˇoˇhrh« ekfVZu Y;wFkj fdax ;kapk lgHkkx Li"V

djk-
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(3) E;kWuekj ef/k« vWu lw- dh- ;kaps dk;Z lfoLrj foðkn djk-

(4) xka/kh vkf.k ekDlZ ;kaP;k leUo;kckcrph ,l-Mh- tkoMsdjkaph ers Li"V

djk-

(5) xka/khthaP;k lkekftd&vkfFkZd fopkjkrh« nknk /kekZf/kdkjh ;kaps ;ksxnku foðkn

djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) ueZnk cpkvks vkanks«u lanHkkZrh« Jherh es/kk ikVdj ;kaP;k dk;kZps fpfdRld

ewY;ekiu djk-

(2) fouksckaph Hkwnku pˇoˇ Li"V d:u ;k pˇoˇhps ;ðkki;ðk vkf.k e;kZnkacÌ«

Hkk"; djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4201]-346

T.Y. B.A. EXAMINATION, 2012

YOGA (Yogvidya)

(General Paper III)

(Vyavharik Yoga)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain any one from the following in 50 words : [5]

(1) State the five benefits of Yoga science.

(2) What is personal ability ?

2. Write short notes on (any two) : [10]

(1) Dhyan

(2) Yama

(3) Objectives of Shuddhikriya

(4) Importance of various Mudras.

3. Answer any two questions from the following in 200 to 250 words

each : [15]

(1) State the types, precautions and uses of Pranayama.

P.T.O.
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(2) Explain the use of Yoga in mental health as preventive and

curable.

(3) Discuss, how Yoga is helpful to keep physical health.

4. Attempt any one question in detail : [10]

(1) Explain how does Yoga use to old age.

(2) Explain the simple and special objective of traditional and applied

yoga.

(ejkBh :ikarj)

oš  % 2 rkl ,dw .k xq.k % 40

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dkps 50 ðkCnkar Li"Vhdj.k |k % [5]

(1) ;ksxðkkL=kps ikp Qk;ns lkaxk-

(2) O;fDrxr dk;Z{kerk Eg.kts dk; \

2. FkksMD;kr Vhik |k (dks.kR;kgh nksu) %  [10]

(1) /;ku

(2) ;e

(3) ðkwfºÿh;kapk mÌsðk

(4) fofo/k ewÊkaps egRo-

3. [kk«h«iSdh dks.kR;kgh nksu izðukaps izR;sdh 200 rs 250 ðkCnkar mŸkjs |k % [15]

(1) izk.kk;kekps izdkj] n{krk o mi;ksx lkaxk-
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(2) ekufld LokLF;klkBh ;ksxkpk izfrca/kd o fuokjd Eg.kq.k mi;ksx Li"V

djk-

(3) ðkkjhfjd LokLF; lao/kZuklkBh ;ksxkpk mi;ksx gksbZ« dk \ ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps lfoLrj mŸkj |k % [10]

(1) ok/kZD;kr gks.kkjk ;ksxkpk mi;ksx Li"V djk-

(2) ijaijkxr ;ksx o O;ogkjhd ;ksxkps lkekU; o foðks"k mÌsðk Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4201]-347

T.Y. B.A. EXAMINATION, 2012

HISTORY OF CIVILIZATION

General Paper III

(World Culture)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) What is ‘Egyptian Mummy’ ?

(2) Who was Confucious ?

(3) Explain the term ‘Caliph’.

(4) State the famous law invented by Sir Isaac Newton.

2. Write short notes in 100 words each (any four) : [20]

(1) Main types of Paleolithic tools.

(2) Concept city states in Greek Civilization

(3) Maya Civilization.

(4) Contribution of Arabs to Philosophy.

(5) Term ‘Counter Reformation’.

(6) Concept ‘Age of Discoveries’.

P.T.O.
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3. Answer the following questions in 250 words each (any

three) : [30]

(1) Describe the law in the Code of Hammurabi.

(2) State the causes for the decline of Harappan Civilization.

(3) Review the art and architecture in Roman Civilization.

(4) What is Feudalism ? State its demerits.

(5) Discuss the contribution of Copernicus and Galileo to

science.

4. Answer the following questions in 500 words (any one) : [20]

(1) Why is the Neolithic period known as an ‘Age of

Revolution’ ?

(2) Discuss the salient features of Hinduism.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) %  [10]

(1) ^bftIrph eeh* Eg.kts dk; \

(2) ^dU∂;wfðk;l* dks.k gksrk \

(3) ^[kf«Qk* gh laKk Li"V djk-

(4) lj vk;>Wd U;wVu ;kauh ðkks/k«s«k izflº flºkar lkaxk-

2. izR;sdh 100 ðkCnkr fVik f«gk (dks.kR;kgh pkj) %  [20]

(1) iqjkðe;qxhu gR;kjkaps izeq[k izdkj-

(2) xzhd laLœrhrh« ^uxjjkT;s* gh ladYiuk-
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(3) ^ek;k* laLœrh-

(4) vjckaps rRoKkukrh« ;ksxnku-

(5) ^izfr/keZ lq/kkj.kk* gh laKk

(6) ^ðkks/kkaps ;qx* gh ladYiuk-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkr f«gk (dks.krsgh rhu) %  [30]

(1) gEeqjkchP;k lafgrsrh« dk;nÓkps o.kZu djk-

(2) gMIik laLœrhP;k Úgklkph dkj.ks lakxk-

(3) jkseu laLœrhrh« d«k o LFkkiR;kpk vk<kok ?;k-

(4) ljatkeðkkgh Eg.kts dk; \ frps nks"k lkaxk-

(5) dksijfudl o xWf«f«vks ;kaps foKkuk«k ;ksxnku ;kph ppkZ djk-

4. [kk«h« izðukps mŸkj 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(1) uokðe;qxkP;k dk«[kaMkl ^ÿkarh;qx* Eg.kwu dk vksˇ[k«s tkrs \

(2) fganw /kekZP;k Bˇd oSfðk"VÓkaph ppkZ djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4201]-348

T.Y. B.A. EXAMINATION, 2012

HOME ECONOMICS

(G-3, Dynamics and Challenges of Indian Society)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following concepts in 50 words each (any two) : [10]

(1) Social change process

(2) Social conformity

(3) Inter-marriage

(4) Adoption system.

2. Write short notes in 100 words each (any four) : [20]

(1) Social change

(2) Active and passive deviation

(3) Modern society

(4) Principles of Indian family

(5) Sex and marriage

(6) Communication and social change.

3. Answer the following questions in 200 words each (any three) : [30]

(1) Explain the role of Education and Technology in social

change.

P.T.O.
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(2) Explain the causes of social deviation.

(3) Explain the causes of Divorce.

(4) Explain the causes of social value conflict.

(5) ‘‘The status of women is changing in Indian Society.’’

Explain.

4. Answer the following questions in 500 words each (any one) : [20]

(1) Explain the characteristics of Traditional Society.

(2) Explain the causes and effects of Dowry system.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« ladYiukph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) %  [10]

(1) lkekftd ifjorZu izfÿ;k

(2) lkekftd vuwp«u

(3) vkarjfookg

(4) nŸkd iºrh-

2. izR;sdh 100 ðkCnkr FkksMD;kr fVik f«gk (dks.krsgh pkj) %  [20]

(1) lkekftd ifjorZu

(2) lÿh; vkf.k fu"ÿh; fop«u

(3) vk/kqfud lekt

(4) Hkkjrh; dqVqackps eq«rRos

(5) «Safxdrk vkf.k fookg

(6) lansðkogu vkf.k lkekftd ifjorZu-
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3. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkr f«gk (dks.krsgh rhu) % [30]

(1) lkekftd ifjorZukr fðk{k.k vkf.k ra=Kkukph Hkqfedk Li"V djk-

(2) lkekftd fop«ukph dkj.ks Li"V djk-

(3) ?kVLQksVkph dkj.ks Li"V djk-

(4) lkekftd eqY;la?k"kkZph dkj.ks Li"V djk-

(5) ^^Hkkjrh; lektkr L=h;kapk ntkZ cn«r vkgs-** Li"V djk-

4. [kk«h« izðukaph mŸkjs izR;sdh 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(1) ijaijkxr lektkph oSfðk"VÓs Li"V djk-

(2) gqaMkiºrhph dkj.ks vkf.k ifj.kke Li"V djk-



Total No. of Questions—4+4+4] [Total No. of Printed Pages—8+1

Seat

No. [4201]-349

T.Y. B.A. EXAMINATION, 2012

DEFENCE AND STRATEGIC STUDIES

D.S. G-3(A) : International Security

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) State the functions of Diplomats.

(2) Explain the concept of International Security.

(3) Explain the concept of New World Order.

(4) State the concept of Global Warming.

2. Write short notes in 100 words each (any four) : [20]

(1) Effects of Terrorism.

(2) Concepts of Arms Control.

(3) Decline of Cold War.

(4) Meaning of Balance of Power.

(5) Concept of Detente.

(6) Meaning of National Security.

3. Answer in 200 to 250 words each (any three)  : [30]

(1) State the various environmental problems.

P.T.O.
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(2) Explain the concept and means of Balance of Power.

(3) State the nature and problems of Arms Control and

Disarmament.

(4) Explain origin and development of Cold War.

(5) State the changing nature of Diplomacy.

4. Answer any one of the following questions in 500 words  :

[20]

(1) Explain the causes and prevention of War.

(2) State the meaning, nature and causes of Terrorism.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [10]

(1) jktu;Kkaph dk;sZ lkaxk-

(2) vkarjjk"V™h; lqj{ksph ladYiuk Li"V djk-

(3) uohu tkxrhd O;oLFksph ladYiuk Li"V djk-

(4) oSfðod rkiekuok<hph ladYiuk lkaxk-

2. izR;sdh 100 ðkCnkar FkksMD;kr Vhik f«gk (dks.krsgh pkj) %  [20]

(1) ngðkroknkps ifj.kke

(2) ðkL=fu;a=.kkph ladYiuk

(3) ðkhr;qºkpk Úgkl

(4) lŸksP;k lerks«kpk vFkZ

(5) r.kkoðkSfFkY;@l«ks[;kph ladYiuk

(6) jk"V™h; lqj{kspk vFkZ-
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3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) i;kZoj.kkP;k fofo/k leL;k lkaxk-

(2) lŸksP;k lerks«kph ladYiuk vkf.k lk/kus Li"V djk-

(3) ðkL=fu;a=.k o fu%ðkL=hdj.kkps Lo:i vkf.k leL;k lkaxk-

(4) ðkhr;qºkpk mxe vkf.k fodkl Li"V djk-

(5) jktu;kps cn«rs Lo:i lkaxk-

4. dks.kR;kgh ,dk izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(1) ;qºkph dkj.ks vkf.k ;qº jks[k.;kps mik; Li"V djk-

(2) ngðkroknkpk vFkZ] Lo:i vkf.k dkj.ks lkaxk-



[4201]-349 4

[4201]-349

D.S. G-3(B) : Military Geography

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) State the meaning of Military Geography.

(2) Explain the importance of Geostrategy.

(3) State the concept of National Power.

(4) Explain the problems of Jungle Warfare.

2. Write short notes in 100 words each (any four) : [20]

(1) Characteristics of Desert Warfare.

(2) Meaning of Grand Strategy.

(3) Importance of National Power.

(4) Concept of Tactics.

(5) Uses of Military Geography.

(6) Concept of Geostrategy.

3. Answer in 200 to 250 words each (any three)  : [30]

(1) Explain the impact of Geography on Sea Warfare.

(2) State the characteristics and logistic problems in Plain

Warfare.
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(3) Explain the strategic importance of Jammu & Kashmir.

(4) State in detail the principles of Logistics.

(5) Explain in detail Geostrategic position of Andaman and Nicobar

Islands.

4. Answer any one in 500 words : [20]

(1) State in detail the geostrategic importance of oil in West

Asia.

(2) Explain the geostrateic position and importance of Diego-

Garcia.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [10]

(1) «"djh Hkwxks«kpk vFkZ lkaxk-

(2) Hkw;qºuhrhps egRo Li"V djk-

(3) jk"V™h; ðkDrhph ladYiuk lkaxk-

(4) tax« ;qº/kkj.ksP;k leL;k Li"V djk-

2. izR;sdh 100 ðkCnkar FkksMD;kr Vhik f«gk (dks.krsgh pkj) %  [20]

(1) ok«qdke; ;qº/kkj.ksph oSfðk"VÓs-

(2) foðkk« ;qºuhrhpk vFkZ-

(3) jk"V™h; ðkDrhps egRo-

(4) Mkoispkph ladYiuk-

(5) «"djh Hkwxks«kps mi;ksx-

(6) Hkw;qºuhrhph ladYiuk-
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3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) lkxjh ;qºiºrhoj Hkwxks«kpk iM.kkjk izHkko Li"V djk-

(2) eSnkuh ;qº/kkj.ksph oSfðk"VÓs vkf.k iqjoBÓkP;k leL;k lkaxk-

(3) tEew&dkðehjps lkefjd egRo Li"V djk-

(4) iqjoBk O;oLFksph rRos lfoLrj lkaxk-

(5) vaneku vkf.k fudksckj csVkaph Hkwlkefjd fLFkrh lfoLrj Li"V djk-

4. dks.kR;kgh ,dk izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(1) ifðpe vkfðk;krh« rs«kps Hkwlkefjd egRo lfoLrj lkaxk-

(2) fnxks&xkflZ;kph Hkwlkefjd fLFkrh o egRo Li"V djk-
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[4201]-349

G.S. G-3 (C) : Geopolitics

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) State the importance of peace time Geopolitics.

(2) Explain the importance of unified field theory.

(3) Explain Cultural Boundaries.

(4) State the methods of calculating maritime boundaries.

2. Write short notes in 100 words each (any four) : [20]

(1) Development of Geopolitics in Germany

(2) Prof. Mackinder

(3) Frontiers

(4) Nation

(5) Prof. Karl Houshoffer

(6) Buffer state.

3. Answer in 200 to 250 words each (any three)  : [30]

(1) Explain the nature of Geopolitics.

(2) State the theory of Sea power by Admiral A.T. Mahan.
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(3) Explain the types of Natural Boundaries.

(4) Describe the basic elements of Nation.

(5) Give the contrast between Frontiers and Boundaries.

4. Answer any one of the following questions in 500 words :

[20]

(1) ‘‘Political Geography is a dynamic science.’’ Discuss.

(2) What are the geographical factors affecting on war ?

Explain.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [10]

(1) ðkkarrkdk«hu Hkwjktfurhps egRo lkaxk-

(2) ,d:i {ks= flºkarkps egRo Li"V djk-

(3) lkaLœrhd lhek Li"V djk-

(4) lkxjh lhek ekst.;kP;k iºrh lkaxk-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) %  [20]

(1) Hkwjktfurhpk teZuhrh« fodkl

(2) izks- eWfdUMj

(3) flek iznsðk

(4) jk"V™

(5) izks- dk«Z gkSðkksQj

(6) vk?kkr ðkks"kd jk"V™-
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3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) Hkwjktfurhps Lo:i Li"V djk-

(2) vWMfej« ,-Vh- egku ;kapk lkxjh lŸkspk flºkar lkaxk-

(3) uSlxhZd flekaps izdkj Li"V djk-

(4) jk"V™kps ?kVd foðkn djk-

(5) flek iznsðk vkf.k lhek ;krh« Qjd Li"V djk-

4. iq<h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) ^^jktdh; Hkwxks« xfreku ðkkL= vkgs-** ppkZ djk-

(2) ;qºkoj ifj.kke dj.kkjs HkkSxks«hd ?kVd dks.krs \ Li"V djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—4+2

Seat

No. [4201]-350

T.Y. B.A. EXAMINATION, 2012

DEFENCE AND STRATEGIC STUDIES

D.S. S-3 (A) Maratha Military System (1630-1818 A.D.)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) State the role of Dadoji Kondadeo in making of

Shivaji.

(2) State the strategic importance of forts.

(3) What are the objectives of Karnataka Campaign ?

(4) Explain the strategy of Shivaji in the battle of

Pratapgarh.

2. Write short notes in 100 words each (any four) : [20]

(1) Bajirao-I

(2) Articles of Treaty of Purandar

(3) Strategic importance of Jawali

(4) Tarabai

(5) Kanhoji Angre

(6) Guerrilla Tactics.

3. Answer in 200 to 250 words each (any three) : [30]

(1) ‘‘Shivaji as a Master of Guerrilla tactician.’’ Discuss.

P.T.O.



[4201]-350 2

(2) Explain the causes of Maratha defeat in the third battle of

Panipat.

(3) Explain the social and religious situation in Maharashtra before

the birth of Shivaji.

(4) Describe the role of Shantaji in the war of Maratha

independence.

(5) Explain the causes of first Anglo-Maratha war.

4. Answer any one in 500 words : [20]

(1) Evaluate the military leadership of Sambhaji.

(2) Explain the causes of downfall of Maratha power.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) eq« baxzth izðuif=dk xzkgÓ ?kjkoh-

1. [kk«h« izðukaph mŸkjs 50 ðkCnkr f«gk (dks.krsgh nksu) %  [10]

(1) fðkokth egkjktkaP;k tM.k?kM.khr nknksth dksaMnso ;kaph Hkwfedk lkaxk-

(2) fdY«;kaps lkefjd egRo lkaxk-

(3) dukZVd eksghesph mfÌ"Vs dks.krh \

(4) izrkixMkP;k «<kbZrh« fðkokth egkjktkaph ;qºuhrh Li"V djk-

2. [kk«h« izðukaph izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) %  [20]

(1) ckthjko ifg«k

(2) iqjanjP;k rgkph d«es

(3) tko«hps lkefjd egRo

(4) rkjkckbZ

(5) dkUgksth vkaxzs

(6) xfueh dkok-
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3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkr f«gk (dks.krsgh rhu) % [30]

(1) ^^fðkokth egkjkt ,d dqðk« xfueh usrk gksrs-** ppkZ djk-

(2) ikfuirP;k frlÚ;k «<kbZrh« ejkBÓkaP;k ijkHkokph dkj.ks Li"V djk-

(3) fðkokth egkjktkaP;k tUekiwohZP;k egkjk"V™krh« lkekthd o /kkfeZd ifjfLFkrhps

o.kZu djk-

(4) larkthph ejkBÓkaP;k Lokra´; ;qºkrh« Hkwfedk foðkn djk-

(5) baxzt&ejkBk ifgY;k ;qºkph dkj.ks lkaxk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(1) laHkkthP;k «"djh usr`Rokps ewY;ekiu djk-

(2) ejkBh lŸksP;k irukph dkj.ks Li"V djk-
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[4201]-350

D.S. S-3(B) Disaster Management

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) State the meaning of disaster.

(2) Explain the characteristics of Natural Disaster.

(3) State the concept of Disaster Management.

(4) What is Yokohama Strategy.

2. Write short notes in 100 words each (any four) : [20]

(1) Process of Resettlement

(2) Relief work in Disaster

(3) Characterisics of Manmade disaster

(4) Global warming

(5) Chemical war and disaster

(6) Identified disaster.

3. Answer in 200 to 250 words each (any three) : [30]

(1) Explain nuclear war and disaster.

(2) State the role of local bodies in disaster management.

(3) State the nature and types of natural disaster.

(4) Explain the types and effects of manmade disaster.

(5) State the elements of disaster management.
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4. Answer any one of the following questions in 500 words : [20]

(1) Explain the psychological and social consequences of

disaster.

(2) State the important principles of disaster by Yokohama

Conference.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [10]

(1) vkiŸkhpk vFkZ lkaxk-

(2) uSlfxZd vkiŸkhph oSfðk"Vs Li"V djk-

(3) vkiŸkh O;oLFkkiukph ladYiuk lkaxk-

(4) ;ksdksgkek uhrh fdaok /kksj.k dk; vkgs \

2. izR;sdh 100 ðkCnkar Vhik f«gk (dks.krsgh pkj) %  [20]

(1) iquoZlukph izfÿ;k

(2) vkiŸkhrh« enr dk;sZ

(3) ekuofufeZr viŸkhph oSfðk"Vs

(4) tkxfrd rkieku ok<

(5) jklk;fud ;qº vkf.k vkiŸkh

(6) vkiŸkhph vksˇ[k-



[4201]-350 6

3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) v.kq;qº vkf.k vkiŸkh Li"V djk-

(2) vkiŸkh O;oLFkkiukrh« LFkkfud la?kVukaph Hkwfedk Li"V djk-

(3) uSlfxZd vkiŸkhps Lo:i o izdkj lkaxk-

(4) ekuofufeZr vkiŸkhps izdkj vkf.k ifj.kke Li"V djk-

(5) vkiŸkh O;oLFkkiukps ?kVd lkaxk-

4. dks.kR;kgh ,dk izðukaps mŸkj 500 ðkCnkar f«gk % [20]

(1) vkiŸkhps ekulðkkL=h; vkf.k lkekftd ifj.kke Li"V djk-

(2) ;ksdksgkek ifj"knsrh« vkiŸkh lanHkkZrh« egRokph rRos lkaxk-



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—4+2

Seat

No. [4201]-351

T.Y. B.A. EXAMINATION, 2012

DEFENCE AND STRATEGIC STUDIES

D.S. S-4 (A) : Industrial Security

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) State the importance of Industrial Security.

(2) What is the power of arrest ?

(3) What are the basic principles of security ?

(4) How do we get warning of fire break ?

2. Write short notes in 100 words each (any four) : [20]

(1) Cognisible Crimes.

(2) Court Procedure.

(3) Search Room.

(4) General Security.

(5) Perimeter Wall.

(6) Dry chemical equipment.
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3. Answer in 200 to 250 words each (any three) : [30]

(1) Describe the fundamental rights.

(2) State the functions of security department.

(3) Describe in brief Sabotage.

(4) State the causes and preventive measures of fire.

(5) State the duties of Security Persons.

4. Answer any one of the following questions in 500 words : [20]

(1) Describe the security system near the main gate.

(2) What is first-aid ? Explain the types of first-aid.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) vkS|ksxhd lqj{ksps egRo lkaxk-

(2) vVd dj.;kpk vf/kdkj Eg.kts dk; \

(3) lqj{ksph eq«Hkwr rRos dks.krh \

(4) vkxhph lqpuk dðkh feˇrs \

2- izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) n[k«ik= xqUgs-
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(2) U;k;k«;hu izfÿ;k-

(3) >Mrh d{k-

(4) loZlk/kkj.k lqj{kk-

(5) daiuh lHkksork«ph fHkar-

(6) M™k; dsehd« midj.k-

3- izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) eq«Hkqr vf/kdkj foðkn djk-

(2) lqj{kk foHkkxkph dk;sZ lkaxk-

(3) ?kkrikrkps FkksMD;kr o.kZu djk-

(4) vkxhph dkj.ks o izfrca/kkRed mik; lkaxk-

(5) lqj{kk deZpkÚ;kph drZO;s lkaxk-

4- iq<h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) eq[; izosðk}kjk toˇhˇ lqj{kk O;oLFksps o.kZu djk-

(2) izFkeksipkj Eg.kts dk; \ R;kps izdkj Li"V djk-
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[4201]-351

D.S. S-4 (B) : Research Methodology

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) State the meaning of Social Research.

(2) Explain the nature of Research Process.

(3) Explain the sources of Hypothesis.

(4) State the scope of Research.

2. Write short notes in 100 words each (any four) : [20]

(1) Report writing.

(2) Characteristics of facts.

(3) Descriptive Research Design.

(4) Objectivity.

(5) Types of hypothesis.

(6) Primary sources.

3. Answer in 200 to 250 words each (any three) : [30]

(1) Describe the importance of concept in the Research.

(2) Explain the subject-matter of Survey.
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(3) Explain the major steps in Research Process.

(4) State the sources of collection of data.

(5) State the objectives of Social Research.

4. Answer in 500 words (any one) : [20]

(1) What is Research Design ? Explain the types of design of

research.

(2) What is Report writing ? State the objectives of report

writing.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) ewˇ baxzth izðuif=dk xzkgÓ /kjkoh-

1- [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) lkekthd laðkks/kukpk vFkZ lkaxk-

(2) laðkks/ku izfÿ;sps Lo:i Li"V djk-

(3) x`fgrdkaps mxeÚksr Li"V djk-

(4) laðkks/kukph O;kIrh lkaxk-

2- [kk«h« izðukaph izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) vgok« «s[ku-
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(2) rF;kaph oSfðk"VÓs-

(3) o.kZukRed laðkks/ku vkjk[kMk-

(4) oLrqfu"Brk-

(5) x`fgrdkaps izdkj-

(6) izkFkfed lk/kus-

3- [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) laðkks/kukr ladYiusps egRo foðkn djk-

(2) lOgsZ{k.kk«k vkoð;d vl.kkjh lkeqxzh Li"V djk-

(3) laðkks/ku izfÿ;srh« izeq[k VIis Li"V djk-

(4) ekfgrh lad«ukps Úksr lkaxk-

(5) lkekthd laðkks/kukps mÌsðk lkaxk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) laðkks/ku vkjk[kMk Eg.kts dk; \ laðkks/ku vkjk[kMÓkps izdkj Li"V djk-

(2) vgok« «s[ku Eg.kts dk; \ vgok« «s[kukph mfÌ"Vs lkaxk-
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(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) What is Business Management ?

(2) Explain co-ordination and co-operation.

(3) State the merits and demerits of control.

(4) What is line-organisation ?

2. Write the following questions in 100 words each (any four) : [20]

(1) State the types of decisions.

(2) Explain the importance of communication.

(3) State the importance of planning.

(4) State any five principles of organisation.

(5) Explain the management of change.
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3. Answer any two questions from the following in 300 words

each : [30]

(1) Explain the ‘Management is Science and an Art’.

(2) State the theory of motivation.

(3) State the recent trends in management.

(4) Explain the types of Delegation of Authority.

4. Answer the following questions in 500 words (any one) : [20]

(1) Explain various principles of management.

(2) Explain the techniques of Directions.

(3) State the merits and demerits of leadership.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) O;olk; O;oLFkkiu Eg.kts dk; \

(2) ^leUo; vkf.k lgdk;Z* Li"V djk-

(3) fu;a=.kkps xq.k&nks"k lkaxk-

(4) js"kk&la?kVu Eg.kts dk; \
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2- [kk«h« izðukaph izR;sdh 100 ðkCnkar mŸkjs f«gk (dks.krsgh pkj) % [20]

(1) fu.kZ;kps izdkj lkaxk-

(2) laKkiukps egRo Li"V djk-

(3) fu;kstukps egRo lkaxk-

(4) la?kVusph dks.krhgh ikp rRos lkaxk-

(5) O;oLFkkiukrh« cn« Li"V djk-

3- [kk«h« izðukaph izR;sdh 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) ^O;oLFkkiu gs ðkkL= vkf.k d«k vkgs* gs Li"V djk-

(2) laizsj.kspk flºkar lkaxk-

(3) O;oLFkkiukrh« vk/kqfud izokg lkaxk-

(4) vf/kdkj iznkukps izdkj lkaxk-

4- [kk«h« izðukps 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) % [20]

(1) O;oLFkkiukph fofo/k rRos Li"V djk-

(2) fnXnðkZukph ra=s Li"V djk-

(3) usr`Rokps xq.k&nks"k lkaxk-
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1. Answer the following questions in 20 words each (any ten) : [20]

(1) What is guidance ?

(2) What are the three aspects of discipline ?

(3) What is perception ?

(4) Write the meaning of riots.

(5) Write the meaning of discussion method.

(6) What is mental stress ?

(7) What is Globalization ?

(8) What is imagination ?

(9) What is personality ?

(10) Write the meaning of Action Research.

(11) What are the types of mental conflict ?

(12) What are individual difference ?

(13) Write two factors affecting personality.
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2. Answer the following questions in 50 words each (any two) : [10]

(1) Write the importance of social discipline.

(2) Write the educational importance of personality.

(3) Write the need of Vocational Guidance.

(4) Write the merits of Project Method.

3. Answer the following questions in 150 words each (any two) : [20]

(1) What is sensation ? Explain the educational importance of

sensation.

(2) Explain the causes of mental conflict.

(3) Explain the types of individual differences.

(4) What is disaster ? Explain the types of disaster.

4. Answer the following questions in 300 words each (any two) : [30]

(1) What is school indiscipline ? What are the causes of school

indiscipline ? Suggest the ways to overcome it.

(2) What are the main problems in Higher Education ? Suggest

the ways to overcome it.

(3) What is demonstration method ? Explain the nature, merits

and limitations of its.

(4) What is counselling ? What is the importance of counselling ?

Explain the need of counselling at school level.



[4201]-354 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h«iSdh dks.kR;kgh ngk izðukaph mŸkjs izR;sdh 20 ðkCnkar f«gk % [20]

(1) ekxZnðkZu Eg.kts dk; \

(2) fðkLrhps rhu iS«w dks.krs \

(3) vocks/k Eg.kts dk; \

(4) nax«hpk vFkZ f«gk-

(5) ppkZ iºrh vFkZ f«gk-

(6) ekufld r.kko Eg.kts dk; \

(7) tkxfrdhdj.k Eg.kts dk; \

(8) dYiuk Eg.kts dk; \

(9) O;fDreRo Eg.kts dk; \

(10) œrh laðkks/kukpk vFkZ f«gk-

(11) ekufld la?k"kkZps izdkj dks.krs \

(12) O;fDrHksn Eg.kts dk; \

(13) O;fDreRokoj ifj.kke dj.kkjs dks.krsgh nksu ?kVd f«gk-

2- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) lkekftd fðkLrhps egRo f«gk-

(2) O;fDreRokps ðkS{kf.kd egRo f«gk-

(3) O;kolkf;d ekxZnðkZukph xjt foðkn djk-

(4) izdYi iºrhps Qk;ns foðkn djk-
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3- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 150 ðkCnkar f«gk % [20]

(1) laosnuk Eg.kts dk; \ laosnusps ðkS{kf.kd egRo Li"V djk-

(2) ekufld la?k"kkZph dkj.ks Li"V djk-

(3) O;fDrHksnkps izdkj Li"V djk-

(4) vkiŸkh Eg.kts dk; \ vkiŸkhps izdkj Li"V djk-

4- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 300 ðkCnkar f«gk % [30]

(1) ðkk«s; csfðkLr Eg.kts dk; \ ðkk«s; csfðkLrhph dkj.ks dks.krh \ rh nwj

dj.;klkBh mik; lwpok-

(2) mPp fðk{k.kkrh« leL;k dks.kR;k \ R;k nwj dj.;klkBh ekxZ lwpok-

(3) fnXnðkZu iºr Eg.kts dk; \ fnXnðkZu iºrhps Lo:i] Qk;ns o e;kZnk

Li"V djk-

(4) lewinsðku Eg.kts dk; \ lewinsðkukps egRo lkaxwu ðkk«s; Lrjkoj lewinsðkukph

xjt Li"V djk-
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1. Attempt any eight of the following : [16]

(i) Which of the following are valid identifiers ? Justify :

(a) else

(b) if-else

(c) name

(d) name1

(ii) Write the syntactic translation of the following :

(a)
xyz

x y z+ +

(b) ( ) ( )23 2 2 .x a b+ −

(iii) Find the value of the following expression :

2 * 3 * 4/2 – 3%2.
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(iv) Explain increment operator.

(v) Explain the meaning of the following array initialization :

char n[ ] = “London 2012”;

(vi) Write a macro SQR(a) to compute the square of a number.

(vii) Write the meaning of the following declaration :

int a(float, int *, int);

(viii) Define a structure consisting of the following members :

Roll Number, Class, Percentage of Marks.

(ix) Explain the left shift operator.

(x) Write the general form of fprintf( ).

2. (A) Attempt any one of the following : [6]

(i) Explain the if-else statement and conditional operator.

(ii) Write a short note on for loop. Explain with an

example.

(B) Attempt any two of the following : [10]

(i) Write a short note on one-dimensional array.

(ii) Write a short note on switch statement.

(iii) Write a C program to check the validity of a triangle

and if valid check whether it is equilateral, isosceles or

scalene.
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3. (A) Attempt any two of the following : [8]

(i) Write a C program to compute nCr.

(ii) Write a C program to find transpose of a square matrix.

(iii) Write a short note on function recursion.

(B) Attempt any two of the following : [8]

(i) Differentiate between call by value and call by reference.

(ii) Give an example of structure initialization. Explain your

example.

(iii) Write a short note on bitwise AND and bitwise OR

operators.

4. (A) Attempt any one of the following : [6]

(i) Write a C program to find multiplication of two complex

numbers. Define complex number using structure.

(ii) Write a short note on pointers.

(B) Attempt any two of the following : [10]

(i) Write a short note on fopen( ) and fclose( ).

(ii) Write a C program to copy a file to another file.

(iii) Write a short note on macros in C.
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5. (A) Attempt any one of the following : [6]

(i) Write a C program to find the number of lines, words

and characters in a text file.

(ii) Write a short note on passing structures to functions.

(B) Attempt any two of the following : [10]

(i) Write a program to find distance between two points

P(x1, y1) and Q(x2, y2). Define a point using structure.

(ii) A C program contains the following declaration :

  int x[8] = {3, 6, 8, 12, 16, 20, 100, 200};

(a) What is the meaning of x ?

(b) What is the meaning of x + 3 ?

(c) What is the value of * x + 3 ?

(d) What is the value of * (x + 3) ?

(e) What is the value of * (x + 3) + 3 ?

(iii) Trace the output, if the program is correct :

#include <stdio.h>

main( )

{

char * P = “Mathematics”;

while (* P)

   printf(“%s\n”, P++);

}
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1. Answer any two of the following : [5 each]

(a) Explain the following terms with an illustration :

(i) Null hypothesis

(ii) Observed level of significance (p-value).

(b) If X follows Poisson distribution with parameter , obtain a

sufficient statistic of .

(c) Let X1, X2, .........., Xn be a random sample from N(µ, 2)

distribution, show that S2 is an unbiased and consistent estimator

of 2, where 

2

2 1

(X X)

S
( 1)

n

i
i

n
=

-

=
-

å
.

(d) Describe one sample Wilcoxon’s signed rank test.

P.T.O.
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2. Attempt any four of the following : [5 each]

(a) Construct 100(1 )%- a  confidence interval for the difference of

two population means (µ1 – µ2) based on a random sample

from bivariate normal population having common population

variance 2 known.

(b) Let x be a single observation from the distribution with p.d.f.

1( , ) . , 0 1f x x xq-
q = q < £

for testing 0H : 1q =  against 1H : 3q = . Find the probabilities

of errors of two kind if critical region is 3 / 4x ³ .

(c) Construct SPRT of strength (, ) for testing 0 0H : l = l  against

1 1 1 0H : ( )l = l l > l  for a Poisson variate with parameter .

(d) Define MVBUE of a parameter. Show that it is unique when

it exists.

(e) Distinguish between parametric test and non-parametric test.

(f) The following is a sequence of male (M) and female (F) standing

in a queue :

 M F M F F F M M M F F M F F M F M F F M M M

Can this sequence be regarded as random ? Test at 5% level

of significance.
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3. Attempt any three of the following : [10 each]

(a) Let X1, X2, .........., Xn be a random sample of size n from

an exponential distribution with p.d.f. :

( , ) , 0; 0

0 , otherwise

xf x e x- qq = q > q >

=

Construct the most powerful level  test for testing 0 0H : q = q

against 1 1 1 0H : ( )q = q q > q . Also obtain the power function of

the test.

(b) A random variable X follows binomial distribution with parameter

n = 10 and P. To test 0H : P 0.4=  against 1H : P 0.4> , construct

a uniformly most powerful test of level . Also show that

there does not exist UMP test for testing 0H : P 0.4=  against

1H : P 0.4¹ .

(c) If B( )q  is the bias in the estimator of , then under certain

conditions to be stated, show that :

2[1 B'( )]
V(T)

I( )n

+ q
³

q

where I( )q  is the information function of  based on a random

sample of size n.

(d) Use Kolmogorov Smirnov test to test the following sample values

come from normal (µ = 70; 2 = 36) distribution :

74, 63, 59, 62, 44, 82, 93, 102, 35, 78

(e) (i) Describe briefly the method of moments for the estimation

of parameters. [5]

(ii) Find Fisher information function I( )q  for P( )q . [5]
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4. Attempt any one of the following : [20]

(a) (i) State and prove Neyman’s factorization theorem for discrete

case. [10]

(ii) Define maximum likelihood estimator (m.l.e.) of a parameter.

Obtain m.l.e. of location parameter µ of Cauchy distribution

using iterative procedure. [10]

(b) (i) Construct likelihood ratio test (LRT) for testing

H0 : P = P0 against H1 : P  P0 where P is the parameter

involved in binomial distribution. [10]

(ii) Let Y1 < Y2 < .......... < Y10 be the order statistics

of a random sample of size 10 from a continuous probability

distribution. Sample observations are as follows :

4, 7, 3, 5, 5, 8, 5, 12, 14, 7

Find the 99% confidence interval for the population

median. [10]
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1. (A) Answer any three of the following in about 20 words

each : [6]

(i) What is formal communication ?

(ii) Does body language enhance one’s communication

skills ?

(iii) What is downward communication ?

(iv) State the importance of non-verbal communication.

(v) What do you mean by horizontal communication ?
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(B) Attempt any three of the following : [6]

(i) Identify the contrast of sounds in the following pairs

of words :

(a) Seat—Sit

(b) Full—Fool.

(ii) Mark the accent in the following words :

(a) Doctor

(b) Demand.

(iii) Identify the weak forms in the following sentences :

(a) They are friendly.

(b) It is a nice day.

(iv) Mark intonation in the following sentences :

(a) Open the door.

(b) Are you coming ?

(v) How would you express thanks in the following

situation :

Someone found and returned a book you had lost.

2. (A) Attempt any three of the following : [6]

(i) Form two words with each of the following suffixes :

(a) .....able

(b) .....less.
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(ii) Form antonyms with the help of the prefixes :

(a) Accurate

(b) Legal.

(iii) Identify the part of speech of the underlined words in

the following sentences :

(a) This is a kind of bread.

(b) They are kind people.

(iv) Identify the acceptable combinations of the words given

below :

(a) Make amends/do amends.

(b) A hot favourite/a warm favourite.

(v) Fill in the blanks with appropriate word :

(a) He bought some ........................ .

(stationary/stationery)

(b) She gave ........................ to twins. (birth/berth)

(B) Attempt any three of the following : [6]

(i) Write a set of two words closely related to meaning

in the following :

(a) Shinning

(b) Sorrow.
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(ii) Match the following synonyms :

   A  B

(1) Appear (a) useless

(2) Broad (b) basic

(3) Futile (c) seem

(4) Elementary (d) wide

(iii) Frame sentences by using the following phrases :

(a) Look up to

(b) Look into.

(iv) Coin as many words as possible from the letters used

in the words below :

(a) Mathematics

(b) Tarnish.

(v) Identify whether the meaning of the underlined words

is literal or figurative :

(a) The Vet treated the lame dog and took it home.

(b) He gave a lame excuse.

3. Attempt any two of the following : [12]

(a) Imagine that you are facing an interview for the post of a

librarian in a college. Anticipate any six questions you would

ask and write down your possible responses to them.
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(b) Imagine that you are going to interview an Olympic Medal

Winner. List ten questions you would ask.

(c) A group of three friends is having a discussion on a recently

visited fort. Write a dialogue anticipating two utterances for

each of the participants.

4. Attempt any two of the following : [12]

(a) Write a paragraph of about 100 words on any one of the

following topics :

(i) Corruption in India

(ii) Sports in India.

(b) Write a review of a book you have read recently.

(c) Summarize the following passage :

The earth itself becomes our enemy when an earthquake strikes.

Every country in the world is threatened by the tremendous

fury of earthquakes. Their power exceeds all the forces released

by humankind. When a city is hit, buildings fall and explosions

and fires are started. Underground railways are wrecked. Gaping

crevices appear on streets. Bridges and dams fall. Huge tidal

waves rise on the sea. Avalanches roar down the mountainsides.
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An earthquake in Lisbon in 1755 destroyed the city and killed

450 persons. In Peru, 50,000 people died in an earthquake

in 1970. The sub-continent of Alaska was pushed 80 feet into

the sea in 1968. Faced with such tremendous forces, which

cannot be resisted, scientists can only pinpoint the earthquake

areas and take suitable steps to minimize the harm.

5. (A) Attempt any two of the following : [6]

(i) Punctuate the following passage :

the stenogram is efficient reliable timesaving and

economical backed by our international reputation for

reliability it is in a regular use in many offices all over

the country it is unbelievably simple to use just slip in

a preloaded cassette press a button and it is ready to

record your dictation telephone conversations interviews

or whatever.

(ii) Rearrange the jumbled sentences below to form a well

written paragraph :

(1) It contains, of course, the meaning of difficult

words.
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(2) One of the most important reference books that

you must possess is a dictionary.

(3) It also gives you the pronunciation of the words.

(4) You do possess one, perhaps, but I doubt whether

you are aware of the different kinds of information

it contains.

(5) The dictionary can be referred to for various

grammatical forms of the words.

(6) Every college dictionary should provide at least

these four kinds of information about words, namely

pronunciation, meaning, grammatical patterns and

usage.

(7) Finally, a good dictionary gives illustrative sentences

or phrases, showing how words are actually used.

(iii) Explain the use of any one of the following :

(a) Apostrophe

(b) Capital letters.
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(B) Attempt any two of the following : [6]

(i) Match the following expressions of telephonic

conversation :

   A  B

(1) Hi, Laxmi, how are (a) They are very fine.

you ?

(2) How are you doing ? (b) Good, what about your

job ?

(3) Great, how are your (c) Hi, Namrata, I am good.

parents ?

(4) And your job ? (d) Yeah, I am doing good.

What about you ?

(ii) Complete the telephonic conversation given below :

A : Let’s go for shopping.

B : ..............................................

A : You are saying no for shopping. You love shopping.

B : ..............................................

A : I do not believe. Such a positive person like you

cannot be depressed.

B : .............................................. It is quite natural.

(iii) Write a transcript of a power point presentation you

would make on “English as a Global Language”.
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1. Answer any four of the following : [16]

(1) What is Morpheme ? Mention the major types of Morphemes.

(2) Explain the terms ‘Compounding’ and ‘Conversion’ as a process

of word formation.

(3) Explain with suitable examples the plosive sounds in English.

(4) Describe the pure vowels in English.

(5) Write a note on manner of articulation.

(6) Write a note on prefixation and suffixation.



[4201]-358 2

2. Write short notes on any four of the following : [16]

(1) Bilingualism

(2) Code mixing

(3) Creolization

(4) The three Dimensions of Speech Acts

(5) Nativization of English

(6) Language and Language Use.

3. Write short notes on any four of the following : [16]

(1) The uses of falling tone

(2) Uses of the indefinite articles

(3) The Present Aspect

(4) Types of Nouns

(5) Intonation Patterns

(6) Grammatical stress.

4. Write short notes on any four of the following : [16]

(1) Cooperative Principle

(2) Grammatical features of Indian English

(3) Registers
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(4) Style

(5) Person Deixis

(6) Phonological Features of American English.

5. (A) Answer any two of the following : [8]

(1) Distinguish between British English and American English

at lexical level.

(2) What are the salient features of Indian English ?

(3) What are the salient features of British English ?

(B) Do as directed (any four) : [8]

(1) Give the affixes for the following :

(a) ................less

(b) Un................

(c) ................able

(d) Anti................

(2) Transcribe the following words phonemically :

leave, rat, boil, judge.

(3) Use the correct tense form of the verb given in the

brackets :

He (ride) a bicycle now.



[4201]-358 4

(4) Identify the register of the following utterances and

mention its markers :

The President of India addressed the Parliament on the

Lokpal Bill.

(5) Identify the Deixis in the following utterances and

mention its type :

It is raining outside now, but I hope when you read

this, it will be sunny.
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1. (A) Attempt any two of the following in about 50 words

each : [8]

(i) Define criticism and state its main principles.

(ii) Discuss literature as a Fine Art.

(iii) What are the qualifications of a good critic ?

(B) Attempt any two of the following in about 50 words

each : [8]

(i) Write a note on the biographical approach to literature.

(ii) What is sociological approach to literature ? Elaborate.

(iii) What are the merits and demerits of psychological

approach to literature ?
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2. Attempt any four of the following in about 50 words each : [16]

(i) Discuss Sidney’s views on superiority of poetry over other

disciplines.

(ii) What is Touchstone Method ? Explain.

(iii) “Tragi-comedy is near to life than either tragedy or comedy.”

Discuss this view in the light of Johnson’s ‘Preface to

Shakespeare’.

(iv) Write a note on Wordsworth’s definition of poetry and his

views on the language of poetry.

(v) Explain, with reference to T.S. Eliot, the importance of historical

sense necessary for the writer.

(vi) Throw light on the definition of poetry as given by Wordsworth.

3. Explain any four of the following literary terms : [16]

(i) Denotation

(ii) Allusion

(iii) Genre

(iv) Simile

(v) Humour

(vi) Irony.

4. Explain any four of the following literary terms : [16]

(i) Modernism
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(ii) Allegory and Personification

(iii) Round character and Flat character

(iv) Comic relief

(v) Poetic justice

(vi) Romanticism.

5. Read the following poem and answer the questions that follow

(any eight) : [16]

Four seasons fill the measure of the year;

There are four seasons in the mind of man :

He has his lusty Spring, when fancy clear

Takes in all beauty with an easy span :

He has his Summer, when luxuriously

Spring’s honied cud of youthful thought he loves

To ruminate, and by such dreaming high

Is nearest unto heaven : quite coves

His soul has in its Autumn, when his wings

He furleth close; contented so to look

On mists in idleness — to let fair things

Pass by unheeded as a threshold brook.

He has his Winter too of pale misfeature,

Or else he would forego his mortal nature.
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Questions :

(1) What is the tone of the poem ?

(2) What is the theme of the poem ?

(3) What type of poem is this ?

(4) Which are the four seasons in the mind of man ?

(5) What are the major images in the poem ? Explain one of

them.

(6) What does Autumn symbolize in the poem ?

(7) Give the meanings of the following words :

(a) fancy

(b) brook.

(8) What is the rhyme scheme of the poem ?

(9) Comment on the significance of the last two lines.

(10) What do you understand by ‘Lusty Spring’ ?

(11) Suggest a suitable title to the poem.
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1. (A) Attempt any four of the following : [8]

(i) If a group G has an element x such that ax = x for

all a ∈ G then show that G contains only identity element.

(ii) Show that a cyclic group with one generator has at most

2 elements.

(iii) If G = S3 and G' = Z3 then show that there is no

group homomorphism of G to G' except the zero-

homomorphism.

P.T.O.
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(iv) Show that the group Q* of non-zero rationals under

multiplication is not cyclic.

(v) Show that a group cannot be expressed as a union of

two proper subgroups.

(B) Attempt any four of the following : [8]

(i) Give an example of a ring which is neither a commutative

ring nor has unity 1.

(ii) What are the indempotent elements in an integral domain

(with unity).

(iii) Show the rings (Z, +, ·) and (2Z, +, ·) are not isomorphic

as a ring but are isomorphic as a group.

(iv) What is the quotient field of a finite integral domain ?

(v) Find all irreducible polynomials of degree < 2 in Z2[x].

2. (A) Attempt any one of the following : [6]

(i) If H and K are subgroups of a group G then prove

that HK is a subgroup of G if and only if HK = KH.

(ii) If φ is a group homomorphism from a group G onto

a group G' with kernel K then show that :

G
G'

K
� .
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(B) Attempt any two of the following : [10]

(i) Find the solution of the equation ax = b in S3, where

1 2 3

3 2 1
a

 
=   

 and 
1 2 3

1 3 2
b

 
=   

.

Also find the order of x and determine whether x is

even or odd.

(ii) If G has only one element a of order n then prove

that a ∈ Z(G), centre of G.

(iii) If K is a normal subgroup of a group G and H is any

subgroup of G, then prove that H ∩ K is a normal

subgroup of H. What happens if H is also a normal subgroup

of G.

3. (A) Attempt any two of the following : [8]

(i) Prove that every group is isomorphic to a group of

permutation.

(ii) Determine number of abelian groups (upto isomorphism)

of order 200. Find them.

(iii) If D4 is dihedral group of degree 4, find all subgroups

of D4. Is D4 isomorphic to Q8 (group of quaternian) ?

Why ?
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(B) Attempt any two of the following : [8]

(i) Prove that every finite integral domain is a field.

(ii) If R is a commutative ring with unity and a ∈ R is

nilpotent element then prove that 1 – a has multiplicative

inverse in R. Find nilpotent elements in the ring Z12.

(iii) If R is a commutative ring with unity, then show that

the same is true for 
R

I
. Is the converse true ? Justify.

4. (A) Attempt any one of the following : [6]

(i) If R is a commutative ring with unity and if A is an

ideal of R, then prove that 
R

A
 is an integral domain

if and only if A is a prime ideal of R.

(ii) If F is a field, then prove that F[x] is a principal ideal

domain.

(B) Attempt any two of the following : [10]

(i) Find all prime and maximal ideals in the ring Z16.

(ii) Find all non-units in the ring Z[i], the ring of Gaussian

integers. Show that 1 + i is an irreducible element in

Z[i].

(iii) Which of the following is true ? Why ?

(a) Quotient ring of a PID is PID.

(b) Product of PID is a PID.
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5. (A) Attempt any one of the following : [6]

(i) If F is a field, then prove that F[x] is Euclidean

domain.

(ii) If f(x) ∈ Z[x] and if f(x) is reducible over Q, then prove

that it is reducible over Z.

(B) Attempt any two of the following : [10]

(i) Prove that the ring Z[ 5] { 5| , Z}a b a b− = + − ∈  is not

a UFD.

(ii) In Z[ 7]− , show that N[6 + 2 7]−  = N(1 + 3 7)−  but

6 2 7+ −  and 1 3 7+ −  not associates.

(iii) Construct a field with 9 elements.
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1. Attempt any eight of the following : [16]

(i) Give an example of sets A, B, C such that A B⊆ , C B⊆

but 

A C⊆

.

(ii) Show that N is similar to Z.

(iii) Show that the conditional statement 

( )p p q q ¬ ∧ ∨ → 

 is a

tautology without using truth table.

(iv) Determine the truth value of each of the following

statements :

(a) ( )1n n n∀ + >

(b) ( )n n n∃ = −

where the domain consists of all integers.

(v) Find converse and inverse of the statement :

“The home team wins whenever it is raining”.
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(vi) Find interior of the following subsets of R with usual

metric :

(a) Q

(b) [2, 10].

(vii) Give an example of proper dense subset of R.

(viii) Let (X, d) be a discrete metric space and x ∈ X.

Find the following :

(a)
1

B ,
2

x
 
  

(b) B(x, 1)

(ix) Show that if B is totally bounded and A ⊂ B, then A is totally

bounded.

(x) Is the empty set φ ⊂ X open in the metric space (X, d) ?

Justify.

2. (A) Attempt any one of the following : [6]

(i) For every set A, prove that A ∝ P(A).

(ii) For each natural number n, if A n= , then show that

A is not similar to proper subset of itself.

(B) Attempt any two of the following : [10]

(i) Prove that, if domain of a function is countable, then

its range is also countable.

(ii) Use quantifiers and predicates to express the statement

‘ ( )lim
x a

f x
→

 does not exist’.

(iii) Show that N × N is countable.
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3. (A) Attempt any two of the following : [8]

(i) Prove that a countable union of countable sets is countable.

(ii) Show that the argument with premises

( ) ( ) ( ), ,p t r s q u t u p∧ → ∨ → ∧ →  and s¬  and conclusion

q r→

 is valid.

(iii) Show that if n is any integer and n3 + 5 is odd, then

n is even using :

(a) a proof by contraposition

(b) a proof by contradiction.

(B) Attempt any two of the following : [8]

(i) Let (X, d) be a metric space. Define :

δ(x, y) = min {1, d(x, y)}, for all x, y ∈ X.

Show that δ is a metric on X.

(ii) Show that R2 is complete.

(iii) Show that U = {(x, y) ∈ R2 : xy ≠ 0} is open in R2.

4. (A) Attempt any one of the following : [6]

(i) Prove that a non-empty open set in R is the union of

countable family of pairwise disjoint open intervals.

(ii) Prove that a subset E of a metric space (X, d) is closed

if and only if E contains all its limit points.
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(B) Attempt any two of the following : [10]

(i) Let , show that O is the only cluster

point of A.

(ii) Let (X, d) be a metric space, then prove that any convergent

sequence in (X, d) is Cauchy.

(iii) Define the map f : R → R by setting f(x) = |x – 1|.

Show that f is continuous.

5. (A) Attempt any two of the following : [8]

(i) Show that the discrete metric space (X, d) is complete.

(ii) Show that any bounded subset of R is totally bounded.

(iii) Show that the circle {(x, y) ∈ R2 |x2 + y2 = 1} is

connected.

(B) Attempt any two of the following : [8]

(i) Prove that any closed subset of a compact metric space

is compact.

(ii) Show that, if a set J ⊆ R is connected, then J is an

interval.

(iii) Let X, Y be metric spaces and D ⊂ X be dense. Let

f, g : X → Y be continuous functions such that

f(x) = g(x) for all x ∈ D. Show that f = g on X.
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1. Attempt any eight of the following : [16]

(i) Show that :

y(x) = c1 sin 2x + c2 cos 2x

is a solution of :

2

2
4 0.

d y
y

dx
+ =

(ii) Solve :

( )2 24 0.x xdy
e ye

dx
+ − =

(iii) Find the orthogonal trajectory of a family xy = c.

(iv) Find an integrating factor for the differential equation :

y(1 + xy) dx + x(1 – xy) dy = 0.
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(v) Find the regular singular points of :

2x2y′′ + x(2x + 1)y′ – y = 0.

(vi) Find the integral curves of :

( ) ( ) ( )
.

a dx b dy c dz

b c yz zx c a xy a b
= =

− − −

(vii) Find the integral of :

x dy – y dx – 2x2z dz = 0.

(viii) Find the complete integral of :

pey = qex.

(ix) Write the Charpit’s auxiliary equation for :

( ) ( )21 0.p q b z q+ + − =

(x) Prove that :

x dx + y dy = 0

is an exact differential equation.

2. (A) Attempt any one of the following : [6]

(i) If

( )1 M N

N N
f x

x

∂ ∂ − =  ∂ ∂
,

then prove that :

( )f x dx
e∫

is an integrating factor of the differential equation :

M dx + N dy = 0.
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(ii) Define orthogonal trajectories of the family of curves and

show that family :

y2 = 4a(x + a)

of all parabolas is self-orthogonal.

(B) Attempt any two of the following : [10]

(i) Suppose x0 = 0 is regular singular point of :

y′′ + py′ + qy = 0

then show that :

1
1

0

m j
j

j

y x a x

∞

=

 
 =
  
∑

is a series solution of :

y′′ + py′ + qy = 0

on interval of convergence of series of functions xp(x),

x2q(x) and m1 is root of initial equation.

(ii) Solve the equation :

I
L RI E

d

dt
+ =

when an initial current I0 is flowing and constant emf

E0 is impressed on the circuit at time t = 0.
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(iii) Find the power series of :

y′′ + y = 0.

3. (A) Attempt any two of the following : [8]

(i) Explain the method of undetermined coefficients for solving

the second order differential equation with constant

coefficients.

(ii) Find auxiliary equation for the homogeneous system of

equations :

1 1 ,
dx

a x b y
dt

= +

2 2
.

dy
a x b y

dt
= +

(iii) Find the particular solution of the equation :

( )3 2 cos xy y y e−− + =′′ ′

by using the method of variation of parameter.

(B) Attempt any two of the following : [8]

(i) Solve :

q = px + p2

by using Charpit’s method.
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(ii) Solve :

2
2y z

p xzq y
x

 
+ =  

by Lagrange’s method.

(iii) Show that Pfaffian differential equation in two variables

always possess an integrating factor and hence it is

integrable.

4. (A) Attempt any one of the following : [6]

(i) Explain Natani’s method to solve :

P dx + Q dy + R dz = 0.

(ii) Explain method of finding a surface orthogonal to system

of surfaces :

f(x, y, z) = c.

(B) Attempt any two of the following : [10]

(i) (a) Solve :

  ( )3 2 3 2 2
.

3 3 2

dx dy dz

x xy y x y z x yz
= =

+ + +

(b) Form a partial differential equation by eliminating

the arbitrary function φ from :

   ( )2 2 2, 0.x y z x y zφ + + + − =
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(ii) (a) Find the integral surface of :

  ( ) ( ) ( )2 2 2 2x y z p y x z q x y z+ − + = −

which contains the straight line x + y = 0 and

z = 1.

(b) Solve :

(yz + xyz)dx + (zx + xyz)dy + (xy + xyz)dz = 0.

(iii) Show that the equation :

xp – yq = x and

x2p + q – xz = 0

are compactible. Find the solution.

5. (A) Attempt any one of the following : [6]

(i) Explain Jacobi’s method for solving a partial differential

equation :

f(x, y, z, p, q) = 0.

(ii) Explain the method of solving first order partial

differential equation :

(a) f(p, q) = 0

(b) f(p, q, z) = 0.
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(B) Attempt any two of the following : [10]

(i) Find the integral surface of the equation :

4yzp + q + 2y = 0

and passing through y2 + z2 = 1, x + z = 2.

(ii) Solve Pfaffian differential equation :

( )2 2 3 3 23 3 0.zx dx y dy x y e dz+ − + + =

(iii) Find the orthogonal trajectories of family :

2 2

2 2
1,

x y

a a
+ =

+ λ

where λ is a parameter.
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1. Answer any two of the following questions in 50 words each : [10]

(i) What is the difference between Pure sciences and Applied

sciences ?

(ii) What is inductive leap ?

(iii) How does Durkheim understand the concept of social

fact ?

(iv) What is Methodological Holism ?

2. Write short notes on any four of the following in 100 words each : [20]

(i) Distinction between theoretical terms and observational terms

according to logical positivists.

P.T.O.
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(ii) Functional model of Explanation.

(iii) Consistency as the condition of acceptability of a Scientific

Hypothesis.

(iv) Motivational Explanation.

(v) Nature of subject matter of social sciences.

(vi) Grounds of scientific induction.

3. Answer any three of the following questions in 200-250 words each : [30]

(i) Explain the objectives of social sciences in comparison with

those of natural sciences.

(ii) Discuss Mill’s theory of Causation.

(iii) Discuss logical positivists views about the cognitive status of

theories.

(iv) Explain the nature of Scientific Law.

(v) Discuss the main characteristics of laws in social sciences.

4. Answer any one of the following questions in 500 words : [20]

(i) Critically discuss Hume’s theory of Causation.

(ii) Critically discuss the “unity of method” thesis.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(i) ðkqº o mi;ksftr foKkukrh« Qjd Li"V djk-

(ii) ^oSxefud >si* Eg.kts dk; \

(iii) lkekftd okLrokcÌ«ps Mqj[kkbZeps vkd«u Li"V djk-

(iv) iºrhðkkL=h; lexzrkokn Eg.kts dk; \

2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar fVi.k f«gk % [20]

(i) rkfdZd izR;{kkFkZoknkuqlkj lSºkfUrd ladYiuk o fujh{; ladYiuk ;karh«

Qjd-

(ii) Li"Vhdj.kkps dk;kZRed izk:i (ekWMs«)-

(iii) lqlaxrrk % oSKkfud vH;qixekP;k Lohdk;Zrsph ,d vV-

(iv) /;s;kuqxkeh Li"Vhdj.k-

(v) lkekftd foKkukP;k vH;klfo"k;kps Lo:i-

(vi) oSKkfud foxeukpk ik;k-
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3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200&250 ðkCnkar nÓk % [30]

(i) foKkukP;k mfÌ"VkaP;k rq«usr lkekftd foKkukP;k mfÌ"Vkaph ppkZ djk-

(ii) feY«P;k dk;Zdkj.krkfo"k;d fopkjkaph ppkZ djk-

(iii) miiŸkhP;k cks/kulaca/kh ntkZcÌ«ph rkfdZd izR;{kkFkZoknkph Hkwfedk Li"V

djk-

(iv) oSKkfud fu;ekps Lo:i Li"V djk-

(v) lkekftd foKkukrh« fu;ekaph izeq[k oSfðk"VÓs Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar |k % [20]

(i) gÓqeP;k dk;Zdkj.klaca/kh fopkjkaps lVhd ijh{k.k djk-

(ii) iºrhP;k ,drsP;k flºkUrkps lVhd ijh{k.k djk-
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Group A (G-3) : Work, Industry and Society

1. Answer any two of the following in maximum 50 words each : [10]

(i) Balutedari system.

(ii) Work related stress.

(iii) Informal relations within formal organization.

(iv) Flexibility in post-Fordist production.

P.T.O.
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2. Write short notes on any four of the following in maximum

100 words each : [20]

(i) Importance of work.

(ii) Scientific management.

(iii) Unemployment in contemporary India.

(iv) Feminization of work.

(v) Give the meaning of informal/unorganised sector.

(vi) Features of Globalisation.

3. Answer any three of the following in maximum 250 words each : [30]

(i) Discuss the characteristics of Bureaucracy.

(ii) Explain the features of Japanese Model.

(iii) Describe the problems of informal/unorganised sector.

(iv) Describe the problems of migrant labour.

(v) Elucidate the impact of information age on social institutions.

4. Answer any one of the following in maximum 500 words : [20]

(i) What is work ? Write in detail on the historical overview

of work.

(ii) Define Liberalization and Privatization. Explain the effects of

both on workers in Formal Sector.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) xV ^v* fdaok xV ^c* lksMok-

(ii) loZ izðu lksMfo.ks vkoð;d vkgsr-

(iii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(xV ^v*)

1. [kk«h«iSdh dks.kR;kgh nksgksaph izR;sdh dek« 50 ðkCnkar mŸkjs f«gk % [10]

(i) c«qrsnkjh iºr-

(ii) dkek laca/kh rk.k-

(iii) vkSipkfjd la?kVukae/kh« vukSipkfjd laca/k-

(iv) mŸkj&QksfMZLV mRiknukrh« «ofpdrk-

2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh dek« 100 ðkCnkar fVik f«gk % [20]

(i) dkekps egRo-

(ii) ðkkL=h; O;oLFkkiu-

(iii) ledk«hu Hkkjrkrh« csdkjhph leL;k-

(iv) dkekps ^L=h*dj.k-

(v) vukSipkfjd@vla?kfVr {ks=kpk vFkZ |k-

(vi) tkxfrdhdj.kkph oSfðk"VÓs-
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3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh dek« 250 ðkCnkar mŸkjs f«gk % [30]

(i) uksdjðkkghP;k oSfðk"V~Ókaph ppkZ djk-

(ii) tikuh izk:ikph oSfðk"VÓs Li"V djk-

(iii) vukSipkfjd@vla?kfVr {ks=krh« leL;kaps o.kZu djk-

(iv) LFk«karfjr dkexkjkaP;k leL;kaps o.kZu djk-

(v) ekfgrh ;qxkpk lkekftd laLFkkaojh« izHkko foðkn djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps dek« 500 ðkCnkar mŸkj f«gk % [20]

(i) dke Eg.kts dk; \ dkekpk lfoLrj ,sfrgkfld vk<kok ?;k-

(ii) mnkjhdj.k o [kktxhdj.kkph O;k[;k |k o ;k nksgksaps la?kfVr {ks=krh« dkexkjkaojh«

ifj.kke Li"V djk-

OR

(fdaok)

Group B (G-3) : Crime and Society

1. Answer any two of the following in maximum 50 words each : [10]

(i) Rehabilitation of prisoners.

(ii) Marxian perspective.

(iii) Organised crime.

(iv) Crime against tribes.
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2. Write short notes on any four of the following in maximum

100 words each : [20]

(i) Forms of crime against women.

(ii) Preventive theory of crime.

(iii) Human right perspective.

(iv) Any two features of Geographical School of Crime.

(v) Reformation theory.

(vi) Features of white collar crime.

3. Answer any three of the following in maximum 250 words each : [30]

(i) Explain the concept of crime and its features.

(ii) Explain the meaning and causes of Juvenile Delinquency.

(iii) What is Terrorism ? Explain the features of Terrorism.

(iv) Explain Sutherland’s perspective on crime.

(v) Describe criminalisation of politics.

4. Answer any one of the following in maximum 500 words : [20]

(i) Explain different sociological theories of crime.

(ii) Discuss the features and limitations of demonological theory

of crime.
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(xV ^c*)

1. [kk«h«iSdh dks.kR;kgh nksgksaph izR;sdh dek« 50 ðkCnkar mŸkjs f«gk % [10]

(i) dS|kaps iquoZlu-

(ii) ekDlZoknh n`"Vhdks.k-

(iii) la?kfVr xqUgsxkjh-

(iv) tekrh fo#ºps xqUgs-

2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh dek« 100 ðkCnkar fVik f«gk % [20]

(i) fL=;kafojks/kh xqUgÓkaps izdkj-

(ii) xqUgÓkpk izfrca/kkRed n`"Vhdks.k-

(iii) ekuoh gDd n`"Vhdks.k-

(iv) xqUgÓkP;k Hkwxks«ðkkL=h; fopkjizokgkph dks.krhgh nksu oSfðk"VÓs-

(v) lq/kkj.kkoknh flºkar-

(vi) ika<jisðkh; xqUgÓkph oSfðk"VÓs-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh dek« 250 ðkCnkar mŸkjs f«gk % [30]

(i) ^xqUgk* gh ladYiuk Li"V d:u R;kph oSfðk"VÓs Li"V djk-

(ii) ck«xqUgsxkjhpk vFkZ o dkj.ks Li"V djk-

(iii) ngðkrokn Eg.kts dk; \ ngðkroknkph oSfðk"VÓs Li"V djk-
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(iv) lnj«°M ;kapk xqUgÓkfo"k;hpk n`"Vhdks.k Li"V djk-

(v) jktdkj.kkP;k xqUgsxkjhdj.kkps o.kZu djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps dek« 500 ðkCnkar mŸkj f«gk % [20]

(i) xqUgÓkps fofo/k lektðkkL=h; flºkar Li"V djk-

(ii) xqUgÓkP;k fiðkkP;oknh flºkarkph oSfðk"VÓs o e;kZnkaph ppkZ djk-
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Seat

No. [4201]-366

T.Y. B.A. EXAMINATION, 2012

SOCIOLOGY

(S-3 : Social Research Methods)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in maximum 50 words each : [10]

(i) Primary sources

(ii) Meaning of hypothesis

(iii) Report writing

(iv) Ethnography.

2. Write short notes on any four of the following in maximum 100 words

each : [20]

(i) Mode

P.T.O.
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(ii) Any three merits of case study method

(iii) Exploratory research

(iv) Importance of objectivity

(v) Histogram

(vi) Random sampling.

3. Answer any three of the following in maximum 250 words

each : [30]

(i) Explain the merits and demerits of survey method.

(ii) Describe the merits and demerits of content analysis.

(iii) Explain the characteristics of Hypothesis.

(iv) Describe the demerits of case study method.

(v) Explain the importance of computer in social research.

4. Answer any one of the following in maximum 500 words : [20]

(i) What is social research ? Explain the significance of Social

Research.

(ii) What is observation ? Describe the merits and demerits of

observation method.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksgksaoj izR;sdh dek« 50 ðkCnkai;Zr mŸkj f«gk % [10]

(i) izkFkfed lzksr

(ii) flºkardYiuspk vFkZ

(iii) vgok« «s[ku

(iv) laLœrho.kZu@«ksdk«s[k-

2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh dek« 100 ðkCnkai;Zr Vhik f«gk % [20]

(i) cgq«d

(ii) òŸkkH;kl iºrhps dks.krsgh rhu Qk;ns

(iii) vUos"k.kkRed vFkok ifjp;kRed laðkks/ku

(iv) oLrqfu"Brsps egRo

(v) LraHkk«s[k

(vi) ;kn`fPNd uequk fuoM iºrh-
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3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh dek« 250 ðkCnkai;Zr mŸkjs f«gk % [30]

(i) losZ{k.k iºrhps Qk;ns o rksVs Li"V djk-

(ii) vkðk; foð«s"k.kkps Qk;ns o rksVs foðkn djk-

(iii) flºkardYiusph oSfðk"VÓs Li"V djk-

(iv) o`ŸkkH;kl iºrhP;k rksVÓkaps o.kZu djk-

(v) lkekftd laðkks/kukr lax.kdkps egRo Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkai;Zr f«gk % [20]

(i) lkekftd laðkks/ku Eg.kts dk; \ lkekftd laðkks/kukps egRo Li"V djk-

(ii) fujh{k.k Eg.kts dk; \ fujh{k.k iºrhP;k Qk;ns o rksVÓkaps o.kZu djk-
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Seat

No. [4201]-367

T.Y. B.A. EXAMINATION, 2012

SOCIOLOGY (S-4)

(Indian Society : Continuity and Change)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in maximum 50 words each : [10]

(i) Impact of British Colonialism in the making of Indian

Society.

(ii) Gandhi’s vision of nation building.

(iii) Panchayati Raj.

(iv) Challenges faced by education in Contemporary India.

2. Write short notes on any four of the following in maximum 100 words

each : [20]

(i) Language as challenge to unity of India.

P.T.O.
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(ii) Concept of modernization.

(iii) Water issues of urban society.

(iv) Impact of Green revolution.

(v) Indian Agriculture.

(vi) Changing nature of family.

3. Answer any three of the following in maximum 250 words each : [30]

(i) Discuss the contribution of Indus Valley Civilization to the making

of Indian Society.

(ii) Describe the efforts of Indian State in dealing with challenges

to the unity and diversity of India.

(iii) Explain the role of media in Contemporary India.

(iv) Examine the changing nature of Tribal Society in India.

(v) Discuss the causes of migration to the cities.

4. Answer any one of the following in maximum 500 words : [20]

(i) Define Democracy. Explain the role of secularism in the context

of nation building.

(ii) Critically examine the changing nature of religion in India.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksgksaoj izR;sdh 50 ðkCnki;±r mŸkjs f«gk % [10]

(i) Hkkjrh; lektkojh« fczVhðkkaP;k izHkkokph ppkZ djk-

(ii) jk"V™cka/kuhrh« xka/khthpk n`"Vhdksu-

(iii) iapk;rh jkt-

(iv) ledk«hu Hkkjrkrh« fðk{k.kkiq<h« vkOgkus-

2. [kk«h«iSdh dks.kR;kgh pkjkoj izR;sdh 100 ðkCnki;±r fVik f«gk % [20]

(i) Hkkjrh; ,sD;klkBh ^Hkk"kk* ,d vkOgku-

(ii) vk/kqfudhdj.kkph ladYiuk-

(iii) ðkgjh lektkP;k ik.kh leL;k-

(iv) gfjr ÿkarhpk izHkko-

(v) Hkkjrh; ðksrh-

(vi) dqVwackps cn«rs Lo:i-
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3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnki;±r f«gk % [30]

(i) Hkkjrh; lektkP;k fuehZrhe/;s fla/kq laLœrhP;k ;ksxnkukph ppkZ djk-

(ii) Hkkjrh; ,dkRerk vkf.k fofo/krs leksjh« vkOgkukapk lkeuk dj.;klkBh Hkkjrh;

ðkklukus ds«sY;k iz;Rukaph ppkZ djk-

(iii) ledk«hu Hkkjrkrh« ^ek/;e* Hkwehdk Li"V djk-

(iv) Hkkjrkrh« vkfnoklh lektkP;k cn«R;k Lo:ikps ifj{k.k djk-

(v) ðkgjkdMh« LFk«karjkP;k dkj.kkaph ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukoj 500 ðkCnki;±r mŸkj f«gk % [20]

(i) «ksdðkkghph O;k[;k f«gk- jk"V™cka/kuhlkBh /keZfujis{krsph Hkwehdk Li"V

djk-

(ii) Hkkjrh; /kekZP;k cn«R;k Lo:ikps fVdkRed ifj{k.k djk-
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(iii) Use of calculator and statistical table is allowed.

(iv) Notations and symbols have their usual meanings.

1. Attempt any two of the following : [5 each]

(a) (i) Define a slack and surplus variable.

(ii) State standard form of a linear programming problem

(L.P.P.).

(iii) Define an optimum solution of a L.P.P.

(b) (i) State the basic principles of design of experiments.

(ii) State linear mathematical model of a Latin Square

Design (L.S.D.).

(iii) Explain the term concomitant variable in ANACOVA (analysis

of covariance).

P.T.O.
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(c) (i) Describe a transportation problem.

(ii) State all assumptions in dealing with a sequencing

problem.

(iii) When is an assignment problem said to be unbalanced ?

(d) (i) Define relative efficiency of a design D1 with respect

to D2 and give its interpretation.

(ii) State a linear mathematical model for analysis of covariance

in randomised block design (R.B.D.) by explaining various

notations involved in it.

2. Attempt any four of the following : [5 each]

(a) A company is engaged in the production of three products

A, B and C. Products A and B are processed in three operations

I, II and III, whereas product C is processed in operations

I and II only. The maximum capacities of operations per week

of I, II and III are 100 hours, 120 hours and 80 hours respectively.

The times required to produce one item in each of the operation

are as below :

Operations
Time (hrs) required

A B C

I 3 1 2

II 1 4 1

III 2 3 0

Profit (in Rs.) per unit of A, B and C is 10, 12 and 8 respectively.

Formulate this as a L.P.P. to determine optimum production

of A, B and C.
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(b) State the mathematical model and estimate of parameters for

ANACOVA in L.S.D.

(c) Describe a method for solving a sequencing problem of n jobs

on three machines.

(d) Describe the procedure for testing the equality of two specified

treatment effects in R.B.D.

(e) Four different jobs can be done on four different machines

with the cost matrix (Rs.) given below :

Jobs
      Machines

M1 M2 M3 M4

J1 50 70 110 60

J2 80 50 90 60

J3 40 70 100 70

J4 100 40 80 30

Find the optimal assignment of jobs to machines and the optimal

total cost.

(f) Describe layout and model for a split plot design.
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3. Attempt any three of the following : [10 each]

(a) Obtain IBFS (initial basic feasible solution) by Vogel’s

Approximation Method (VAM) and check its optimality for the

following T.P. [10]

Factory

Warehouse

A B C D E
Capacity

P 4 1 3 4 4 60

Q 2 3 2 2 3 35

R 3 5 2 4 4 40

Demand 22 45 20 18 30 135

(b) (i) Identify the confounded effects in each of the replication

of an experiment given below. Also state ANOVA table

for this experiment. [6]

Replicate I

Block 1 (p) (nk) (l) (npk)

Block 2 (n) (np) (k) (pk)

Replicate II

Block 1 (n) (npk) (l) (pk)

Block 2 (nk) (k) (nk) (np)
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(ii) Obtain the dual of the following L.P.P. :

Minimize :  Z = 300x1 + 480x2

Subject to   x1 + 3x2  0.25

      2x1 + 3x2  0.45

       x1, x2  0. [4]

(c) (i) Complete the following ANOVA table of R.B.D. Also calculate

efficiency of R.B.D. over C.R.D. : [6]

Source d.f. s.s. m.s.s. Variance

Ratio (F)

Blocks 4 27 ? ?

Treatments 3 ? ? ?

Error ? ? 3.0

Total ? 86

(ii) Find the sequence that minimizes the total elapsed time

required to complete the following jobs on two machines.

Also compute total elapsed time and idle time for each

machine : [4]

    Time in Minutes

Job 1 2 3 4 5

Machine A 5 1 9 3 10

Machine B 2 6 7 8 4
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(d) Define main effects and interaction effects in factorial experiment.

Obtain their mathematical expression in 23 factorial experiment

for a main effect, a two factor interaction effect and a three

factor interaction effect. [10]

(e) (i) Obtain an expression for efficiency of L.S.D. over R.B.D.

if rows are used as blocks. Also state your assumptions. [6]

(ii) Solve the following L.P.P. graphically :

Minimize :  Z = 60x1 + 40x2

Subject to :  150x1 + 150x2  3000

      300x1 + 100x2  4000

      200x1 + 500x2  4400

           x1, x2  0. [4]

4. Attempt any one of the following : [20]

(a) (i) Solve the following L.P.P. :

Maximize :  Z = 270x1 + 144x2 + 225x3

Subject to :  8x1 + 4x2 + 5x3  1000

      5x1 + 3x2 + 3x3  650

      9x1 + 6x2 + 9x3  1260

           x1, x2, x3  0. [10]

(ii) State the hypotheses to be tested in L.S.D. Obtain the

expected value of error mean sum of squares in it. [10]
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(b) (i) When and why is analysis of covariance technique

recommended ? Also describe the technique of ANACOVA

in C.R.D. [10]

(ii) Find IBFS to the following T.P. with the cost matrix

given below by North-West corner and matrix minima

method. Further compare the costs : [10]

Destinations
Origins

D1 D2 D3 D4

Availability

O1 6 5 4 7 50

O2 3 6 5 3 40

O3 4 2 3 2 20

Requirement 25 30 35 20 110
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1. Attempt any two of the following : [2×5=10]

(a) Define Beta distribution of first and second kind and obtain

the relation between them.

(b) If X → W(α, β), then find coefficient of variation (C.V.).

(c) State and prove Chebyshev’s inequality for a continuous random

variable (r.v.).

(d) In a big city used car dealer is open for 365 days per year.

The number of sales he makes per day, is a Poisson r.v. with

parameter λ = 2. Sales are independent of days.
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Let Y be the number of sales he makes in a year. Find

approximately by using CLT.

(i) P(Y ≥ 700)

(ii) P(700 ≤ Y ≤ 750).

2. Attempt any four of the following : [4×5=20]

(a) Let (X1, X2, ........ Xk) → MD (n; p1, p2 ......... pk) where :

1iP =∑  and 

∑

then find its m.g.f. and hence obtain marginal distribution

of Xk.

(b) Let X(1), X(2), ............... X(8) be the order statistics of random

sample of size 8 from a distribution with p.d.f.

( )
1

2
1

, 0;
2

0 , otherwise

x
e x

f x

−
−

 >= 



Find p.d.f. of X(3).

(c) Let X and Y be two i.i.d. Cauchy r.v.s. with µ = 0,

λ = 1.

Find :

1 1
P 2
X Y

 
+ >  

.
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(d) A continuous random variable X has Laplace’s distribution with

parameter µ = 2 and λ = 1.5. Find P(|X| < 5) and

P(–3 < X < 1).

(e) Obtain the distribution of :

n

i
i

Y X= Π ,

where Xi are i.i.d. lognormal (a = 0, µ, σ2), r.v.s.,

i = 1, 2,........ n.

(f) If X → W (α, β), then find median of X.

3. Attempt any three of the following : [3×10=30]

(a) State and prove central limit theorem (C.L.T) for identically

independently distributed random variables (i.i.d.r.v.s.) based

on moment generating function (m.g.f.).

(b) Let (X, Y) → BN(0, 0, 1, 1, ρ).

Derive the distribution of 
X

U =
Y

 and identify it.

(c) If X → L (µ, λ), then obtain its m.g.f. and hence find mean

and variance.

(d) Let X → B (n, p). The distribution of X is truncated by discarding

the value X = 0. Find mean and variance of the resulting

truncated binomial distribution. Also find mean and variance

if n = 10. P = 0.50.
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(e) Let (X1, X2, ............ Xk) → MD (n, p1, p2 .......... pk). Find

Corr (Xi, Xj).

4. Attempt any one of the following : [1×20=20]

(a) (i) Describe Gambler’s ruin problem.

(ii) Let (X, Y) → BN(2, 3, 16, 25, 0.5), then find

P(X – Y > 5).

(iii) If X → C (µ, λ), then find its distribution function and

hence obtain lower and upper quartiles.

(b) (i) If X → LN(a, µ, σ2), find its rth moment at X = a,

hence find its mean.

(ii) Let (X, Y) → BN(µ1, µ2, 2 2
1 2,σ σ , ρ). Obtain the marginal

distribution of X.

(iii) If X → L(µ, λ), then find its mean deviation about mean.
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1. Attempt each of the following : [16]

(i) Find the limit superior and the limit inferior of the sequence

1

cos
2 n

n
∞

=

π 
 
 

.

(ii) Discuss the convergence of the series 
1

1
log 3 .

n n

∞

=

 +  ∑

(iii) State the conditions under which ( )
1

n
n

u x
∞

=
∑  can be differentiated

term by term.

(iv) Find the limit function of the sequence :

       fn(x) = xn, x ∈ [0, 1]

(v) True or false ? Justify.

If F is a closed subset of [a, b] and |F| = 0, then

F = φ.

(vi) State Fatou’s lemma.
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(vii) Give an example of a set which is neither open nor closed

and has measure 
1

2
.

(viii) If f is an odd function, prove that :

( ) 0.f x dx

π

−π

=∫

2. (A) Attempt any one of the following : [6]

(i) If f is a continuous function on a closed and bounded

interval [a, b] and '( ) ( ), [ , ]x f x x a bφ = ∈ , then prove

that :

    

b

a

∫

(ii) If 
1

( )k
k

u x
∞

=
∑  is a series of Riemann integrable functions

on [a, b] which converges uniformly to f on [a, b], then

prove that f is Riemann integrable on [a, b] and

1

( ) ( ) .
b b

k
ka a

f x dx u x dx
∞

=
= ∑∫ ∫

(B) Attempt any two of the following : [10]

(i) Does the sequence 
2 2

( )
1

n

nx
f x

n x
=

+
 converge uniformly

on R ? Justify.

(ii) Show that the series 2
1

sin

n

nx

n

∞

=
∑  converges uniformly

on R.

(iii) True or false ? Justify.

If f = g a.e. on [a, b] and f is Riemann integrable, then

g is also Riemann integrable.
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3. (A) Attempt any one of the following : [8]

(i) If 
1

n
n

a
∞

=
∑  is a series of non-zero real numbers and if

A = 
1

lim sup
n

n
n

a

a

+

→ ∞ , then prove that 
1

n
n

a
∞

=
∑  converges

absolutely if A < 1.

(ii) If 2( )f x x=  and for each n ∈ I 
1 2

0, , , ......,n

n

n n n

 σ =  
 

is a sub-division of [0, 1], then compute lim U[ , ]n
n

f
→∞

σ  and

lim L[ , ]n
n

f
→∞

σ

.

(B) Attempt any one of the following : [8]

(i) State and prove Lebesgue dominated convergence

theorem.

(ii) Find the Fourier series expansion of f(x) = x for

– π < x < π.

4. (A) Attempt any one of the following : [6]

(i) Prove that the subset E of [a, b] is measurable if and

only if given ∈ > 0 there exist open sets G1 and G2

such that G1 ⊃ E, G2 ⊃ E' and |G1 ∩ G2| < ∈.

(ii) If E1, E2, .............. are measurable subsets of [a, b] and

if E1 ⊂ E2 ⊂ E3 ⊂ ............, then prove that 
1

En
n

∞

=
U  is

measurable and 
1

E lim E .n n
nn

m m
∞

→∞=

 
=  U
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(B) Attempt any two of the following : [10]

(i) If 
1

( ) sin
2

f x x= +  for 0 < x < 2π, find f+ and f–.

(ii) Prove that the characteristic function of rationals is Lebesgue

integrable in [0, 1] and find 

1

0

.φχ∫

(iii) If f and g are measurable functions, then prove that

f + g is measurable.

5. (A) Attempt any one of the following : [6]

(i) If { }
1n n

f
∞

=
 is a sequence of measurable functions on

[a, b] and if lim ( ) ( )n
n

f x f x
→∞

=  almost everywhere on

[a, b], then prove that f is measurable.

(ii) If f is a bounded function in L[a, b] and λ ∈ R, then

prove that λ ∈ L[a, b] and b b

a a

∫ ∫
(B) Attempt any two of the following : [10]

(i) Show that a subset E of [a, b] is measurable if and only

if its characteristic function Eχ  is measurable.

(ii) True or false ? Justify.

If f, g ∈ L[a, b], then fg ∈ L[a, b].

(iii) If f(x) = 

x

 then prove that f ∈ L[0, 1] if

P < 1 and 

1

0

1
.

1 P
f =

−∫
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1. Attempt any ten of the following : [20]

(i) If

[ ]C 4 5 6= ,

then find C.C'.

(ii) Reduce the matrix :

2 12
A

8 9

é ù
= ê ú
ë û

to row echelon form.

P.T.O.
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(iii) Determine whether or not the matrix A is singular, where :

4 6
A

6 9

é ù
= ê ú
ë û

.

(iv) Define : Triangular Matrix.

(v) Find eigen value of the matrix :

2 0
A

3 6

é ù
= ê ú
ë û

.

(vi) Using surplus variable write the inequality 3 10x y+ ³  into

equality.

(vii) Define : Dual of a linear programming problem.

(viii) Find adjoint of :

24 15
A

8 7

é ù
= ê ú
ë û

.

(ix) Determine whether the following system of equation has unique

solution.

where       1 212 7 147x x+ =

     1 215 19 168x x+ =
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(x) Find (A B) C- + , where :

7

A 6

12

é ù
ê ú

=
ê ú
ê úë û

 

3

B 8

5

é ù
ê ú

= -
ê ú
ê úë û

 

13

C 2

6

é ù
ê ú

=
ê ú
ê úë û

.

(xi) If

2 2Z 6 9 3 7 5x x xy y y= - - - + ,

find Zxx.

(xii) If dimensions of the matrices A and B are 3×4 and 4×2, then

find dimension of AB.

(xiii) Define : Symmetric Matrix.

2. Attempt any two of the following : [10]

(i) For the following linear programming problem formulate the

dual :

Max      Z = 5x1 + 3x2

Subject to,

     6x1 + 2x2  36

     5x1 + 5x2  40

     2x1 + 4x2  28

     6x1 – 2x2  10

        x1, x2  0
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(ii) A speciality steel manufacturer produces two types of steel.

Type 1 requires 2 hrs. of melting, 4 hrs. of rolling and 10

hrs. of cutting. Type 2 requires 5 hrs. of melting, 1 hr. of

rolling and 5 hrs. of cutting. Forty hours are available for

melting, 20 for rolling and 60 for cutting. The profit margin

for the type 1 is 24, for type 2 it is 8. Formulate the given

problem as L.P.P.

(iii) Using eigen values to determine sign-definiteness for :

10 3
A

3 4

æ ö
= ç ÷è ø

.

3. Attempt any two of the following : [20]

(i) Use matrix inversion method to solve for the unknowns in

the system of linear equation given below :

2x1 + 4x2 – 3x3 = 12

3x1 – 5x2 + 2x3 = 13

–x1 + 3x2 + 2x3 = 17

(ii) Maximize profits for a producer of two substitute goods,

given :

P1 = 130 – 4Q1 – Q2,

P2 = 160 – 2Q1 – 5Q2,

2 2
1 1 2 2TC 2Q 2Q Q 4Q= + + .

Use Cramer’s rule for the first order condition and the Hessian

for the second order condition.
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(iii) Solve the given Linear programming problem by using graphical

method :

Maximize    = 20x1 + 10x2

Subject to,

      4x1 + 3x2  48

      3x1 + 5x2  60

           x1  9

        x1, x2  0

4. Attempt any two of the following : [30]

(i) Minimize a firm’s costs

C = 3x2 + 5xy + 6y2,

when the firm must meet a production quota of

5x + 7y = 800 by

(a) finding the critical values

(b) using the bordered Hessian to test the second order

condition.
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(ii) Verify that (AB) C = A (BC), where the matrices A, B and

C given as :

4 9 0

A 1 2 3

6 1 0

é ù
ê ú

= -
ê ú
ê ú-ë û

, 

0 3 4

B 4 0 9

4 3 1

-é ù
ê ú

=
ê ú
ê úë û

, 

2 1 3

C 0 5 4

9 2 1

- -é ù
ê ú

=
ê ú
ê úë û

(iii) (a) Use the Jacobian to test for functional dependence in

the following system of equations :

y1 = 6x1 + 4x2

y2 = 7x1 + 9x2

(b) Explain in detail Marshallian demand function.
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1. Attempt any two of the following : [5 each]

(a) Explain each of the following terms :

(i) Statistic

(ii) Level of significance.

(b) Let X be a Normal variable with mean 3 and variance 25.

Find :

(i) P (4 X 7)£ £

(ii) P (X 5)³ .

P.T.O.
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(c) Describe the procedure of Chi-square goodness of fit test.

(d) In a certain manufacturing process, the number of defectives

in a random sample of 500 items was 20. Test at 5% level

of significance whether the proportion of defectives produced

by the process is 0.05.

2. Attempt any four of the following : [5 each]

(a) The manufacturer of a new compact car claims that the car

will cover on an average 30 km per litre in general highway

conditions.

For a random sample of 40 cars the average distance covered

was 29.5 km per litre with a standard deviation 2.3 km per

litre.

Can the manufacturer’s claim be considered to be true at 5%

level of significance ?

(b) Describe the test procedure for testing the hypothesis :

H0 : µ = µ0 against

H1 : µ > µ0

where µ0 denotes the population mean. Assume that the population

variance (2) is unknown.
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(c) Let X1, X2, X3 be independent r.v.s. distributed as :

N (1, 12), N (2, 32) and N (3, 22)

respectively.

If

      Y = X1 – X2 + X3,

state the probability distribution of Y and obtain P [|Y|  7].

(d) Explain in brief the meaning and purpose of statistical quality

control.

(e) Explain the following terms :

(i) sampling distribution of a statistic,

(ii) standard error of a statistic,

(iii) critical region.

(f) A customer who regularly visits a particular restaurant, for

lunch, rates the quality of the food and service over a period

of 25 consecutive days as good (G) or bad (B) as follows :

G G B B G B B G G G B G G B B B G B G B G B G B B

Test the hypothesis that the quality of food and service at

the restaurant is random using run test. Use 5% level of

significance.
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3. Attempt any three of the following :

(a) (i) Three varieties of coal were analyzed by taking four samples

each. The ash content (gm/kg) in the varieties was found

as :

Varieties       Samples

1 2 3 4

A 8 5 5 7

B 7 6 4 4

C 3 6 5 4

Carry out one way classification completely. Test whether

the varieties differ significantly in their ash content at

5% level of significance. [7]

(ii) Explain the concept of Analysis of variance. [3]

(b) (i) The following table shows the classification of 1200 workers

in a factory according to the disciplinary action taken

by the management and their promotions :

Disciplinary action Promoted Not Promoted

Non-offenders 100 258

Offenders 42 800

Test whether the promotion is independent of disciplinary

action. Use 5% level of significance. [5]

(ii) State the mathematical model used in two way classification

of analysis of variance and explain the terms used

in it.

Further state the break up of total sum of squares. [5]
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(c) (i) The number of defects in each sample of 20 items are

as given below :

Item No. No. of defects

1 2

2 0

3 4

4 1

5 0

6 8

7 0

8 1

9 2

10 0

11 6

12 0

13 1

14 2

15 0

16 3

17 2

18 1

19 0

20 2

Draw c-chart and check whether the process is under

control. [7]

(ii) Explain the chance causes and assignable causes of

variations. [3]
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(d) (i) A health club advertised a weight reducing program and

claimed that on an average a participant in the program

loses his weight in 6 months. To verify the claim 10

participants in the program were randomly selected. Their

weights before and after the program were recorded.

Participant No. Wt (in lb) Wt (in lb) after

before joining 6 months from

the program joining the program

1 120 111

2 125 114

3 115 107

4 130 120

5 123 115

6 119 112

7 122 112

8 127 120

9 128 119

10 118 112

Do the data above support the claim of the health club ?

(use 1% level of significance) [6]

(ii) State the advantages of non-parametric tests over parametric

tests. [4]



[4201]-372 7 P.T.O.

(e) (i) Describe the test procedure for testing :

H0 : P1 = P2 against H1 : P1  P2. [5]

(ii) Complete the following analysis of variance table : [5]

Source of Degrees of S.S. M.S.S. F ratio

variation freedom

Treatments 9 6810 ? ?

Blocks 4 400 ? ?

Error ? ? ?

Total 49 9948

4. Attempt any one of the following : [20]

(a) (i) The following data indicates the sample mean (X)  and

range (R) values for 12 subgroups of size 5 each :

Sample No. Mean (X) Range (R)

1 69.4 45

2 63.4 48

3 57.0 62

4 64.0 48

5 57.4 36

6 82.0 81
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7 85.0 78

8 33.4 42

9 46.0 69

10 112.4 84

11 93.6 48

12 95.6 75

Set up X  and R charts. Examine the state of control

of the process. Comment on the result. [10]

(ii) Two research laboratories have independently produced

drugs that provide relief to arthritis sufferers. The first

drug was tested on a group of 90 arthritis sufferers and

produced an average of 8.5 hours of relief and a sample

standard deviation of 1.8 hours. The second drug was

tested on a group of 80 arthritis sufferers and produced

an average of 7.9 hours of relief and a sample standard

deviation of 2.1 hours.

At 1% level of significance, does the first drug provide

a significantly longer period of relief ? [6]

(iii) Explain the test procedure of Wilcoxon’s signed rank

test. [4]
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(b) (i) Use the sign test to test whether there is difference

between the number of days required to collect an account

receivable before and after a new collection policy. Use

5% level of significance. [7]

Before After

33 35

36 29

41 38

32 34

39 37

47 47

34 36

29 32

32 30

34 34

40 41

42 38

33 37

36 35

29 28
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(ii) The following table gives weights (in gm) of 9 boxes in

two different batches :

Weights in Weights in

first batch second batch

105 110

95 101

85 90

102 110

108 112

103 107

95 98

87 91

100 94

Test whether the two populations from which the two

batches were selected have equal variances. Use 10% level

of significance. [8]

(iii) State any two properties of distribution function (d.f.)

of continuous type r.v.

Further if for r.v. X the d.f. is given as :

F( ) 1 exp ( / 3), 0

0 otherwise

x x x= - - >

=

Find P (0 < X < 5) . [5]
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1. Answer any two of the following in 50 words each : [10]

(1) State the classification of arts.

(2) Explain the concept of Secularism.

(3) What are the main featurs of Liberalism ?

(4) What is aesthetic attitude ?

2. Write short notes on any four of the following in 100 words

each : [20]

(1) Concept of Rasa

(2) Religion and Morality

(3) Sublime
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(4) Plato’s views about art

(5) Organic model of Society

(6) Fundamentalism.

3. Answer any three of the following in 200-250 words each : [30]

(1) What is the distinction between art and Craft ?

(2) Discuss the problem of evil.

(3) Explain the nature of religion.

(4) Critically examine Tolstoy’s views regarding the relation between

art and morality.

(5) State and discuss the classification of Bhavas.

4. Answer any one of the following quetions in 500 words : [20]

(1) State and discuss the arguments for the existence of God.

(2) Elaborately discuss the nature of aesthetic experience.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar |k % [10]

(1) d«kaps oxhZdj.k lkaxk-

(2) /keZfujis{krkoknkph ladYiuk Li"V djk-

(3) mnkjeroknkps eq[; ?kVd dks.krs \

(4) lkSan;Zo`Ÿkh Eg.kts dk; \
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2- [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar laf{kIr Vhik f«gk % [20]

(1) ^jl* ladYiuk

(2) /keZ vkf.k uhrh

(3) mnkŸk

(4) I«sVksph d«kfo"k;d erh

(5) lektkps tSfod izk:i

(6) ew«rŸookn-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200&250 ðkCnkar |k % [30]

(1) ^d«k* vkf.k ^dkSðkY;* ;kar dk; Qjd vkgs \

(2) nqfjrkP;k leL;sph ppkZ djk-

(3) /kekZps Lo:i Li"V djk-

(4) d«k vkf.k uhrh ;kaP;krh« laca/kkcÌ«P;k VkW«LVkW; ;kaP;k fopkjkaps fpfdRld

ijh{k.k djk-

(5) Hkkokaps oxhZdj.k lkaxwu R;kph ppkZ djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar |k % [20]

(1) bZ‹ojkP;k vfLrRokP;k cktwps ;qfDrokn ekaMwu R;kaph ppkZ djk-

(2) lkSan;kZuqHkokP;k Lo:ikph lfoLrj ppkZ djk-
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1. Answer any two of the following in 50 words each : [10]

(1) Explain the concept of chidvilas.

(2) Discuss Dr. Ambedkar’s concept of equality.

(3) Explain the notions distinguishables and separables.

(4) What does Prof. Mohanti mean by universalism ?

2. Write notes on any four in 100 words each : [20]

(1) Shiva-Shakti Samaveshana

(2) Truth as pathless land

(3) Anasaktiyoga

(4) Myth of school in Indian Philosophy according to Prof. Daya

Krishna

(5) The concept of relativism according to Prof. Mohanty

(6) The concept of category (Prof. Barlingay)
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3. Answer any three in 250 words each : [30]

(1) Explain Ajnana-Khandan by Jnaneshwer.

(2) State and discuss Dr. Ambedkar’s distinction between religion

and dhamma.

(3) State and explain the philosophical consequences of the

distinction between distinguishables and separables.

(4) Discuss in detail spirituality and darshana as myths in Indian

philosophy (Prof. Daya Krishna).

(5) State and examine J. Krishnamurty’s views on education.

4. Answer any one of the following questions in 500 words : [20]

(1) Elaborately explain Gandhiji’s notions and Truth and Non-

violence.

(2) Discuss in detail the relation between dharma and Moksha

according to Prof. Rajendra Prasad.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMokosr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth iz'uif=dk gh igkoh-

1- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 'kCnkar f«gk % [10]

(1) fpn~foykl gh ladYiuk Li"V djk-

(2) MkW- vkacsMdjkaP;k lekurk ;k ladYiusph ppkZ djk-

(3) Qjd dj.;ktksxs vkf.k vyx dj.;ktksxs ;k dYiuk Li"V djk-

(4) izks- eksgarh ;kaP;k erkuqlkj lkoZf=dokn Eg.kts dk; \
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2- dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar Vhik f«gk % [20]

(1) fðko&ðkDrh lekosðku

(2) lR; Eg.kts ekxZ fojghr Hkweh

(3) vuklDrh;ksx

(4) izks- n;kœ".kkaP;k erkuqlkj Hkkjrh; rŸoKkukrhy rkfŸod laiznk; gs feFkd

(5) izks- eksgarhaP;k erkuqlkj lkis{krkoknkph ladYiuk

(6) ladYiuk dksVh gh ladYiuk (izks- ckjfyaxs)-

3- dks.krsgh rhu Áðukaph mŸkjs izR;sdh 250 ðkCnkar fygk % [30]

(1) Kkusðojkauh ds«s«s vKku&[kaMu Li"V djk-

(2) MkW- vkacsMdjkauh ^fj«htu* vkf.k /kEe ;kar ds«s«k Qjd lkaxwu R;kph ppkZ

djk-

(3) Qjd dj.;ktksxs vkf.k v«x dj.;ktksxs ;karh« Qjdkps lkaxwu rks Li"V djk-

(4) Hkkjrh; rŸoKkukrh« v/;kfRedrk vkf.k n'kZu ;k feFkdkaph lfoLrj ppkZ

djk (izks- n;kœ".k)-

(5) ts- œ".kewrh±ps fðk{k.kkojh« fopkj lkaxwu R;kaps ijh{k.k djk-

4- dks.kR;kgh ,dk iz'ukps mŸkj 500 ðkCnkar f«gk % [20]

(1) xka/khthaP;k lR; vkf.k vfgalk ;k dYiuk foLrkjkus Li"V djk-

(2) izks- jktsaÊizlknkaP;k n`f"Vdksukuqlkj /keZ vkf.k eks{k ;karh« laca/kkph lfoLrj

ppkZ djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4201]-375

T.Y. B.A. EXAMINATION, 2012

PHILOSOPHY

Special Paper S4

Thinkers and Textual Studies (Western)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in 50 words each : [10]

(1) Explain Nietzsche’s concept of truth.

(2) State and discuss main features of Peirce’s pragmatism.

(3) What, according to Heidegger, is the importance of questioning ?

(4) State and explain the forms of euthanasia.

2. Write short notes on any four of the following in 100 words

each : [20]

(1) Will power

(2) Husserl’s concept of intentionality

(3) Official doctrine according to Ryle

(4) Sartre’s concept of despair

(5) Wittgenstein’s Notion of form of life

(6) Heidgger’s view about technology.
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3. Answer any three of the following in 250 words each : [30]

(1) State and discuss Pierce’s view regarding the method of inquiry.

(2) State and explain Wittgenstein’s picture theory of meaning.

(3) Examine Sullivan’s agruments against euthanasia.

(4) Discuss Ryle’s notion of Category Mistake.

(5) Explain Heidegger’s concept of alethia.

4. Answer any one of the following questions in 500 words : [20]

(1) Write an essay on Phenomenology.

(2) Discuss in detail Sartre’s concept of freedom.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar fygk % [10]

(1) uhRðpsph lR;fo"k;d ladYiuk Li"V djk-

(2) fivlZP;k Q«izkek.;oknkph eq[; oSfðk"VÓs foðkn djk-

(3) gk;MsxjP;k erkuqlkj izðufopkj.;kps egRo dk; vkgs \

(4) LosPNkej.kkps izdkj lkaxwu R;kaps Li"Vhdj.k djk-
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2- [kk«h«iSdh dks.krsgh pkjkaoj izR;sdh 100 ðkCnkar laf{kIr Vhik f«gk % [20]

(1) izHkqRokdka{kk

(2) gql«Zph fo"k;kfHkeq[krk gh ladYiuk

(3) jkbZ«kP;k erkuqlkj vf/kœr flºkar

(4) lk=sZph grkðkk gh ladYiuk

(5) foV~xsuLVkbZuph thoukdkj gh ladYiuk

(6) gk;Msxjpk ra=KkukcÌ«pk n`"Vhdksu-

3- [kk«h«iSdh dks.krsgh rhu izðukaph izR;sdh 250 ðkCnkar mŸkjs fygk % [30]

(1) laðkks/kukP;k iºrhcÌ« fivlZpk n`"Vhdksu lkaxwu R;koj ppkZ djk-

(2) foV~xsuLVkbZuph fp=fo"k;d miiRrh lkaxwu frps Li"Vhdj.k djk-

(3) LosPNkej.kkfo#º lqf«ouP;k ;qfDroknkps ijh{k.k djk-

(4) jkbZ«ph dksVhizekn ;k dYiusps foospu djk-

(5) gk;Msxjph v«sfFk;k gh dYiuk Li"V djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukaps 500 ðkCnkar mRrj f«gk % [20]

(1) ekul?kVukoknkoj fuca/k f«gk-

(2) lk=sZP;k Lokra´; ladYiusps foLr`r foospu djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4201]-376

T.Y. B.A. EXAMINATION, 2012

SOCIAL WORK (General–III)

I—Introduction to Youth Welfare

II—Introduction to Rural & Urban Welfare

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two questions in 50 words each : [10]

(i) State the problem in defining youth.

(ii) State the needs of urban working women.

(iii) Explain the need of vocational training for rural youth.

(iv) Explain the classification of youth.

2. Answer any four questions in 100 words each : [20]

(i) Explain the role of Zilla Parishad in rural development.

P.T.O.
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(ii) Explain the problems of rural women.

(iii) Discuss the urban way of life.

(iv) Explain the problems of Backward class youth in India.

(v) Explain the role of Municipal Council in urban development.

(vi) Prepare an action plan on ‘leadership training for youth’.

3. Answer any three questions in 200 to 250 words each : [30]

(i) ‘Religion and culture is traditional agency for rural development.’

Explain.

(ii) Prepare an action plan for identification and assessment of

needs of semi-educated rural youth.

(iii) ‘Tribal youthhood faces more hardship’. Discuss.

(iv) Discuss the problems of handicapped youth.

(v) Explain the facilities available for Industrial workers in urban

area.

4. Answer any one question in 500 words : [20]

(i) ‘India is a country of youth.’ Discuss.

(ii) Write an essay on ‘Changing face of rural communities’.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnki;±r f«gk % [10]

(i) ;qodkph O;k[;k dj.;krh« leL;k lkaxk-

(ii) ðkgjkrh« uksdjh dj.kkÚ;k efg«kaP;k xjtk lkaxk-

(iii) xzkeh.k ;qodkauk O;kolkf;d izfðk{k.kkph xjt lkaxk-

(iv) ;qodkaps oxhZdj.k Li"V djk-

2. [kk«h«iSdh dks.kR;kgh pkj izðukaph mRrjs izR;sdh 100 ðkCnki;±r f«gk % [20]

(i) xzkeh.k fodklkr ftYgk ifj"knsph Hkwfedk Li"V djk-

(ii) xzkeh.k efg«kaP;k leL;k Li"V djk-

(iii) ukxjh thouðkS«hph ppkZ djk-

(iv) Hkkjrkrh« ekxkloxhZ; ;qodkaP;k leL;k Li"V djk-

(v) ukxjh fodklkr uxjifj"knsph Hkwfedk Li"V djk-

(vi) ^;qodkalkBh usr`Ro izfðk{k.k* ;koj œrh vkjk[kMk r;kj djk-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnki;±r f«gk % [30]

(i) ^xzkeh.k fodklklkBh /keZ o laLœrh gh ikjaikfjd laLFkk vkgs-* ppkZ djk-

(ii) ^xzkeh.k v/kZ&fðkf{kr ;qodkaP;k xjtkapk ðkks/k vkf.k ewY;ekiu* ;koj œrh

vkjk[kMk r;kj djk-
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(iii) ^vkfnoklh ;qodkauk ;qokoLFksr eksBÓk d"Vkauk rksaM nÓkos «kxrs-* ppkZ djk-

(iv) viax ;qodkaP;k leL;kaph ppkZ djk-

(v) ukxjh {ks=kr vkS|ksfxd dkexkjkalkBh mi«C/k vl«sY;k lqfo/kk Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnki;±r f«gk % [20]

(i) ^Hkkjr gk ;qodkaP;k nsðk vkgs-* ppkZ djk-

(ii) xzkeh.k leqnk;kapk cn«rk psgjk* ;koj fuca/k f«gk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4201]-377

T.Y. B.A. EXAMINATION, 2012

PUBLIC ADMINISTRATION

(G-3 : Local Self-Government in India)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the importance of Local Self-Government.

(2) The powers of Block Development Officers.

(3) State the functions of Gram Sevak.

(4) State the demerit of Local Self-Government.

2. Write short notes in 100 words each (any four) : [20]

(1) The functions of CEO in Zilla Parishad.

(2) The role of Divisional Commissioner.

(3) The problems of urbanizations.

(4) 74th Constitutional Amendment.

(5) The merits of Democratic Decentralization.

(6) The scope of Local Self-Government.
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3. Answer the following questions in 250 words each (any three) : [30]

(1) Explain the features of Local Self-Government.

(2) Describe the structure and function of Panchayat Samiti.

(3) Write the powers of District Collector.

(4) Discuss the structure and function of Gram Panchayat.

(5) Explain the merits of Local Self-Government.

4. Answer any one of the following questions in 500 words : [20]

(1) Explain the power and functions of Municipal Corporation.

(2) Evaluate the problems of Rural and Urban Local Self-

Government.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.krsgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar fygk % [10]

(1) LFkkfud Loðkklukps egŸo Li"V djk-

(2) xVfodkl vf/kdkÚ;kaps vf/kdkj lkaxk-

(3) xzkelsodkps dkes lkaxk-

(4) LFkkfud Loðkklukps nks"k lkaxk-
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2- izR;sdh 100 ðkCnkar Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) ftYgk ifj"knsrh« eq[;f/kdkÚ;kps dkes

(2) foHkkxh; vk;qDrkph Hkwfedk

(3) ðkgjhdj.kkP;k leL;k

(4) 74oh jkT; ?kVuk nq#Lrh

(5) «ksdðkkgh fodsafÊdj.kkps xw.k-

(6) LFkkfud Loðkklukph O;kIrh-

3- [kk«h«iSdh izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.kR;kgh rhu) % [30]

(1) LFkkfud Loðkklukps oSfðk"VÓs Li"V djk-

(2) iapk;r lferhph jpuk vkf.k dk;Z ;kaps o.kZu djk-

(3) ftYgkf/kdkÚ;kps vf/kdkj lkaxk-

(4) xzkeiapk;rhph jpuk vkf.k dk;Z lkaxk-

(5) LFkkfud Loðkklukps xw.k Li"V djk-

4- [kk«h«iSdh ,dk izðukaps mŸkj 500 ðkCnkar f«gk % [20]

(1) egkuxj ikf«dsps vf/kdkj vkf.k dk;Z Li"V djk-

(2) xzkeh.k vkf.k ðkgjh LFkkfud LoðkklukP;k leL;kaps ewY;ekiu djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4201]-378

T.Y. B.A. EXAMINATION, 2012

PUBLIC ADMINISTRATION

Spl-3 : Development Administration

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) State the scope of Development Administration.

(2) State the problems of Education Administration.

(3) Explain the concept of social welfare.

(4) Explain the functions of planning commission.

2. Write short notes in 100 words each (any four) : [20]

(1) Utility of Primary Health Centre

(2) Nature of Development Administration

(3) Importance of Land Reform

(4) Functions of Pressure Group

(5) Development Policy in Co-operation

(6) The concept of Globalization.
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3. Answer the following questions in 250 words each (any three) : [30]

(1) Explain the concept and objectives of Development

Administration.

(2) Examine the role of voluntary organizations in Development

Administration.

(3) Discuss the functions of Bureaucracy in Development

Administration.

(4) Explain the role of Social Development Administration.

(5) Explain the nature of International Agencies associated with

the development.

4. Answer any one question in 500 words : [20]

(1) Explain the features of development administration.

(2) Explain the machinery of development planning in India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h«iSdh izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) fodkl izðkklukph O;kIrh lkaxk-

(2) fðk{k.k izðkklukP;k leL;k lkaxk-

(3) lekt dY;k.kkph ladYiuk Li"V djk-

(4) fu;kstu vk;ksxkps dk;Z Li"V djk-



[4201]-378 3 P.T.O.

2- izR;sdh 100 ðkCnkar Vhik f«gk (dks.krsgh pkj) % [20]

(1) izkFkfed vkjksX; dsaÊkph mi;qDr

(2) fodkl izðkklukps Lo:i

(3) tehu lw/kkj.ksps egRo

(4) ncko xVkps dk;Z

(5) lgdkj {ks=krh« fodkl /kksj.k

(6) tkxfrdhdj.kkph ladYiuk-

3- [kk«h« iz'ukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.kR;kgh rhu) % [30]

(1) fodkl izðkklukph ladYiuk vkf.k mfn"VÓs Li"V djk-

(2) fodkl izðkklukrh« Lo;alsoh laLFkkP;k Hkwfedsps ifj{k.k djk-

(3) fodkl izðkklukr uksdjðkkghP;k dk;kZph ppkZ djk-

(4) lkekftd fodkl izðkklukph Hkwfedk Li"V djk-

(5) fodklkðkh lacaf/kr vkarjjk"V™h; la?kVukps Lo:i Li"V djk-

4- [kk«h«iSdh ,dk izðukps mŸkj 500 ðkCnkar fygk % [20]

(1) fodkl izðkklukph oSfðk"VÓs Li"V djk-

(2) Hkkjrh; fodklkps fu;kstu dj.kkjh ;a=.kk Li"V djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4201]-379

T.Y. B.A. EXAMINATION, 2012

PUBLIC ADMINISTRATION

(Spl-4 : Comparative Public Administration)

(India, U.K. and U.S.A.)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each ( any two) : [10]

(1) Explain the nature of Comparative Public Administration.

(2) State the meaning of Administrative Law.

(3) Write the functions of Administrative Tribunals.

(4) Explain the objective of Training.

2. Write short notes in 100 words each (any four) : [20]

(1) The problems of corruptions in India

(2) Methods of Recruitment

(3) Central Vigilance Commission

(4) Right to strike

(5) Scope of Administrative Law

(6) Traditional approaches to the Study of Comparative Public

Administration.
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3. Answer the following questions in 250 words each (any three) : [30]

(1) Explain the behavioural approaches to the study of Comparative

Public Administration.

(2) Describe the administrative reforms in India.

(3) Explain the types of training in U.K. and U.S.A.

(4) Discuss the employer-employee relations.

(5) Write a note on Integrity in Administration.

4. Answer any one of the following questions in 500 words : [20]

(1) Explain Fred Rigg’s ‘Ecological Approach’.

(2) State the methods of Recruitment in India, U.K. and U.S.A.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.kR;kgh nksu)% [10]

(1) rq«ukRed «ksdizðkklukps Lo:i Li"V djk-

(2) izðkkldh; dk;|kpk vFkZ lkaxk-

(3) izðkkldh; U;k;kf/kdj.kkps dk;Z lkaxk-

(4) izfðk{k.kkpk mÌsðk Li"V djk-
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2- izR;sdh 100 ðkCnkar fVik f«gk (dks.kR;kgh pkj) % [20]

(1) Hkkjrkr Hkz"Vkpkjkph leL;k

(2) HkjrhP;k iºrh

(3) dsaÊh; lrdZrk vk;ksx

(4) laikpk vf/kdkj

(5) izðkkldh; dk;|kph O;kIrh

(6) rq«ukRed «ksdizðkklukpk ijaijkxr n`f"Vdksu-

3- [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.kR;kgh rhu) % [30]

(1) rq«ukRed «ksdizðkklukpk vH;klkpk orZuoknh n`f"Vdksu Li"V djk-

(2) Hkkjrkrh« izðkkldh; lq/kkj.kkaph ppkZ djk-

(3) bX«aM vkf.k vesfjdsrh« izfðk{k.kkps izdkj lkaxk-

(4) ek«d&lsod laca/kkoj ppkZ djk-

(5) izðkklukrh« ,dkRersoj fVi f«gk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) ›sM fjXtpk ^okrkoj.kkRed n`f"Vdks.k* Li"V djk-

(2) Hkkjr] bX«aM vkf.k vesfjdsrh« HkjrhP;k iºrh Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4201]-382

T.Y. B.A. EXAMINATION, 2012

PHYSICAL EDUCATION (G–III)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 60

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following in 1 or 2 sentences each (any five) : [10]

(1) How many sitting boxes are there in Kho-Kho in between two

poles ?

(2) Radius and Diameter of the shot-put circle.

(3) Full form of NSNIS.

(4) Full form of SAI.

(5) Height of the Basketball ring from the ground.

(6) Handball team consists of how many players ?

(7) After how many years Olympic games are taken ?

2. Answer the following in 5 or 6 sentences each (any two) : [10]

(1) Draw a neat diagram of volleyball ground with measurements.

(2) Who started the Modern Olympic games and when ? Explain

the moto of Olympic games.

(3) Explain the importance of Dribbling in Basketball.

P.T.O.
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3. Answer the following in 20 to 25 sentences each (any two) : [20]

(1) Draw a neat diagram of Kabaddi ground with measurements

and explain its importance.

(2) What are the suggestions of Conzooru Committee about Physical

Education ?

(3) Explain the importance of Talim, Akhadas and Clubs in Physical

Education.

4. Answer the following in detail (any one) : [20]

(1) Describe the importance of SAI in Physical Education.

(2) Explain the importance of Physical Education in British

period.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 60

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vko';d R;k fBdk.kh lqcd vkœR;k dk<k-

1. [kkyhyiSdh dks.kR;kgh ikp iz'ukaph 1 fdaok 2 okD;kr mŸkjs fygk % [10]

(1) [kks&[kks ;k [kš ke/;s nks [kqVkP;k e/;s [kš kMw cl.;klkBh fdrh pkSdksu vk[kysys

vlrkr \

(2) xkš kQsd ;k ÿhMk izdkjkr T;k xksykrwu xkš k Qsdko;kpk vlrks] R;k xkš kph

f=T;k o O;kl lkaxk-

(3) ‘NSNIS’ pk yk°xQkWeZ lkaxk-
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(4) ‘SAI’ pk yk°x QkWeZ lkxk-

(5) ckLdsVckWy fjaxph tehuhiklwuph maph fdrh ehVj vlrs \

(6) gW.MckWy la?kkr ,dw.k fdrh [ksˇkMw vlrkr \

(7) vkWfyfEidP;k Li/kkZ gÓk fdrh o"kk±uh ?ksrY;k tkrkr \

2. [kkyhyiSdh dks.kR;kgh nksu iz'ukaph 5 fdaok 6 okD;kr mŸkjs fygk % [10]

(1) OgkWyhckWy ;k [ksˇkP;k eSnkukph vkœrh ekstekiklg dk<k-

(2) vk/kqfud vkWfyfEidph lq#okr d/kh o dks.kh dsyh gs Li"V d:u vkËkqfud

vkWfyfEidps cks/kokD; lkaxk-

(3) ckLdsVckWy ;k [ksˇkr M™hCyhaxps egRo lkaxk-

3. [kkyhyiSdh dks.kR;kgh nksu iz'ukaph 20 rs 25 okD;kr mŸkjs fygk % [20]

(1) dcÏh [ksˇkP;k eSnkukph vkœrh dk<wu R;kfo"k;h ekfgrh |k-

(2) dqa>: lehrhP;k vgokykrhy 'kk- f'k- fo"k;h f'kQkj'kh lkaxk-

(3) 'kkjhfjd f'k{k.kkr rkyhe] vk[kkMs o eaMˇs ;kaps dk;Z fo'kn djk-

4. [kkyhyiSdh dks.kR;kgh ,dk iz'ukpk lfoLrj mŸkjs fygk % [20]

(1) Hkkjrh; ÿhMk izk/khdj.kkps [ksˇkrhy ;ksxnku lkaxk-

(2) fczVh'k dkˇkrhy 'kkjhfjd f'k{k.kkps egRo lkaxk-



Total No. of Questions—3] [Total No. of Printed Pages—2

Seat

No. [4201]-383

T.Y. B.A. EXAMINATION, 2012

COMPUTER APPLICATION

Paper V (Vocational)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

1. Answer the following questions (any three) : [15]

(a) What is E-commerce ? Explain advantages of E-commerce.

(b) Differentiate between Joint Application Model and Water Fall

Model.

(c) What is networking ? Explain types of topologies used in

networking.

(d) Explain the uses of Internet in modern world.

2. Write Html program for the following (any two) : [10]

(a) DATA

No Name City

1 Deepa Pune

(b)       Courses

(i) B.Com.

(ii) B.A.

(iii) B.Sc.

(c) Write a program to insert video in webpage.

P.T.O.
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3. Write short notes on (any five) : [15]

(a) Protocol and types of protocol

(b) Search Engine

(c) Web browser

(d) Electronic Data Interchange

(e) E-payment

(f) Wireless communication.



Total No. of Questions—5] [Total No. of Printed Pages—4+1

Seat

No. [4201]-384

T.Y. B.A. EXAMINATION, 2012

FUNCTIONAL ENGLISH

(Vocational Stream)

Paper V : Introduction to Print Media and Writing for Mass

Media and Key Competency Modules

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. (A) Prepare a news item of about 150 words based on the points

given below : [15]

The Indian Express :

—Press Trust of India.

—Shrinagar : (20-2-2012)

—Avalanch in North Kashmir’s Kupwara district, close to the

line of control at 7.20 a.m.

—5 armymen and 2 Border Security Force personnel swept

away.

—bodies of 5 BSF personnel retrieved

—5 army personnel still missing

P.T.O.
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—Special army teams for rescue operations

—More than 6 feet of snow in the area

—The number of deaths increased over past few years

—Army getting more snow fighting equipments and avalanch

detectors and snow fighting equipments.

Or

(B) Read the ad and identify the type of ad. Comment on the

general structure of the ad and write another headline for

the same ad. [15]
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2. (A) Write a short note in about 60 words on any one of the

following : [5]

(1) Importance of print media

(2) Making radio talks relevant and interesting for public

(3) Significance of elements of readability and interest in

writing articles and features.

(B) Attempt any one of the following topics to develop into a radio

talk : [5]

(1) Importance of voting

(2) Yoga and Health.

3. (A) Attempt any two of the following in about 60 words each : [10]

(1) The importance of language in technical writing.

(2) Strategies used by technical writers.

(3) Basics of technical writing.

(B) As a technical writer prepare an instructional manual for the

following product. Give five instructions in a logical order for

the prospective customers. (any one) : [5]

(1) How to use television

(2) How to ride a two-wheeler.
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4. (A) Give Marathi or Hindi words for the English terms given below

(any ten) : [10]

(1) Sponsorship

(2) Reminder

(3) Secretary

(4) Documentary

(5) Agenda

(6) Budget

(7) Survey

(8) Magazine

(9) Booklet

(10) Index

(11) Administration

(12) Poster

(B) Translate the following passage into Marathi or Hindi : [10]

In the present days there are many strikes which are quite

illegal in British Industry. Workers launch strikes against the

advice of their trade union leaders; they do it without three

weeks’ notice, and often on grounds which are political and

have no connection with their working conditions. Recent dockers’

strikes in London have been organised by Communist agents

for political purposes. Such strikes, of course, are illegal.
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Or

Translate the following passage into English : [10]

ek.kls gh lektfiz; izk.kh vlY;keq š vkf.k R;kauk fe=kaph vkoM vlY;kus

ðkk šrY;k vkš [kh Qkj tiY;k tkrkr- vki«s ðkkˇklkscrh vkiY;k«k vk;q";Hkj

fiz; fu foðoklw okVr vlrkr- ,[kk|k ðkk šP;k ekth fo|kF;k±P;k Lusglaes«ukl

mifLFkr jkg.;klkj[kk vkuan ulrks- tsEl vkiY;k QVckW« la?kkr [kš Y;kps

vkf.k fc« fÿdsV la?kkpk dIrku vlY;kps vkiY;k«k vkBors- R;kus «WfU alxfo#º

ðkrd >ˇdko«s rks rhl o"kk±iwohZpk fnol fdrh vfoLej.kh;! rks jksegk"kZd

lkeuk vkf.k gkrkr«h cWV mapko.kkÚ;k fc««k [kka|koj ?ks≈u vki.k eSnkukckgsj

dls us«s ;kaP;k vkBo.khus vktgh var%dj.k mpacˇwu ;srs-

5. (A) Write short notes in about 100 words each on the following

(any two) : [10]

(i) Relevance of songs in films

(ii) Cinematic settings

(iii) The difference between story and plot in a film.

(B) Write a review in about 200 words of a horror film or a

romantic film. [10]



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—2

Seat

No. [4201]-385

T.Y. B.A. EXAMINATION, 2012

TRAVEL AND TOURISM MANAGEMENT

(Vocational Stream)

Paper V : Emerging Concepts of Tourism and

Tourism Development

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencil is allowed.

1. Explain any two in brief (Around 50 words each) : [10]

(i) Ecotourism

(ii) Negative impacts of tourism

(iii) Pull factors

(iv) Incentives.

2. Write short notes on any four (Around 100 words each) : [20]

(i) National tourism policy, 2002
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(ii) Recent trends in domestic tourism

(iii) Safety of tourists

(iv) One destination of Rural Tourism

(v) Principles of sustainable tourism

(vi) Importance of exhibitions in tourism industry.

3. Answer any three (Around 200-250 words each) : [30]

(i) What is the importance of city tours by the study point of

view ?

(ii) Write in detail one destination in India promoting MICE.

(iii) Explain carrying capacity in detail with an example.

(iv) Highlight the type of tourism in Mauritius.

(v) Describe the personality of an employee in a tourism industry.

4. Answer in detail any one (Around 500 words each) : [20]

(i) What is the reason behind the recent growth of religious

tourism ? Why ?

(ii) Describe destination life cycle taking into consideration one

tourist spot.



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4201]-386

r`rh; o"kZ ch-,-] okf"kZd ijh{kk] 2012
iz;kstuewyd fganh % oksds'kuy

(Functional Hindi : Vocational)

iz'ui= 5 % lSn~/kkafrd
(vuqokn] fVIi.k&izk:i.k] lafgrk ,oa Qhpj ys[ku] vkosnu]

lk{kkRdkj] lax.kd rFkk ewy{kerk ekinaM)
(2008 PATTERN)

le; % 3 ?kaVs iw.kk±d % 80

lwpuk,° :—(i) lHkh iz'u vfuok;Z gSa A

(ii) iz'u ds nkfguh vksj fy[ks x, vad iz'u ds iw.kk±d gSa A

(foHkkx ^v*)

1- (v) fganh esa vuqokn dhft, % [8]

Joining Report after the Expiry of Leave

To

The Director General of Posts and Telegraphs,

  (Administration Section),

New Delhi.

Sir,

I beg to report myself for duty today the .......... Forenoon/

Afternoon on the expiry of my leave for ........... days from

............ to ............. on M.C./without M.C.

A fitness certificate in the prescribed form is enclosed.

Signature

Name (in block capitals)

Dated the ............ Designation .......... Section ............



[4201]-386 2

(vk) ^iszl foKfIr* dk izk:i rS;kj dhft, A [8]

2- fdUgha pkj ij fVIif.k;k° fyf[k, % [16]

(d) Loifjp;i=&ys[ku esa lko/kkuh

([k) Loifjp;i= (ck;ksMkVk) dk egRo

(x) fVIi.k dk Lo:i

(?k) fVIi.k ds izdkj

(p) /kkjk 3 (3) ds nLrkost

(N) izk:i dh vko';drk

(t) vkosnu i= A

(foHkkx ^c*)

3- (v) fQ'ksfn;k ,dkadh Li/kkZ ds iqjLdkj forj.k lekjksg dk lw=lapkyu vki dj

jgs gSa A bl lw=lapkyu dh lafgrk rS;kj dhft, A [8]

(vk) fdlh mn~;kstd ds lk{kkRdkj dk 'kCnkadu dhft, A [8]

4- fdUgh ik°p ij fVIif.k;k° fyf[k, % [20]

(V) eqÊ.k {ks= esa ÿkafr

(B) lax.kdh; v{kj la;kstu

(M) Qhpj ys[ku ds vfuok;Z vax

(<) lk{kkRdkj ds rRo

(r) lk{kkRdkj ds izdkj
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(Fk) fuosnu

(n) fuosnd dh ftEesnkjh

(/k) jsfM;ks rFkk nwjn'kZu ds lafgrk&ys[ku esa varj A

5- (v) fuEufyf[kr esa ls fdUgha pkj 'kCnk s a ds fy, fganh ikfjHkkf"kd 'kCn

fyf[k, % [4]

(i) Central Public Work Department

(ii) Alderman

(iii) Adverse

(iv) Leave not due

(v) Addressee.

(vk) fuEufyf[kr esa ls fdUgha pkj 'kCnksa ds fy, vaxzsth ikfjHkkf"kd 'kCn

fyf[k, % [4]

(i) Hkkjrh; Hkw&foKku losZ{k.k

(ii) nkok vf/kdkjh

(iii) ca/k&i=

(iv) fuo`fŸkiwoZ NqV~Vh

(v) vk'oklu A

(b) fuEufyf[kr ds fganh i;kZ; fyf[k, % [4]

(i) In anticipation of your sanction and approval.

(ii) Please give top priority to this work.

(iii) Seen, file with previous papers.

(iv) Vide note on the order sheet.
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